- DRAULICFREN

Haldex
KNOB; FOR PARK VALVE; SQUARE; C/W UK LABEL ("PULL TO PARK Haldex 0020526090

Fabricante: Haldex
Referencia: 0020526090

Descripcion: KNOB; FOR PARK VALVE; SQUARE; C/W UK LABEL ("PULL TO
PARK

KNOB; FOR SHUNT VALVE; ROUND; C/W UK LABEL ("PUSH TO SHUN Haldex 0020527090

Fabricante: Haldex
Referencia: 0020527090

Descripcion: KNOB; FOR SHUNT VALVE; ROUND; C/W UK LABEL ("PUSH
TO SHUN

KNOB; FOR LIFT AXLE VALVE; BLACK Haldex 0020530090

Fabricante: Haldex
Referencia: 0020530090
Descripcion: KNOB; FOR LIFT AXLE VALVE; BLACK

VALVE POPPET; FOR SERVICE BRAKE VALVE (320003103/ ..603/ ..1 Haldex 003005209

Fabricante: Haldex
Referencia: 003005209

Descripcion: VALVE POPPET; FOR SERVICE BRAKE VALVE (320003103/
..603/ .1




- DRAULICFREN

Haldex
CABLE KIT; FOR LOAD SENSING VALVE (MECHANICAL); C/W CABLE CL Haldex 003038009

Fabricante: Haldex
Referencia: 003038009

Descripcion: CABLE KIT; FOR LOAD SENSING VALVE (MECHANICAL); C/W
CABLE CL

CABLE KIT; FOR LOAD SENSING VALVE (MECHANICAL); C/W CABLE CL Haldex 003038609

Fabricante: Haldex
Referencia: 003038609

Descripcion: CABLE KIT; FOR LOAD SENSING VALVE (MECHANICAL); C/W
CABLE CL

SPRING; FOR LOAD SENSING VALVE (MECHANICAL) Haldex 003480209

Fabricante: Haldex
Referencia: 003480209
Descripcion: SPRING; FOR LOAD SENSING VALVE (MECHANICAL)

PURGE VALVE; FOR HYDRAIR® CLUTCH SERVO (321027001) Haldex 003485509

Fabricante: Haldex
Referencia: 003485509
Descripcion: PURGE VALVE; FOR HYDRAIR® CLUTCH SERVO (321027001)




- DRAULICFREN

Haldex
VALVE POPPET; FOR SERVICE BRAKE VALVE Haldex 003508909

Fabricante: Haldex
Referencia: 003508909
Descripcion: VALVE POPPET; FOR SERVICE BRAKE VALVE

CABLE CLAMP; FOR LOAD SENSING VALVE (MECHANICAL) Haldex 003535309

Fabricante: Haldex

Referencia: 003535309
@ Descripcién: CABLE CLAMP; FOR LOAD SENSING VALVE (MECHANICAL)

YOKE; FORGED; M16X1.5; THREAD Haldex 003567809

Fabricante: Haldex

Referencia: 003567809
@ Descripcion: YOKE; FORGED; M16X1.5; THREAD

YOKE; FORGED Haldex 003568009

Fabricante: Haldex

Referencia: 003568009
w Descripciéon: YOKE; FORGED




- DRAULICFREN

Haldex
LINKAGE; FOR LEVELLING VALVE; FOR VALVE CONNECTION Haldex 003575709

Fabricante: Haldex
Referencia: 003575709
Descripcion: LINKAGE; FOR LEVELLING VALVE; FOR VALVE CONNECTION

CABLE CONNECTOR; FOR ILAS® Haldex 003614419

Fabricante: Haldex

Referencia: 003614419
@ Descripcién: CABLE CONNECTOR; FOR ILAS®

CONNECTION KIT; FOR ILAS® Haldex 003614509

Fabricante: Haldex

Referencia: 003614509
@ Descripcién: CONNECTION KIT; FOR ILAS®

YOKE; 214MM; M16X1.5; STANDARD THROAT; PRESSED Haldex 003616409

Fabricante: Haldex

Referencia: 003616409
@ Descripcion: YOKE; g14MM; M16X1.5; STANDARD THROAT; PRESSED




- DRAULICFREN

Haldex
SOLENOID MOUNTING KIT; ILAS-E Haldex 003624319

Fabricante: Haldex
Referencia: 003624319
Descripcién: SOLENOID MOUNTING KIT; ILAS-E

CABLE KIT; FOR LOAD SENSING VALVE (MECHANICAL); C/W CABLE CL Haldex 003634009

Fabricante: Haldex
Referencia: 003634009

Descripcion: CABLE KIT; FOR LOAD SENSING VALVE (MECHANICAL); C/W
CABLE CL

EXHAUST FILTER; FOR COLAS® VALVE Haldex 003636009

Fabricante: Haldex
Referencia: 003636009
Descripcion: EXHAUST FILTER; FOR COLAS® VALVE

CLICK-FIT CONNECTOR KIT; FOR ECU GLAND BOX; (ABS MODAL); 2S/ Haldex 003787309

Fabricante: Haldex
Referencia: 003787309

Descripcion: CLICK-FIT CONNECTOR KIT; FOR ECU GLAND BOX; (ABS
MODAL); 2S/




- DRAULICFREN

Haldex
CLICK-FIT CONNECTOR KIT; FOR ECU GLAND BOX; (ABS MODAL); FOR Haldex 003791909

Fabricante: Haldex
Referencia: 003791909

Descripcion: CLICK-FIT CONNECTOR KIT; FOR ECU GLAND BOX; (ABS
MODAL); FOR

CLICK-FIT CONNECTOR KIT; FOR ECU GLAND BOX; (ABS MODAL); FOR Haldex 003792009

Fabricante: Haldex
Referencia: 003792009

Descripcion: CLICK-FIT CONNECTOR KIT; FOR ECU GLAND BOX; (ABS
MODAL); FOR

FRAMATOME CONNECTOR KIT; FOR ISO 7638; MODULAR Haldex 003852809

Fabricante: Haldex
Referencia: 003852809
Descripcién: FRAMATOME CONNECTOR KIT; FOR I1SO 7638; MODULAR

FRAMATOME CONNECTOR KIT; FOR ISO 7638; MODULAR Haldex 003852909

Fabricante: Haldex
Referencia: 003852909
Descripcion: FRAMATOME CONNECTOR KIT; FOR 1SO 7638; MODULAR




- DRAULICFREN

CONNECTOR KIT; 24N Haldex 003853209

Haldex

Fabricante: Haldex
Referencia: 003853209
Descripcion: CONNECTOR KIT; 24N

DIAGNOSTIC CABLE; 1.3; MODAL Haldex 003863709

Fabricante: Haldex

Referencia: 003863709
@ Descripcién: DIAGNOSTIC CABLE; 1.3; MODAL

CABLE; LENGTH (M): 6.5 Haldex 003898709

Fabricante: Haldex

Referencia: 003898709
@ Descripciéon: CABLE; LENGTH (M): 6.5

CABLE; FOR TRACTION INTERFACE; LENGTH (M): 2 Haldex 003926009

Fabricante: Haldex

Referencia: 003926009
@ Descripcion: CABLE; FOR TRACTION INTERFACE; LENGTH (M): 2




- DRAULICFREN

Haldex
JUNCTION BOX; SOFT DOCKING Haldex 003928409

Fabricante: Haldex
Referencia: 003928409
Descripcién: JUNCTION BOX; SOFT DOCKING

JUNCTION BOX; SOFT DOCKING Haldex 003928419

Fabricante: Haldex

Referencia: 003928419
@ Descripcién: JUNCTION BOX; SOFT DOCKING

LEFT LIGHT; SOFT DOCKING; CABLE LENGTH (M): 2.1 Haldex 003928509

Fabricante: Haldex

Referencia: 003928509
@ Descripcion: LEFT LIGHT; SOFT DOCKING; CABLE LENGTH (M): 2.1

RIGHT LIGHT; SOFT DOCKING; CABLE LENGTH (M): 2.1 Haldex 003928609

Fabricante: Haldex

Referencia: 003928609
@ Descripcion: RIGHT LIGHT; SOFT DOCKING; CABLE LENGTH (M): 2.1




- DRAULICFREN

Haldex
SENSOR; SOFT DOCKING; CABLE LENGTH (M): 1.5 Haldex 003928709

Fabricante: Haldex
Referencia: 003928709
Descripcion: SENSOR; SOFT DOCKING; CABLE LENGTH (M): 1.5

BEEPER; SOFT DOCKING; CABLE LENGTH (M): 4.0 Haldex 003928809

Fabricante: Haldex

Referencia: 003928809
@ Descripcién: BEEPER; SOFT DOCKING; CABLE LENGTH (M): 4.0

BATTERY; FOR INFO CENTRE 2; STANDARD AA SIZE Haldex 003933509

Fabricante: Haldex

Referencia: 003933509
w Descripcion: BATTERY; FOR INFO CENTRE 2; STANDARD AA SIZE

COUVERCLE IC2 Haldex 003933510

Fabricante: Haldex

Referencia: 003933510
w Descripcién: COUVERCLE IC2




- DRAULICFREN

Haldex
CABLE; FOR WHEEL UNIT CENTER Haldex 003951709

Fabricante: Haldex
Referencia: 003951709
Descripcion: CABLE; FOR WHEEL UNIT CENTER

(MOQ 10); PLUG Haldex 003958009

Fabricante: Haldex

Referencia: 003958009
@ Descripcion: (MOQ 10); PLUG

CABLE; FOR CAN; LENGTH (M): 1 Haldex 003987309

Fabricante: Haldex

Referencia: 003987309
w Descripcion: CABLE; FOR CAN; LENGTH (M): 1

CABLE; FOR CAN; LENGTH (M): 6.5 Haldex 003987409

Fabricante: Haldex

Referencia: 003987409
@ Descripcion: CABLE; FOR CAN; LENGTH (M): 6.5




- DRAULICFREN

Haldex
CABLE; FOR DIN; LENGTH (M): 5.5 Haldex 003987609

Fabricante: Haldex
Referencia: 003987609
Descripcion: CABLE; FOR DIN; LENGTH (M): 5.5

CABLE; FOR DIN; LENGTH (M): 2.15 Haldex 003987709

Fabricante: Haldex
Referencia: 003987709
Descripcién: CABLE; FOR DIN; LENGTH (M): 2.15

CABLE; FOR DIN; LENGTH (M): 4.15 Haldex 003987809

Fabricante: Haldex
Referencia: 003987809
Descripciéon: CABLE; FOR DIN; LENGTH (M): 4.15

CLEVIS PIN (IS A PACK OF 10X 0120540090); PARA HORQUILLA; g1 Haldex 012054009010

Fabricante: Haldex
Referencia: 012054009010

Descripcion: CLEVIS PIN (IS A PACK OF 10X 0120540090); PARA
HORQUILLA; g1




- DRAULICFREN

Haldex
BASE CASING; FOR LOAD SENSING VALVE (351012001/ 601002.../ 6 Haldex 014062309

Fabricante: Haldex
Referencia: 014062309

Descripcion: BASE CASING; FOR LOAD SENSING VALVE (351012001/
601002.../ 6

BASE CASING; FOR LOAD SENSING/ REV COMBINED (351014001/ 6020 Haldex 014101509

Fabricante: Haldex
Referencia: 014101509

Descripcion: BASE CASING; FOR LOAD SENSING/ REV COMBINED
(351014001/ 6020

SQUARE PIECE; FOR LEVELLING VALVE Haldex 016357909

Fabricante: Haldex
Referencia: 016357909
Descripcién: SQUARE PIECE; FOR LEVELLING VALVE

EXCITER SOLID; NO. OF TEETH: 100; INNER @ (MM): 183 Haldex 016705609

Fabricante: Haldex
Referencia: 016705609
Descripcion: EXCITER SOLID; NO. OF TEETH: 100; INNER @ (MM): 183




- DRAULICFREN

Haldex
EXCITER SOLID; NO. OF TEETH: 80; INNER @ (MM): 183 Haldex 016705709

Fabricante: Haldex
Referencia: 016705709
Descripcion: EXCITER SOLID; NO. OF TEETH: 80; INNER @ (MM): 183

EXCITER SOLID; NO. OF TEETH: 80; INNER @ (MM): 162; APPLICAT Haldex 018500409

Fabricante: Haldex
Referencia: 018500409

Descripcion: EXCITER SOLID; NO. OF TEETH: 80; INNER @ (MM): 162;
APPLICAT

(MOQ 10); COMPRESSION SPRING Haldex 021006509

Fabricante: Haldex
Referencia: 021006509
Descripcion: (MOQ 10); COMPRESSION SPRING

(MOQ 10); COMPRESSION SPRING Haldex 021040909

Fabricante: Haldex
Referencia: 021040909
Descripcion: (MOQ 10); COMPRESSION SPRING




- DRAULICFREN

Haldex
SPRING; FOR RAISE/LOWER VALVE Haldex 021048309

Fabricante: Haldex
Referencia: 021048309
Descripciéon: SPRING; FOR RAISE/LOWER VALVE

(MOQ 10); COMPRESSION SPRING Haldex 021051809

Fabricante: Haldex
Referencia: 021051809
Descripcion: (MOQ 10); COMPRESSION SPRING

COMPRESSION SPRING; FOR AIR OVER HYDRAULIC SERVO (343001001) Haldex 022007609

Fabricante: Haldex
Referencia: 022007609

Descripcién: COMPRESSION SPRING; FOR AIR OVER HYDRAULIC SERVO
(343001001)

BEND PROTECTION SPRING; FOR AIR HOSES DIRECTLY CONNECTED TO Haldex 022018309

Fabricante: Haldex
Referencia: 022018309

Descripcion: BEND PROTECTION SPRING; FOR AIR HOSES DIRECTLY
CONNECTED TO




- DRAULICFREN

Haldex
COMPRESSION SPRING; FOR BRAKE CHAMBER Haldex 022020609

Fabricante: Haldex
Referencia: 022020609
Descripcién: COMPRESSION SPRING; FOR BRAKE CHAMBER

COMPRESSION SPRING; FOR BRAKE CHAMBER (TYPE 16/20/24/30) Haldex 022020909

Fabricante: Haldex
Referencia: 022020909

Descripcion: COMPRESSION SPRING; FOR BRAKE CHAMBER (TYPE
16/20/24/30)

SEAL (IS A PACK OF 10X 0220501090); PARA CABEZA ACOPLAM. TIP Haldex 022050109010

Fabricante: Haldex
Referencia: 022050109010

Descripcion: SEAL (IS A PACK OF 10X 0220501090); PARA CABEZA
ACOPLAM. TIP

GASKET,; FOR PISTON CYLINDER Haldex 023000109

Fabricante: Haldex
Referencia: 023000109
Descripcion: GASKET; FOR PISTON CYLINDER




- DRAULICFREN

Haldex
GASKET; FOR COMPRESSOR (301153...) Haldex 023011409

Fabricante: Haldex
Referencia: 023011409
Descripcién: GASKET; FOR COMPRESSOR (301153...)

GASKET,; FOR COMPRESSOR (301153...) Haldex 023012009

Fabricante: Haldex

Referencia: 023012009
@ Descripcién: GASKET; FOR COMPRESSOR (301153...)

GASKET; FOR COMPRESSOR Haldex 023015809

Fabricante: Haldex

Referencia: 023015809
@ Descripciéon: GASKET; FOR COMPRESSOR

WASHER; WATERTIGHT; NUT SEAL Haldex 024011609

Fabricante: Haldex

Referencia: 024011609
@ Descripcion: WASHER; WATERTIGHT; NUT SEAL




- DRAULICFREN

Haldex
(MOQ 10); O-RING; FOR TRAILER CONTROL VALVE (329020201-32902 Haldex 024018709

Fabricante: Haldex
Referencia: 024018709

Descripcion: (MOQ 10); O-RING; FOR TRAILER CONTROL VALVE
(329020201-32902

O-RING; FOR COMPRESSOR Haldex 024020909

Fabricante: Haldex
Referencia: 024020909
Descripcién: O-RING; FOR COMPRESSOR

(MOQ 10); O-RING Haldex 024022609

Fabricante: Haldex
Referencia: 024022609
Descripcion: (MOQ 10); O-RING

WASHER; FOR AIR OVER HYDRAULIC SERVO (343021...); WATERTIGHT Haldex 024026609

Fabricante: Haldex
Referencia: 024026609

Descripcion: WASHER; FOR AIR OVER HYDRAULIC SERVO (343021...);
WATERTIGHT




- DRAULICFREN

Haldex
O-RING (IS A PACK OF 10X 024027609); PARA ECAM Haldex 02402760910

Fabricante: Haldex
Referencia: 02402760910
Descripcion: O-RING (IS A PACK OF 10X 024027609); PARA ECAM

O-RING; FOR TRAILER CONTROL VALVE (329020201-329020421) Haldex 024030109

Fabricante: Haldex
Referencia: 024030109

Descripcion: O-RING; FOR TRAILER CONTROL VALVE (329020201-
329020421)

(MOQ 10); O-RING; FOR TRAILER CONTROL VALVE Haldex 024032319

Fabricante: Haldex
Referencia: 024032319
Descripcion: (MOQ 10); O-RING; FOR TRAILER CONTROL VALVE

GROOVED RING; FOR TRAILER CONTROL VALVE (329020201-329020421 Haldex 024047409

Fabricante: Haldex
Referencia: 024047409

Descripcion: GROOVED RING; FOR TRAILER CONTROL VALVE
(329020201-329020421




- DRAULICFREN

Haldex
(MOQ 10); O-RING; FOR ILAS® Haldex 024055009

Fabricante: Haldex
Referencia: 024055009
Descripcién: (MOQ 10); O-RING; FOR ILAS®

O-RING; FOR ELECTRO-MAGNETIC RAISE/LOWER VALVE Haldex 024055109

Fabricante: Haldex
Referencia: 024055109
Descripcion: O-RING; FOR ELECTRO-MAGNETIC RAISE/LOWER VALVE

O-RING Haldex 024055209

Fabricante: Haldex
Referencia: 024055209
Descripcion: O-RING

(MOQ 10); O-RING; FOR ECU CLICK-FIT BLANKING PLUG; (ABS MODA Haldex 024500309

Fabricante: Haldex
Referencia: 024500309

Descripcion: (MOQ 10); O-RING; FOR ECU CLICK-FIT BLANKING PLUG;
(ABS MODA




- DRAULICFREN

Haldex
WASHER (IS A PACK OF 10X 025002109); PARA RELAY ELMERGENCY V Haldex 02500210910

Fabricante: Haldex
Referencia: 02500210910

Descripcion: WASHER (IS A PACK OF 10X 025002109); PARA RELAY
ELMERGENCY V

DUST COVER Haldex 025009109

Fabricante: Haldex
Referencia: 025009109
Descripcién: DUST COVER

GASKET RING; FOR PRESSURE LIMITING VALVE Haldex 025012209

Fabricante: Haldex
Referencia: 025012209
Descripcion: GASKET RING; FOR PRESSURE LIMITING VALVE

BOOT Haldex 025015519

Fabricante: Haldex
Referencia: 025015519
Descripcién: BOOT




- DRAULICFREN

Haldex
BOOT,; FOR SPRING BRAKE ACTUATOR, PULL TYPE (344008.../ 34401 Haldex 025015629

Fabricante: Haldex
Referencia: 025015629

Descripcion: BOOT; FOR SPRING BRAKE ACTUATOR, PULL TYPE
(344008.../ 34401

BOOT Haldex 025015719

Fabricante: Haldex
Referencia: 025015719
Descripcion: BOOT

PROTECTION COVER Haldex 025033409

Fabricante: Haldex
Referencia: 025033409
Descripcién: PROTECTION COVER

(MOQ 10); FLAP EXHAUST SEAL; FOR ILAS® Il Haldex 025033709

Fabricante: Haldex
Referencia: 025033709
Descripcion: (MOQ 10); FLAP EXHAUST SEAL; FOR ILAS® Il




- DRAULICFREN

Haldex
BOOT Haldex 025034009

Fabricante: Haldex
Referencia: 025034009
Descripcién: BOOT

DUST CAP; FOR PRESSURE SWITCH Haldex 025034109

Fabricante: Haldex
Referencia: 025034109
Descripcién: DUST CAP; FOR PRESSURE SWITCH

(MOQ 10); KNOTTED CUP SEAL; FOR TRAILER CONTROL VALVE (32902 Haldex 025034409

Fabricante: Haldex
Referencia: 025034409

Descripcion: (MOQ 10); KNOTTED CUP SEAL; FOR TRAILER CONTROL
VALVE (32902

(MOQ 10); WASHER; FOR TRAILER CONTROL VALVE (329020201-32902 Haldex 025034809

Fabricante: Haldex
Referencia: 025034809

Descripcion: (MOQ 10); WASHER; FOR TRAILER CONTROL VALVE
(329020201-32902




- DRAULICFREN

Haldex
DIAPHRAGM; TYPE 20; SERVICE; STANDARD STROKE Haldex 025038209

Fabricante: Haldex
Referencia: 025038209
Descripcion: DIAPHRAGM; TYPE 20; SERVICE; STANDARD STROKE

PLACA ESTANQUEI.; PARA DISTRIBUIDOR ROTATIVO; ESTANCO Haldex 025040509

Fabricante: Haldex
Referencia: 025040509

Descripcion: PLACA ESTANQUEIL.; PARA DISTRIBUIDOR ROTATIVO;
ESTANCO

DIAPHRAGM; TYPE 16; SERVICE; LONG STROKE Haldex 025040709

Fabricante: Haldex
Referencia: 025040709
Descripcion: DIAPHRAGM; TYPE 16; SERVICE; LONG STROKE

DIAPHRAGM; TYPE 20; SERVICE; LONG STROKE Haldex 025040809

Fabricante: Haldex
Referencia: 025040809
Descripcion: DIAPHRAGM; TYPE 20; SERVICE; LONG STROKE




- DRAULICFREN

Haldex
DIAPHRAGM; TYPE 24; SERVICE; LONG STROKE Haldex 025040909

Fabricante: Haldex
Referencia: 025040909
Descripciéon: DIAPHRAGM; TYPE 24; SERVICE; LONG STROKE

BOOT Haldex 025044719

Fabricante: Haldex
Referencia: 025044719
Descripcion: BOOT

DIAPHRAGM; TYPE 12; SERVICE; STANDARD STROKE Haldex 025045409

Fabricante: Haldex
Referencia: 025045409
Descripcion: DIAPHRAGM; TYPE 12; SERVICE; STANDARD STROKE

SEAL (IS A PACK OF 10X 025048209); PARA CABEZA ACOPLAM. TIPO Haldex 02504820910

Fabricante: Haldex
Referencia: 02504820910

Descripcion: SEAL (IS A PACK OF 10X 025048209); PARA CABEZA
ACOPLAM. TIPO




- DRAULICFREN

Haldex
RUBBER BOOT; FOR SHUNT VALVE (352018011+352019011/31/41) Haldex 025052309

Fabricante: Haldex
Referencia: 025052309

Descripcion: RUBBER BOOT; FOR SHUNT VALVE
(352018011+352019011/31/41)

BOOT Haldex 025052819

Fabricante: Haldex
Referencia: 025052819
Descripcion: BOOT

O-RING Haldex 025062209

Fabricante: Haldex
Referencia: 025062209
Descripcion: O-RING

CUP SEAL; FOR RELAY VALVE Haldex 026000709

Fabricante: Haldex
Referencia: 026000709
Descripcion: CUP SEAL; FOR RELAY VALVE




- DRAULICFREN

Haldex
CONE CUP; FOR RELAY VALVE Haldex 026004709

Fabricante: Haldex
Referencia: 026004709
Descripcién: CONE CUP; FOR RELAY VALVE

RESERVOIR; FOR ANTI-FREEZE INJECTOR; 0.25L Haldex 027001309

Fabricante: Haldex
Referencia: 027001309
Descripcién: RESERVOIR; FOR ANTI-FREEZE INJECTOR; 0.25L

KNOB; FOR RELEASE VALVE (352005.../ 352006.../ 352007...); R Haldex 027002409

Fabricante: Haldex

Referencia: 027002409

Descripcion: KNOB; FOR RELEASE VALVE (352005.../ 352006.../ 352007...);
R

VALVE PART; FOR RELAY VALVE (355018011) Haldex 027010209

Fabricante: Haldex
Referencia: 027010209
Descripcion: VALVE PART; FOR RELAY VALVE (355018011)




- DRAULICFREN

Haldex
KNOB; FOR COMBINED PARK+SHUNT+REV RELEASE VALVE (352044.../ Haldex 027022209

Fabricante: Haldex
Referencia: 027022209

Descripcion: KNOB; FOR COMBINED PARK+SHUNT+REV RELEASE VALVE
(352044.../

KNOB; FOR PARK VALVE; SQUARE; W/O LABEL Haldex 027047009

Fabricante: Haldex

Referencia: 027047009
@ Descripcion: KNOB; FOR PARK VALVE; SQUARE; W/O LABEL

KNOB; FOR SHUNT VALVE; ROUND; W/O LABEL Haldex 027047109

Fabricante: Haldex

Referencia: 027047109
@ Descripciéon: KNOB; FOR SHUNT VALVE; ROUND; W/O LABEL

KNOB; FOR ILAS®; BLACK Haldex 027049009

Fabricante: Haldex

Referencia: 027049009
w Descripcion: KNOB; FOR ILAS®; BLACK




- DRAULICFREN

Haldex
KNOB; FOR LIFT AXLE VALVE; BLACK Haldex 027050209

Fabricante: Haldex
Referencia: 027050209
Descripcion: KNOB; FOR LIFT AXLE VALVE; BLACK

RETURN SPRING; FOR SHUNT VALVE Haldex 0270510090

Fabricante: Haldex
Referencia: 0270510090
Descripcién: RETURN SPRING; FOR SHUNT VALVE

KNOB; FOR COMBINED PARK+SHUNT VALVE (352044.../ 352045...); Haldex 027059409

Fabricante: Haldex
Referencia: 027059409

Descripcién: KNOB; FOR COMBINED PARK+SHUNT VALVE (352044.../
352045..);

RESTRICTOR; FOR COLAS® VALVE; THROTTLE 0.8MM Haldex 027066509

Fabricante: Haldex
Referencia: 027066509
Descripcion: RESTRICTOR; FOR COLAS® VALVE; THROTTLE 0.8MM




- DRAULICFREN

Haldex
(MOQ 10); CLICK-FIT BLANKING PLUG; FOR ECU GLAND BOX; (ABS M Haldex 027503209

Fabricante: Haldex
Referencia: 027503209

Descripcion: (MOQ 10); CLICK-FIT BLANKING PLUG; FOR ECU GLAND BOX;
(ABS M

INHIBIT KEY; ABS MODAL Haldex 027503309

Fabricante: Haldex
Referencia: 027503309
Descripcion: INHIBIT KEY; ABS MODAL

(MOQ 10); NUT; FOR ECU GLAND BOX; (ABS MODAL); FOR 5 CORE CA Haldex 027504309

Fabricante: Haldex
Referencia: 027504309

Descripcion: (MOQ 10); NUT; FOR ECU GLAND BOX; (ABS MODAL); FOR 5
CORE CA

(MOQ 10); CABLE GRIP; FOR ECU GLAND BOX; (ABS MODAL); FOR 3 Haldex 027504409

Fabricante: Haldex
Referencia: 027504409

Descripcion: (MOQ 10); CABLE GRIP; FOR ECU GLAND BOX; (ABS MODAL);
FOR 3




- DRAULICFREN

Haldex
(MOQ 10); CABLE GRIP; FOR ECU GLAND BOX; (ABS MODAL); FOR 5 Haldex 027504509

Fabricante: Haldex
Referencia: 027504509

Descripcion: (MOQ 10); CABLE GRIP; FOR ECU GLAND BOX; (ABS MODAL);
FOR 5

PLUG; FOR LINING WEAR INTERFACE Haldex 027526009

Fabricante: Haldex

Referencia: 027526009
@ Descripcion: PLUG; FOR LINING WEAR INTERFACE

IDENTIFICATION TAG; FOR COUPLING HEAD; RED Haldex 028002609

Fabricante: Haldex

Referencia: 028002609
w Descripcion: IDENTIFICATION TAG; FOR COUPLING HEAD; RED

IDENTIFICATION TAG; FOR COUPLING HEAD; YELLOW Haldex 028003109

Fabricante: Haldex

Referencia: 028003109
w Descripcion: IDENTIFICATION TAG; FOR COUPLING HEAD; YELLOW




- DRAULICFREN

Haldex
DATA PLATE; FOR MECHANICAL LOAD SENSING VALVE; (D/GB/F) Haldex 028027909

Fabricante: Haldex
Referencia: 028027909

Descripcion: DATA PLATE; FOR MECHANICAL LOAD SENSING VALVE;
(DIGBIF)

DATA PLATE; FOR PNEUMATIC LOAD SENSING VALVE; (D/GB/F) Haldex 028028009

Fabricante: Haldex
Referencia: 028028009

Descripcién: DATA PLATE; FOR PNEUMATIC LOAD SENSING VALVE;
(DIGBIF)

INFORMATION LABEL GENERAL INSTRUCTION; COLAS® Haldex 028041029

Fabricante: Haldex
Referencia: 028041029
Descripcion: INFORMATION LABEL GENERAL INSTRUCTION; COLAS®

LOAD PLATE LABEL (IS A PACK OF 10X 028042409); FOR EPV EB+; Haldex 02804240910

Fabricante: Haldex
Referencia: 02804240910

Descripciéon: LOAD PLATE LABEL (IS A PACK OF 10X 028042409); FOR EPV
EB+;




- DRAULICFREN

Haldex
INSTRUCTION PLATE; FOR TRCM Haldex 028044309

Fabricante: Haldex
Referencia: 028044309
Descripcion: INSTRUCTION PLATE; FOR TRCM

INSTRUCTION PLATE; FOR TRCM+ Haldex 028047609

Fabricante: Haldex

Referencia: 028047609
@ Descripciéon: INSTRUCTION PLATE; FOR TRCM+

WARNING STICKER Haldex 028047719

Fabricante: Haldex

Referencia: 028047719
@ Descripcion: WARNING STICKER

COLAS®+ STICKER (IS A PACK OF 10X 028047809) Haldex 02804780910

Fabricante: Haldex

Referencia: 02804780910
@ Descripcion: COLAS®+ STICKER (IS A PACK OF 10X 028047809)




- DRAULICFREN

Haldex
INSTRUCTION PLATE; FOR TEM Haldex 028050809

Fabricante: Haldex
Referencia: 028050809
Descripcion: INSTRUCTION PLATE; FOR TEM

INSTRUCTION PLATE; FOR TEM Haldex 028050909

Fabricante: Haldex
Referencia: 028050909
Descripcién: INSTRUCTION PLATE; FOR TEM

WARNSCHILD SAFE PARKING (ONLY FOR FLIEGL KIT) Haldex 028051909

Fabricante: Haldex
Referencia: 028051909
Descripcion: WARNSCHILD SAFE PARKING (ONLY FOR FLIEGL KIT)

LABEL; FOR ABS MODULAR; PICTURAL (REPLACE THE DIAGNOSTIC CAP Haldex 028518909

Fabricante: Haldex
Referencia: 028518909

Descripcion: LABEL; FOR ABS MODULAR; PICTURAL (REPLACE THE
DIAGNOSTIC CAP




- DRAULICFREN

Haldex
(MOQ 10); LABEL; FOR ABS; PICTURAL (>10 KM/H+LAMP = ABS FAIL Haldex 028525709M

Fabricante: Haldex
Referencia: 028525709M

Descripcion: (MOQ 10); LABEL; FOR ABS; PICTURAL (>10 KM/H+LAMP =
ABS FAIL

LABEL (IS A PACK OF 10X 028526209); EBS EB+; PICTOGRAMA (ISO Haldex 02852620910

Fabricante: Haldex
Referencia: 02852620910

Descripcion: LABEL (IS A PACK OF 10X 028526209); EBS EB+;
PICTOGRAMA (ISO

LABEL; INFO POINT; 39X39; TRANSPARENT Haldex 028532409

Fabricante: Haldex
Referencia: 028532409
Descripcion: LABEL; INFO POINT; 39X39; TRANSPARENT

WARNING LABEL (IS A PACK OF 10X 028534009); PARA SOFT DOCKIN Haldex 02853400910

Fabricante: Haldex
Referencia: 02853400910

Descripcion: WARNING LABEL (IS A PACK OF 10X 028534009); PARA SOFT
DOCKIN




- DRAULICFREN

Haldex
U-ABS LABEL Haldex 028539109

Fabricante: Haldex
Referencia: 028539109
Descripcion: U-ABS LABEL

(MOQ 10); CAGE FILTER; FOR RAISE/LOWER VALVE (VARIOUS) Haldex 029000109

Fabricante: Haldex
Referencia: 029000109

Descripcion: (MOQ 10); CAGE FILTER; FOR RAISE/LOWER VALVE
(VARIOUS)

(MOQ 10); CAGE FILTER; FOR RELAY EMERGENCY VALVE (VARIOUS) Haldex 029000409

Fabricante: Haldex
Referencia: 029000409

Descripcion: (MOQ 10); CAGE FILTER; FOR RELAY EMERGENCY VALVE
(VARIOUS)

FILZRING Haldex 029004609

Fabricante: Haldex
Referencia: 029004609
Descripcion: FILZRING




- DRAULICFREN

Haldex
LIMITED STOCK; AIR TANK; STEEL; 20L; 246 @ MM; LENGTH L: 500 Haldex 030320246WB

Fabricante: Haldex
Referencia: 030320246WB

Descripcion: LIMITED STOCK; AIR TANK; STEEL; 20L; 246 @ MM; LENGTH
L: 500

LIMITED STOCK; AIR TANK; STEEL; 40L; 276 @ MM; LENGTH L: 760 Haldex 030340276WB

Fabricante: Haldex
Referencia: 030340276WB

Descripcion: LIMITED STOCK; AIR TANK; STEEL,; 40L; 276 @ MM; LENGTH
L: 760

AIR TANK; STEEL; 80L; 396 @ MM; LENGTH L: 750MM; U (1+1+1+2) Haldex 030380396WB

Fabricante: Haldex
Referencia: 030380396WB

Descripcion: AIR TANK; STEEL; 80L; 396 @ MM; LENGTH L: 750MM; U
(1+1+1+2)

AIR TANK; STEEL; 20L; 206 @ MM; LENGTH L: 672MM; C (2+1+1) Haldex 030390709

Fabricante: Haldex
Referencia: 030390709

Descripcion: AIR TANK; STEEL; 20L; 206 @ MM: LENGTH L: 672MM: C
(2+1+1)




- DRAULICFREN

Haldex
SILENCER; FOR COMPRESSOR; M12X1.5 Haldex 031000109

Fabricante: Haldex
Referencia: 031000109
Descripcion: SILENCER; FOR COMPRESSOR; M12X1.5

AIR FILTER; FOR COMPRESSOR; M22X1.5 Haldex 031000209

Fabricante: Haldex

Referencia: 031000209
@ Descripcion: AIR FILTER; FOR COMPRESSOR; M22X1.5

SILENCER; FOR ILAS®; FOR EXHAUST Haldex 031000909

Fabricante: Haldex

Referencia: 031000909
w Descripcion: SILENCER; FOR ILAS®; FOR EXHAUST

SILENCER; FOR ILAS®; FOR EXHAUST Haldex 031001309

Fabricante: Haldex

Referencia: 031001309
@ Descripcion: SILENCER; FOR ILAS®; FOR EXHAUST




- DRAULICFREN

Haldex
(MOQ: 10); STRAIGHT Haldex 032002009

Fabricante: Haldex
Referencia: 032002009
Descripcion: (MOQ: 10); STRAIGHT

LIMITED STOCK; S FITTING TU10-MA18 Haldex 032002309

Fabricante: Haldex

Referencia: 032002309
@ Descripcion: LIMITED STOCK; S FITTING TU10-MA18

S FITTING THREAD-TUBE M22-TU10DIN Haldex 032002409

Fabricante: Haldex

Referencia: 032002409
w Descripcion: S FITTING THREAD-TUBE M22-TU10DIN

LIMITED STOCK; S FITTING CHASSIS DIN/DIN TU15 - TU15 Haldex 032007609

Fabricante: Haldex

Referencia: 032007609
@ Descripcion: LIMITED STOCK; S FITTING CHASSIS DIN/DIN TU15 - TU15




- DRAULICFREN

Haldex
LIMITED STOCK; WINKELSCHRAUBUNG Haldex 032010109

Fabricante: Haldex
Referencia: 032010109
Descripcion: LIMITED STOCK; WINKELSCHRAUBUNG

LIMITED STOCK; T FITTING DIN/DIN/DIN TU15-TU15-TU15 Haldex 032014009

Fabricante: Haldex

Referencia: 032014009
@ Descripcién: LIMITED STOCK; T FITTING DIN/DIN/DIN TU15-TU15-TU15

T FITTING DIN/DIN/HOSE TU15-TU15-S13 Haldex 032016409

Fabricante: Haldex

Referencia: 032016409
w Descripcion: T FITTING DIN/DIN/HOSE TU15-TU15-S13

LIMITED STOCK; FITTINGS, MALE/MALE CONNECTOR Haldex 032017009

Fabricante: Haldex

Referencia: 032017009
@ Descripcion: LIMITED STOCK; FITTINGS, MALE/MALE CONNECTOR




- DRAULICFREN

Haldex
LIMITED STOCK; MAMELON MA22-MA1/4" Haldex 032017509A

Fabricante: Haldex
Referencia: 032017509A
Descripcion: LIMITED STOCK; MAMELON MA22-MA1/4"

LIMITED STOCK; S FITTING CHASSIS THREAD/THREAD M22M-1/2"M Haldex 032018409

Fabricante: Haldex

Referencia: 032018409
Descripcién: LIMITED STOCK; S FITTING CHASSIS THREAD/THREAD
M22M-1/2"M

(MOQ: 10); FITTING REDUCER Haldex 032024309

Fabricante: Haldex

Referencia: 032024309
w Descripcion: (MOQ: 10); FITTING REDUCER

CONNECTOR Haldex 032032309

Fabricante: Haldex

Referencia: 032032309
w Descripcién: CONNECTOR




- DRAULICFREN

Haldex
LIMITED STOCK; S FITTING ADAPTOR THREAD/THREAD Haldex 032040709

Fabricante: Haldex
Referencia: 032040709
Descripcion: LIMITED STOCK; S FITTING ADAPTOR THREAD/THREAD

(MOQ: 10); S FITTING THREAD-THREAD MA22-MA14 Haldex 032040909

Fabricante: Haldex

Referencia: 032040909
@ Descripcién: (MOQ: 10); S FITTING THREAD-THREAD MA22-MA14

(MOQ: 10); HEXAGONAL NUT M14 Haldex 032049709

Fabricante: Haldex

Referencia: 032049709
@ Descripcion: (MOQ: 10); HEXAGONAL NUT M14

T FITTING DIN/THREAD/DIN TU12-M22M+NUT-TU12 Haldex 032052209

Fabricante: Haldex

Referencia: 032052209
@ Descripcion: T FITTING DIN/THREAD/DIN TU12-M22M+NUT-TU12




- DRAULICFREN

Haldex
LIMITED STOCK; S FITTING CHASSIS THREAD/DIN M22M-TU15 Haldex 032056209

Fabricante: Haldex
Referencia: 032056209

Descripcion: LIMITED STOCK; S FITTING CHASSIS THREAD/DIN M22M-
TU15

LIMITED STOCK; FITTING Haldex 032064109

Fabricante: Haldex

Referencia: 032064109
@ Descripcion: LIMITED STOCK; FITTING

DOPPELSTECKNIPPEL OZ* Haldex 032071609

Fabricante: Haldex

Referencia: 032071609
w Descripcién: DOPPELSTECKNIPPEL OZ*

FITTING; FOR COLAS® VALVE; PUSH-IN Haldex 032072819

Fabricante: Haldex

Referencia: 032072819
@ Descripcion: FITTING; FOR COLAS® VALVE; PUSH-IN




- DRAULICFREN

Haldex
PUSH-IN; 12MM Haldex 032073219

Fabricante: Haldex
Referencia: 032073219
Descripcién: PUSH-IN; 12MM

PUSH IN Haldex 032074609

Fabricante: Haldex
Referencia: 032074609
Descripcién: PUSH IN

THREAD EXTENSION; FOR COUPLING HEAD Haldex 032075009

Fabricante: Haldex
Referencia: 032075009
Descripcion: THREAD EXTENSION; FOR COUPLING HEAD

S FITTING DIN/THREAD TU15-M18M Haldex 03210115182

Fabricante: Haldex
Referencia: 03210115182
Descripcion: S FITTING DIN/THREAD TU15-M18M




- DRAULICFREN

Haldex
S FITTING THREAD-DIN M26M-TU22 Haldex 03210222262

Fabricante: Haldex
Referencia: 03210222262
Descripcion: S FITTING THREAD-DIN M26M-TU22

UNION TERMINAL DIN/DIN TU15-TU15 Haldex 03210315152

Fabricante: Haldex

Referencia: 03210315152
@ Descripcién: UNION TERMINAL DIN/DIN TU15-TU15

T FITTINGS DIN-DIN-DIN TU12-TU6-TU12 Haldex 03211112062

Fabricante: Haldex

Referencia: 03211112062
w Descripcion: T FITTINGS DIN-DIN-DIN TU12-TU6-TU12

LIMITED STOCK; S FITTING CHASSIS DIN/DIN TU18-TU18 Haldex 03211518182

Fabricante: Haldex

Referencia: 03211518182
@ Descripcion: LIMITED STOCK; S FITTING CHASSIS DIN/DIN TU18-TU18




- DRAULICFREN

Haldex
SWIVEL FITTING LAT. DIN/THREAD TU10-M14 Haldex 03212410142

Fabricante: Haldex
Referencia: 03212410142
Descripcion: SWIVEL FITTING LAT. DIN/THREAD TU10-M14

L FITTING DIN/DIN TU12-TU12 Haldex 03212612022

Fabricante: Haldex
Referencia: 03212612022
Descripcién: L FITTING DIN/DIN TU12-TU12

LIMITED STOCK; SADDLE FOR AIR TANK; STANDARD; @ (MM): 150; K Haldex 032150001S

Fabricante: Haldex
Referencia: 032150001S

Descripcion: LIMITED STOCK; SADDLE FOR AIR TANK; STANDARD; @
(MM): 150; K

(MOQ: 10); S FITTING P.IN/THREAD TU8-M12M +THRUST+0O-RING Haldex 03230108125

Fabricante: Haldex
Referencia: 03230108125

Descripcion: (MOQ: 10); S FITTING P.IN/THREAD TU8-M12M +THRUST+O-
RING




- DRAULICFREN

Haldex
S FITTING P.IN/THREAD TU12-M16M +THRUST+0O-RING Haldex 03230112165

Fabricante: Haldex
Referencia: 03230112165
Descripcion: S FITTING P.IN/THREAD TU12-M16M +THRUST+O-RING

L FITTING P.IN/TH TU8-M12M +THRUST+0O-RING Haldex 03230508125

Fabricante: Haldex

Referencia: 03230508125
@ Descripcion: L FITTING P.IN/TH TU8-M12M +THRUST+O-RING

L FITTING P.IN/TH TU8-M22M +THRUST+0O-RING Haldex 03230508225

Fabricante: Haldex

Referencia: 03230508225
w Descripcion: L FITTING P.IN/TH TU8-M22M +THRUST+O-RING

L FITTING P.IN/TH TU10-M22M +THRUST+O-RING Haldex 03230510225

Fabricante: Haldex

Referencia: 03230510225
w Descripcion: L FITTING P.IN/TH TU10-M22M +THRUST+O-RING




- DRAULICFREN

Haldex
L FITTING P.IN/THREAD TU12-M16M+0O-RING Haldex 03230512165

Fabricante: Haldex
Referencia: 03230512165
Descripcion: L FITTING P.IN/THREAD TU12-M16M+0O-RING

T FITTING TH/TH/P.IN M22M-M22M-TU6 +THRUST+O-RING Haldex 03230806922

Fabricante: Haldex

Referencia: 03230806922
@ Descripcion: T FITTING TH/TH/P.IN M22M-M22M-TU6 +THRUST+0O-RING

T FITTING TH/P.IN/P.IN M12M-TU8-TU8 +THRUST+O-RING Haldex 03230808125

Fabricante: Haldex

Referencia: 03230808125
w Descripcion: T FITTING TH/P.IN/P.IN M12M-TU8-TU8 +THRUST+0O-RING

T FITTING TH/P.IN/P.IN M22M-TU12-TU6+THRUST+O-RING Haldex 03230826222

Fabricante: Haldex

Referencia: 03230826222
w Descripcion: T FITTING TH/P.IN/P.IN M22M-TU12-TU6+THRUST+0O-RING




- DRAULICFREN

Haldex
BARREL TEE COUPLING / L-EINSCHRAUBSTECKVERBINDUNG Haldex 03230880162

Fabricante: Haldex
Referencia: 03230880162

Descripcién: BARREL TEE COUPLING / L-
EINSCHRAUBSTECKVERBINDUNG

BARREL TEE COUPLING Haldex 03230880165

Fabricante: Haldex

Referencia: 03230880165
@ Descripcién: BARREL TEE COUPLING

T FITTING TH/P.IN/P.IN M16M-TU8-TU6 +THRUST+O-RING Haldex 03230886162

Fabricante: Haldex

Referencia: 03230886162
@ Descripcion: T FITTING TH/P.IN/P.IN M16M-TU8-TU6 +THRUST+O-RING

T FITTING TU15-TU15-M22M + O-RING Haldex 03231015222

Fabricante: Haldex

Referencia: 03231015222
@ Descripcion: T FITTING TU15-TU15-M22M + O-RING




- DRAULICFREN

Haldex
LIMITED STOCK; T FITTING TH/P.IN/TH M22M-TU15-M22M +THRUST+0O Haldex 03231015242

Fabricante: Haldex
Referencia: 03231015242

Descripcion: LIMITED STOCK; T FITTING TH/P.IN/TH M22M-TU15-M22M
+THRUST+O

S FITTING CHASSIS TH/P.IN M22M-TU10 +THRUST+O-RING Haldex 03231410222

Fabricante: Haldex

Referencia: 03231410222
@ Descripcion: S FITTING CHASSIS TH/P.IN M22M-TU10 +THRUST+O-RING

S FITTING CHASSIS TH/TH M16-M16M +THRUST+O-RING Haldex 03231460162

Fabricante: Haldex

Referencia: 03231460162
w Descripcion: S FITTING CHASSIS TH/TH M16-M16M +THRUST+O-RING

S FITTING CHASSIS P.IN/P.IN TU15-TU15 Haldex 03231515152

Fabricante: Haldex

Referencia: 03231515152
w Descripcion: S FITTING CHASSIS P.IN/P.IN TU15-TU15




- DRAULICFREN

Haldex
L FITTING CHASSIS P.IN/P.IN TU15-TU15 Haldex 03231615152

Fabricante: Haldex
Referencia: 03231615152
Descripcion: L FITTING CHASSIS P.IN/P.IN TU15-TU15

REDUCER SWIVEL TU8X1 T15 M22X1,5 Haldex 03232215082

Fabricante: Haldex

Referencia: 03232215082
@ Descripcién: REDUCER SWIVEL TU8X1 T15 M22X1,5

T FITTING SWIVEL P.IN/P.IN/THREAD TU6-TU6-M12F Haldex 03232706022

Fabricante: Haldex

Referencia: 03232706022
@ Descripcion: T FITTING SWIVEL P.IN/P.IN/THREAD TU6-TU6-M12F

T FITTING SWIVEL P.IN/P.IN/TH TU10-TU10-M16F Haldex 03232710022

Fabricante: Haldex

Referencia: 03232710022
@ Descripcion: T FITTING SWIVEL P.IN/P.IN/TH TU10-TU10-M16F




- DRAULICFREN

Haldex
L LAT FITTINGS PUSH-INX2-DIN TU6X2-TU6 Haldex 03232806022

Fabricante: Haldex
Referencia: 03232806022
Descripcion: L LAT FITTINGS PUSH-INX2-DIN TU6X2-TU6

S FITTING REDUCER THREAD/THREAD M16M-M18F Haldex 03234912162

Fabricante: Haldex
Referencia: 03234912162
Descripcién: S FITTING REDUCER THREAD/THREAD M16M-M18F

S FITTING CHASSIS HOSE/P.IN S13-TU15 Haldex 03235113152

Fabricante: Haldex
Referencia: 03235113152
Descripcion: S FITTING CHASSIS HOSE/P.IN S13-TU15

LIMITED STOCK; PLUG; FOR M14X1.5; BRASS CUP; C/W O-RING Haldex 03236200142

Fabricante: Haldex
Referencia: 03236200142

Descripcion: LIMITED STOCK; PLUG; FOR M14X1.5; BRASS CUP; C/W O-
RING




- DRAULICFREN

Haldex
T FITTING TEST/TH/P.IN M16M-TU10 +THRUST+O-RING Haldex 03236512092

Fabricante: Haldex
Referencia: 03236512092
Descripcion: T FITTING TEST/TH/P.IN M16M-TU10 +THRUST+O-RING

DRAIN VALVE W/O RING + THRUST+O-RING Haldex 03236612225

Fabricante: Haldex

Referencia: 03236612225
@ Descripcién: DRAIN VALVE W/O RING + THRUST+O-RING

STRAIGHT TERMINAL P.IN TU15X2 - THREAD M22 FEMALE Haldex 03237015202

Fabricante: Haldex

Referencia: 03237015202
@ Descripcion: STRAIGHT TERMINAL P.IN TU15X2 - THREAD M22 FEMALE

PRE-ASSEMBLED TUBE Haldex 03239101122

Fabricante: Haldex

Referencia: 03239101122
w Descripciéon: PRE-ASSEMBLED TUBE




- DRAULICFREN

Haldex
PRE-ASSEMBLED TUBE Haldex 03239102122

Fabricante: Haldex
Referencia: 03239102122
Descripcién: PRE-ASSEMBLED TUBE

L FITTING THREAD-DIN M14M+O-RING-TU8 Haldex 03240508142

Fabricante: Haldex

Referencia: 03240508142
@ Descripcion: L FITTING THREAD-DIN M14M+O-RING-TU8

L FITTING TUBE/THREAD TU8-M16M Haldex 03240508162

Fabricante: Haldex

Referencia: 03240508162
w Descripcion: L FITTING TUBE/THREAD TU8-M16M

(MOQ: 10); THRUST+O-RING M18 Haldex 03247800185

Fabricante: Haldex

Referencia: 03247800185
w Descripcion: (MOQ: 10); THRUST+O-RING M18




- DRAULICFREN

Haldex
(MOQ: 10); OLIVE DU16 Haldex 03257100162

Fabricante: Haldex
Referencia: 03257100162
Descripcién: (MOQ: 10); OLIVE DU16

LIMITED STOCK; S FITTING CHASSIS THREAD/THREAD DIN M22MX2 Haldex 03261515152

Fabricante: Haldex

Referencia: 03261515152
@ Descripcién: LIMITED STOCK; S FITTING CHASSIS THREAD/THREAD DIN
M22MX2

(MOQ: 10); S FITTING Haldex 03262208062

Fabricante: Haldex

Referencia: 03262208062
@ Descripcion: (MOQ: 10); S FITTING

(MOQ: 10); S FITTING Haldex 03262210062

Fabricante: Haldex

Referencia: 03262210062
w Descripcion: (MOQ: 10); S FITTING




- DRAULICFREN

Haldex
(MOQ: 10); SFITTING TH DIN - TH DIN M12M TUG - .. Haldex 03262212062

Fabricante: Haldex
Referencia: 03262212062
Descripcion: (MOQ: 10); S FITTING TH DIN - TH DIN M12M TUG - ..

L FITTING SLICK- TH DIN TU12 - M18M TU12 Haldex 03262612002

Fabricante: Haldex

Referencia: 03262612002
@ Descripcién: L FITTING SLICK- TH DIN TU12 - M18M TU12

(MOQ: 10); DIN NUT M30 DU22 Haldex 03267000222

Fabricante: Haldex

Referencia: 03267000222
w Descripcion: (MOQ: 10); DIN NUT M30 DU22

(MOQ: 10); SOCKET FOR TUBE 6 Haldex 03267100062

Fabricante: Haldex

Referencia: 03267100062
w Descripcion: (MOQ: 10); SOCKET FOR TUBE 6




- DRAULICFREN

Haldex
(MOQ: 10); SOCKET FOR TUBE 8 Haldex 03267100082

Fabricante: Haldex
Referencia: 03267100082
Descripcion: (MOQ: 10); SOCKET FOR TUBE 8

(MOQ: 10); SOCKET FOR TUBE 22 Haldex 03267100222

Fabricante: Haldex

Referencia: 03267100222
@ Descripcion: (MOQ: 10); SOCKET FOR TUBE 22

(MOQ: 10); HEXAGONAL NUT M26 Haldex 03267700262

Fabricante: Haldex

Referencia: 03267700262
w Descripcion: (MOQ: 10); HEXAGONAL NUT M26

(MOQ: 10); WASHER INT DIA.14 COPPER Haldex 03268014189

Fabricante: Haldex

Referencia: 03268014189
@ Descripcion: (MOQ: 10); WASHER INT DIA.14 COPPER




- DRAULICFREN

Haldex
L FITTING 45° THREAD/PLUG IN M16F-P5 Haldex 032683209

Fabricante: Haldex
Referencia: 032683209
Descripcion: L FITTING 45° THREAD/PLUG IN M16F-P5

L FITTING PLUG IN/P.IN P5-TU10X1 Haldex 032699109

Fabricante: Haldex
Referencia: 032699109
Descripcion: L FITTING PLUG IN/P.IN P5-TU10X1

(MOQ: 10); FITTING Haldex 032701609

Fabricante: Haldex
Referencia: 032701609
Descripcion: (MOQ: 10); FITTING

FITTING Haldex 032701709

Fabricante: Haldex
Referencia: 032701709
Descripcion: FITTING




- DRAULICFREN

Haldex
S FITTING PLUG-IN/THREAD P5-1/4"-18 NPTF Haldex 032703209

Fabricante: Haldex
Referencia: 032703209
Descripcion: S FITTING PLUG-IN/THREAD P5-1/4"-18 NPTF

S FITTING PLUG-IN/THREAD P5-1/2"-14 NPTF Haldex 032703409

Fabricante: Haldex
Referencia: 032703409
Descripcién: S FITTING PLUG-IN/THREAD P5-1/2"-14 NPTF

LIMITED STOCK; S FITTING CHASSIS THREAD/PLUG IN M22M-P5 Haldex 032703609

Fabricante: Haldex
Referencia: 032703609

Descripcion: LIMITED STOCK; S FITTING CHASSIS THREAD/PLUG IN
M22M-P5

LIMITED STOCK; FITTING Haldex 032721009

Fabricante: Haldex
Referencia: 032721009
Descripcion: LIMITED STOCK; FITTING




- DRAULICFREN

Haldex
LIMITED STOCK; FITTING Haldex 032747509

Fabricante: Haldex
Referencia: 032747509
Descripcion: LIMITED STOCK; FITTING

(MOQ: 10); FITTING; ADAPTOR Haldex 0327500600

Fabricante: Haldex

Referencia: 0327500600
@ Descripcion: (MOQ: 10); FITTING; ADAPTOR

LIMITED STOCK; FITTING Haldex 032769709

Fabricante: Haldex

Referencia: 032769709
w Descripcion: LIMITED STOCK; FITTING

S FITTING CHASSIS TH/TH M22M-M22M(INT M16) Haldex 032772109

Fabricante: Haldex

Referencia: 032772109
@ Descripcion: S FITTING CHASSIS TH/TH M22M-M22M(INT M16)




- DRAULICFREN

Haldex
FITTING Haldex 032789009

Fabricante: Haldex
Referencia: 032789009
Descripcion: FITTING

RACORD; STRAIGHT MALE TERMINAL; TIPO 16X12; M22X1.5 Haldex 032800117000

Fabricante: Haldex
Referencia: 032800117000
Descripcién: RACORD; STRAIGHT MALE TERMINAL; TIPO 16X12; M22X1.5

FITTING; STRAIGHT MALE TERMINAL; TUBE g (MM): 8X6; M12X1 Haldex 03280022000

Fabricante: Haldex
Referencia: 03280022000

Descripcion: FITTING; STRAIGHT MALE TERMINAL; TUBE g (MM): 8X6;
M12X1

LIMITED STOCK; FITTING; STRAIGHT MALE TERMINAL; TUBE g (MM): Haldex 03280057000

Fabricante: Haldex
Referencia: 03280057000

Descripcion: LIMITED STOCK; FITTING; STRAIGHT MALE TERMINAL; TUBE
g (MM):




- DRAULICFREN

Haldex
(MOQ: 10); S FITTING REDUCER M12M + O-RING - M12M TU6 Haldex 03280106122

Fabricante: Haldex
Referencia: 03280106122
Descripcion: (MOQ: 10); S FITTING REDUCER M12M + O-RING - M12M TU6

(MOQ: 10); S FITTING ADAPTOR THREAD/THREAD M12M-M16M Haldex 03280110122

Fabricante: Haldex
Referencia: 03280110122

Descripcion: (MOQ: 10); S FITTING ADAPTOR THREAD/THREAD M12M-
M16M

LIMITED STOCK; S FITTING ADAPTOR THREAD/THREAD M16M-M22M Haldex 03280115162

Fabricante: Haldex
Referencia: 03280115162

Descripcion: LIMITED STOCK; S FITTING ADAPTOR THREAD/THREAD
M16M-M22M

(MOQ: 10); S FITTING ADAPTOR THREAD/THREAD M22M-M22M Haldex 03280115222

Fabricante: Haldex
Referencia: 03280115222

Descripcion: (MOQ: 10); S FITTING ADAPTOR THREAD/THREAD M22M-
M22M




- DRAULICFREN

Haldex
FITTING; STUD BULKHEAD TERMINAL; TUBE g (MM): 8X6; M16X1.5 Haldex 03280326400

Fabricante: Haldex
Referencia: 03280326400

Descripcion: FITTING; STUD BULKHEAD TERMINAL; TUBE g (MM): 8X6;
M16X1.5

LIMITED STOCK; FITTING; STUD BULKHEAD TERMINAL; TUBE g (MM): Haldex 03280327400

Fabricante: Haldex
Referencia: 03280327400

Descripcién: LIMITED STOCK; FITTING; STUD BULKHEAD TERMINAL; TUBE
g (MM):

FITTING; STUD BULKHEAD TERMINAL; TUBE g (MM): 10X8; M22X1.5 Haldex 03280367400

Fabricante: Haldex
Referencia: 03280367400

Descripcion: FITTING; STUD BULKHEAD TERMINAL; TUBE g (MM): 10X8;
M22X1.5

FITTING; STUD BULKHEAD TERMINAL; TUBE g (MM): 12X9; M22X1.5 Haldex 03280397600

Fabricante: Haldex
Referencia: 03280397600

Descripcion: FITTING; STUD BULKHEAD TERMINAL; TUBE g (MM): 12X9;
M22X1.5




- DRAULICFREN

Haldex
LIMITED STOCK; L FITTING THREAD/THREAD M16M-M12F Haldex 03280506162

Fabricante: Haldex
Referencia: 03280506162
Descripcién: LIMITED STOCK; L FITTING THREAD/THREAD M16M-M12F

L FITTING THREAD/THREAD MM-MF Haldex 03280512142

Fabricante: Haldex
Referencia: 03280512142
Descripcion: L FITTING THREAD/THREAD MM-MF

LIMITED STOCK; T FITTING THREAD X3 M22M+0O-M16M-M16M Haldex 03281010222

Fabricante: Haldex
Referencia: 03281010222
Descripcion: LIMITED STOCK; T FITTING THREAD X3 M22M+0O-M16M-M16M

LIMITED STOCK; FITTING; SWIVEL ELBOW STUD; TUBE g (MM): 6X4; Haldex 03281516400

Fabricante: Haldex
Referencia: 03281516400

Descripcion: LIMITED STOCK; FITTING; SWIVEL ELBOW STUD; TUBE g
(MM): 6X4;




- DRAULICFREN

Haldex

LIMITED STOCK; FITTING; SWIVEL ELBOW STUD; TUBE g (MM): 12X9 Haldex 03281594600

Fabricante: Haldex
Referencia: 03281594600

Descripcion: LIMITED STOCK; FITTING; SWIVEL ELBOW STUD; TUBE o
(MM): 12X9

FITTING; ADJUSTABLE TEE STUD WITH TEST POINT; TUBE @ (MM): 8 Haldex 03282327400

Fabricante: Haldex
Referencia: 03282327400

Descripcion: FITTING; ADJUSTABLE TEE STUD WITH TEST POINT; TUBE g
(MM): 8

FITTING; ADJUSTABLE ELBOW STUD; TUBE g (MM): 8X6; M22X1.5 Haldex 03284127600

FITTING Haldex 03290516222

Fabricante: Haldex
Referencia: 03284127600

Descripcion: FITTING; ADJUSTABLE ELBOW STUD; TUBE g (MM): 8X6;
M22X1.5

Fabricante: Haldex
Referencia: 03290516222
Descripcion: FITTING



- DRAULICFREN

Haldex
S FITTING Haldex 0329089622

Fabricante: Haldex
Referencia: 0329089622
Descripcion: S FITTING

(MOQ: 10); HEXAGONAL NUT M18 Haldex 03297700182

Fabricante: Haldex

Referencia: 03297700182
@ Descripcion: (MOQ: 10); HEXAGONAL NUT M18

(MOQ: 10); WASHER INT DIA. ALUMINIUM Haldex 03298014180

Fabricante: Haldex

Referencia: 03298014180
@ Descripcion: (MOQ: 10); WASHER INT DIA. ALUMINIUM

(MOQ: 10); WASHER INT DIA. ALUMINIUM Haldex 03298026310

Fabricante: Haldex

Referencia: 03298026310
@ Descripcion: (MOQ: 10); WASHER INT DIA. ALUMINIUM




- DRAULICFREN

Haldex
LIMITED STOCK; SOCKET FOR TUBE 10X1,5 Haldex 03298210155

Fabricante: Haldex
Referencia: 03298210155
Descripcion: LIMITED STOCK; SOCKET FOR TUBE 10X1,5

FITTING, MALE CONNECTOR; TUBE g (MM): 20; M22X1.5 Haldex 032DMM137LACP

Fabricante: Haldex
Referencia: 032DMM137LACP
Descripcion: FITTING; MALE CONNECTOR; TUBE g (MM): 20; M22X1.5

FITTING; BULKHEAD MALE CONNECTOR; TUBE g (MM): 15; M22X1.5 Haldex 032PDM107LACA

Fabricante: Haldex
Referencia: 032PDM107LACA

Descripcion: FITTING; BULKHEAD MALE CONNECTOR; TUBE g (MM): 15;
M22X1.5

ADAPTOR; FOR FITTING; M16X1.5 Haldex 032RID67

Fabricante: Haldex
Referencia: 032RID67
Descripcion: ADAPTOR; FOR FITTING; M16X1.5




- DRAULICFREN

Haldex
FITTING; MALE ELBOW,; TUBE g (MM): 20; M22X1.5 Haldex 032TPG137LACP

Fabricante: Haldex
Referencia: 032TPG137LACP
Descripcion: FITTING; MALE ELBOW; TUBE g (MM): 20; M22X1.5

LIMITED STOCK; PUSH-IN COUPLING 8X1 M12X1,5 ABC NL Haldex 03490108012

Fabricante: Haldex
Referencia: 03490108012
Descripcion: LIMITED STOCK; PUSH-IN COUPLING 8X1 M12X1,5 ABC NL

PRESSURE GAUGE; 0-16 BAR; M16X150; SINGLE Haldex 037002429

Fabricante: Haldex
Referencia: 037002429
Descripcion: PRESSURE GAUGE; 0-16 BAR; M16X150; SINGLE

(MOQ: 10); STRAIGHT TERMINAL P.IN TU10X1.25 - TH M16 FEMALE Haldex 037010125

Fabricante: Haldex
Referencia: 037010125

Descripcion: (MOQ: 10); STRAIGHT TERMINAL P.IN TU10X1.25 - TH M16
FEMALE




- DRAULICFREN

Haldex
PISTON; FOR COMPRESSOR Haldex 039006109

Fabricante: Haldex
Referencia: 039006109
Descripcion: PISTON; FOR COMPRESSOR

TIME+BRAKE RELAY; FOR AUTOMATIC DRAIN VALVE/CONSEP; C/W SIDE Haldex 041013609

Fabricante: Haldex
Referencia: 041013609

Descripcion: TIME+BRAKE RELAY; FOR AUTOMATIC DRAIN
VALVE/CONSEP; C/W SIDE

INTERRUP.PRESION Haldex 041502309

Fabricante: Haldex
Referencia: 041502309
Descripcion: INTERRUP.PRESION

(MOQ 10); NUT; FOR ECU CLICK-FIT CONNECTOR; (ABS MODAL); FOR Haldex 042516609

Fabricante: Haldex
Referencia: 042516609

Descripcion: (MOQ 10); NUT; FOR ECU CLICK-FIT CONNECTOR; (ABS
MODAL); FOR




- DRAULICFREN

Haldex
(MOQ 10); SPADE CONNECTOR; FOR ELECTRICAL CONNECTION; X1; FO Haldex 042548009

Fabricante: Haldex
Referencia: 042548009

Descripcion: (MOQ 10); SPADE CONNECTOR; FOR ELECTRICAL
CONNECTION; X1; FO

(MOQ 10); SPADE CONNECTOR; FOR ELECTRICAL CONNECTION; X1; FO Haldex 042548109

Fabricante: Haldex
Referencia: 042548109

Descripcion: (MOQ 10); SPADE CONNECTOR; FOR ELECTRICAL
CONNECTION; X1; FO

(MOQ 10); SPADE CONNECTOR; FOR ELECTRICAL CONNECTION; X1; FO Haldex 042549509

Fabricante: Haldex
Referencia: 042549509

Descripcion: (MOQ 10); SPADE CONNECTOR; FOR ELECTRICAL
CONNECTION; X1; FO

PIN; FOR I1SO 7638 Haldex 042572209

Fabricante: Haldex
Referencia: 042572209
Descripcion: PIN; FOR ISO 7638




- DRAULICFREN

Haldex
SOCKET; FOR ISO 7638; MODAL; MODULAR Haldex 042572309

Fabricante: Haldex
Referencia: 042572309
Descripcién: SOCKET; FOR ISO 7638; MODAL; MODULAR

(MOQ 10); PINS Haldex 042615509

Fabricante: Haldex

Referencia: 042615509
@ Descripcion: (MOQ 10); PINS

BACKSHELL Haldex 042619209

Fabricante: Haldex

Referencia: 042619209
@ Descripcion: BACKSHELL

CONNECTION PIN; FOR 24N Haldex 042622409

Fabricante: Haldex

Referencia: 042622409
@ Descripcién: CONNECTION PIN; FOR 24N




- DRAULICFREN

Haldex
PC INTERFACE CARRY CASE; C/W FOAM INSERTS Haldex 042623719

Fabricante: Haldex
Referencia: 042623719

Descripcion: PC INTERFACE CARRY CASE; C/W FOAM INSERTS

CABLE Haldex 042707309

Fabricante: Haldex
Referencia: 042707309
Descripcién: CABLE

ADJUSTMENT TOOL; SOFT DOCKING Haldex 042708309

Fabricante: Haldex
Referencia: 042708309

Descripcion: ADJUSTMENT TOOL; SOFT DOCKING

CABLE; FOR SOFT DOCKING Haldex 042709609

Fabricante: Haldex
Referencia: 042709609
Descripcion: CABLE; FOR SOFT DOCKING




- DRAULICFREN

Haldex
CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 7.0 Haldex 042709709

Fabricante: Haldex
Referencia: 042709709
Descripcion: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 7.0

TIRE PRESSURE MONITORING SYSTEM (TPMS); WHEEL UNIT SENSOR Haldex 042727209

Fabricante: Haldex
Referencia: 042727209

Descripcion: TIRE PRESSURE MONITORING SYSTEM (TPMS); WHEEL
UNIT SENSOR

TIRE PRESSURE MONITORING SYSTEM (TPMS); CABLE STRETCHER TOOL Haldex 042727309

Fabricante: Haldex
Referencia: 042727309

Descripcion: TIRE PRESSURE MONITORING SYSTEM (TPMS); CABLE
STRETCHER TOOL

TAPON CIEGO; PARA COLAS®; CON SOPORTE DE TUBO Haldex 045011609

Fabricante: Haldex
Referencia: 045011609
Descripcion: TAPSN CIEGO; PARA COLAS®; CON SOPORTE DE TUBO




- DRAULICFREN

Haldex
GASKET; FOR LOAD SENSING VALVE (601002...) Haldex 049004009

Fabricante: Haldex
Referencia: 049004009
Descripcion: GASKET; FOR LOAD SENSING VALVE (601002...)

(MOQ 10); BOLT; FOR LEVELLING VALVE; HEXAGON TYPE Haldex 051004909

Fabricante: Haldex

Referencia: 051004909
@ Descripcién: (MOQ 10); BOLT; FOR LEVELLING VALVE; HEXAGON TYPE

(MOQ 10); BOLT; FOR LEVELLING VALVE; HEXAGON TYPE Haldex 051009909

Fabricante: Haldex

Referencia: 051009909
@ Descripcion: (MOQ 10); BOLT; FOR LEVELLING VALVE; HEXAGON TYPE

SCREW; FOR VALVE 352012001 Haldex 051046009

Fabricante: Haldex

Referencia: 051046009
w Descripcién: SCREW; FOR VALVE 352012001




- DRAULICFREN

Haldex
(MOQ 10); WASHER; M16X20; ALUMINIUM Haldex 054002309

Fabricante: Haldex
Referencia: 054002309
Descripcion: (MOQ 10); WASHER; M16X20; ALUMINIUM

(MOQ 10); WASHER; M22X27; ALUMINIUM Haldex 054002909

Fabricante: Haldex

Referencia: 054002909
@ Descripcion: (MOQ 10); WASHER; M22X27; ALUMINIUM

WASHER; FOR RAISE/LOWER VALVE; M8 Haldex 054009409

Fabricante: Haldex

Referencia: 054009409
@ Descripcion: WASHER; FOR RAISE/LOWER VALVE; M8

(MOQ 10); CABLE Haldex 054504009

Fabricante: Haldex

Referencia: 054504009
w Descripcion: (MOQ 10); CABLE




- DRAULICFREN

Haldex
WASHER; FOR MS8; D1: 8,1MM; D2: 14,8MM; H1: 4AMM; DIN127 Haldex 055001109

Fabricante: Haldex
Referencia: 055001109
Descripcion: WASHER; FOR M8; D1: 8,1MM; D2: 14,8MM; H1: 4MM; DIN127

SPEED-FIX OZ* Haldex 055006009

Fabricante: Haldex
Referencia: 055006009
Descripcion: SPEED-FIX OZ*

CLAMP Haldex 056026709

Fabricante: Haldex
Referencia: 056026709
Descripcién: CLAMP

BAIL LATCH; ABS MODULAR; NEW TYPE Haldex 056501109

Fabricante: Haldex
Referencia: 056501109
Descripcion: BAIL LATCH; ABS MODULAR; NEW TYPE




- DRAULICFREN

Haldex
CLEVIS PIN; FOR YOKE; g14MM; 45MM; 2 HOLE Haldex 057012109

Fabricante: Haldex
Referencia: 057012109
Descripciéon: CLEVIS PIN; FOR YOKE; g14MM; 45MM; 2 HOLE

CLEVIS PIN; FOR YOKE; g14MM; 50MM; 2 HOLE Haldex 057012209

Fabricante: Haldex

Referencia: 057012209
@ Descripciéon: CLEVIS PIN; FOR YOKE; g14MM; 50MM; 2 HOLE

CLEVIS PIN; FOR YOKE; g14MM; 31MM; 1 HOLE Haldex 057029809

Fabricante: Haldex

Referencia: 057029809
@ Descripcion: CLEVIS PIN; FOR YOKE; g14MM; 31MM; 1 HOLE

PORT INSERT SLEEVE; FOR ILAS®; FOR PUSH-IN FITTING Haldex 059046409

Fabricante: Haldex

Referencia: 059046409
@ Descripcion: PORT INSERT SLEEVE; FOR ILAS®; FOR PUSH-IN FITTING




- DRAULICFREN

Haldex
CABLE; 2.5; MGX Haldex 059509809

Fabricante: Haldex
Referencia: 059509809
Descripcion: CABLE; 2.5; MGX

CABLE; 3; MGX Haldex 059510409

Fabricante: Haldex
Referencia: 059510409
Descripcion: CABLE; 3; MGX

SENSOR SLEEVE (IS A PACK OF 10X 059512309); PARA SENSOR ABS; Haldex 05951230910

Fabricante: Haldex
Referencia: 05951230910

Descripcion: SENSOR SLEEVE (IS A PACK OF 10X 059512309); PARA
SENSOR ABS;

(MOQ 10); CABLE MARKER (ELASTIC BAND); RED Haldex 059512409

Fabricante: Haldex
Referencia: 059512409
Descripcion: (MOQ 10); CABLE MARKER (ELASTIC BAND); RED




- DRAULICFREN

Haldex
(MOQ 10); CABLE MARKER (ELASTIC BAND); YELLOW Haldex 059512609

Fabricante: Haldex
Referencia: 059512609
Descripcién: (MOQ 10); CABLE MARKER (ELASTIC BAND); YELLOW

AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 8@ INT (MM): 6; 850 Haldex 0670810118

Fabricante: Haldex
Referencia: 0670810118

Descripcion: AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 8@ INT
(MM): 6; 850

AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 8J INT (MM): 6; 100 Haldex 0670810171

Fabricante: Haldex
Referencia: 0670810171

Descripcién: AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 80 INT
(MM): 6; 100

AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 109 INT (MM): 7.5; Haldex 0671012111

Fabricante: Haldex
Referencia: 0671012111

Descripcion: AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 100 INT
(MM): 7.5;




- DRAULICFREN

Haldex
AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 120 INT (MM): 8; 10 Haldex 0671210111

Fabricante: Haldex
Referencia; 0671210111

Descripcion: AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 120 INT
(MM): 8; 10

AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 14@ INT (MM): 10; 1 Haldex 0671420111

Fabricante: Haldex
Referencia: 0671420111

Descripcion: AUTOMOTIVE PNEUMATIC TUBING; @ EXT (MM): 140 INT
(MM): 10; 1

LIMITED STOCK; SOCKET Haldex 072113

Fabricante: Haldex
Referencia: 072113
Descripcion: LIMITED STOCK; SOCKET

LIMITED STOCK; SOCKET Haldex 072123

Fabricante: Haldex
Referencia: 072123
Descripcion: LIMITED STOCK; SOCKET




- DRAULICFREN

Haldex
LIMITED STOCK; CABLE Haldex 073120003

Fabricante: Haldex
Referencia: 073120003
Descripcién: LIMITED STOCK; CABLE

MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 37; NO Haldex 100002166

Fabricante: Haldex
Referencia: 100002166

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 37; NO

MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 37; NO Haldex 100002167

Fabricante: Haldex
Referencia: 100002167

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 37; NO

MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 10; NO Haldex 100101006

Fabricante: Haldex
Referencia: 100101006

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 10; NO




- DRAULICFREN

Haldex
MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 10; NO Haldex 100101367

Fabricante: Haldex
Referencia: 100101367

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 10; NO

MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 10; NO Haldex 102060001

Fabricante: Haldex
Referencia: 102060001

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 10; NO

MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 8; NO. Haldex 103004001

Fabricante: Haldex
Referencia: 103004001

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 8; NO.

MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 10; NO Haldex 103006001

Fabricante: Haldex
Referencia: 103006001

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 10; NO




- DRAULICFREN

Haldex
MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 10; NO Haldex 103007001

Fabricante: Haldex
Referencia: 103007001

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 10; NO

MANUAL BRAKE ADJUSTER; OFFSET; NO. OF SPLINE TEETH: 10; NO. Haldex 104501053

Fabricante: Haldex
Referencia: 104501053

Descripcion: MANUAL BRAKE ADJUSTER; OFFSET; NO. OF SPLINE TEETH:
10; NO.

SQUARE HEAD PLUG 3/4 Haldex 11092

Fabricante: Haldex
Referencia: 11092
Descripcion: SQUARE HEAD PLUG 3/4

SOCKET HEAD PLUG Haldex 11095

Fabricante: Haldex
Referencia: 11095
Descripcién: SOCKET HEAD PLUG




- DRAULICFREN

Haldex
(MOQ: 10); PLUG REDUCER Haldex 11150

Fabricante: Haldex
Referencia: 11150
Descripcion: (MOQ: 10); PLUG REDUCER

S FITTING TUBE CONNE Haldex 11232

Fabricante: Haldex

Referencia: 11232
@ Descripcion: S FITTING TUBE CONNE

S FITTING TUBE CONNE Haldex 11233

Fabricante: Haldex

Referencia: 11233
w Descripcion: S FITTING TUBE CONNE

S FITTING TUBE CONNE Haldex 11235

Fabricante: Haldex

Referencia: 11235
@ Descripcion: S FITTING TUBE CONNE




- DRAULICFREN

Haldex
90° MALE ELBOW NYLON Haldex 11262

Fabricante: Haldex
Referencia; 11262
Descripcién: 90° MALE ELBOW NYLON

BULKHEAD FITTING 1/2 Haldex 11304

Fabricante: Haldex
Referencia: 11304
Descripcién: BULKHEAD FITTING 1/2

DRUM BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 24; WIPE Haldex 120357201

Fabricante: Haldex
Referencia: 120357201

Descripcion: DRUM BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM;
TYPE 24; WIPE

DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 16; BOOT Haldex 120916312

Fabricante: Haldex
Referencia: 120916312

Descripcion: DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM;
TYPE 16; BOOT




- DRAULICFREN

Haldex
DRUM BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 16; WIPE Haldex 120916318

Fabricante: Haldex
Referencia: 120916318

Descripcion: DRUM BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM,;
TYPE 16; WIPE

MANUAL DRAIN VALVE WITH 36" CABLE Haldex 12103

Fabricante: Haldex

Referencia: 12103
@ Descripcién: MANUAL DRAIN VALVE WITH 36" CABLE

S FITTING CHASSIS P.IN/P.IN TU12-TU12 Haldex 121210572

Fabricante: Haldex

Referencia: 121210572
w Descripcion: S FITTING CHASSIS P.IN/P.IN TU12-TU12

LIMITED STOCK; T FITTING TU12-TU12-TU12 Haldex 121230405

Fabricante: Haldex

Referencia: 121230405
@ Descripcion: LIMITED STOCK; T FITTING TU12-TU12-TU12




- DRAULICFREN

Haldex
MOTOR PUMP Haldex 1220701

Fabricante: Haldex
Referencia: 1220701
Descripcion: MOTOR PUMP

DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 16; BOOT Haldex 125160002

Fabricante: Haldex
Referencia: 125160002

Descripcion: DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM;
TYPE 16; BOOT

DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 16; BOOT Haldex 125160009

Fabricante: Haldex
Referencia: 125160009

Descripcion: DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM,;
TYPE 16; BOOT

DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 20; BOOT Haldex 125200002

Fabricante: Haldex
Referencia: 125200002

Descripcion: DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM;
TYPE 20; BOOT




- DRAULICFREN

Haldex
DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 20; BOOT Haldex 125200003

Fabricante: Haldex
Referencia: 125200003

Descripcion: DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM,;
TYPE 20; BOOT

DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 24; BOOT Haldex 125240402

Fabricante: Haldex
Referencia: 125240402

Descripcion: DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM;
TYPE 24; BOOT

DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 24; BOOT Haldex 125240406

Fabricante: Haldex
Referencia: 125240406

Descripcion: DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM;
TYPE 24; BOOT

DIAPHRAGM TYPE 12 Haldex 1262001

Fabricante: Haldex
Referencia: 1262001
Descripcion: DIAPHRAGM TYPE 12




- DRAULICFREN

Haldex
DRUM BRAKE: SERVICE CHAMBER; TYPE 24 Haldex 127240401

Fabricante: Haldex
Referencia: 127240401
Descripcién: DRUM BRAKE: SERVICE CHAMBER; TYPE 24

DC MOTOR; HE2000; 24V; 2KW; C/W OVERHEAT PROTECTION Haldex 1303465

Fabricante: Haldex
Referencia: 1303465

Descripcion: DC MOTOR; HE2000; 24V; 2KW; C/W OVERHEAT
PROTECTION

DISC BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB) Haldex 1312424210

Fabricante: Haldex
Referencia: 1312424210
Descripcion: DISC BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB)

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624004

Fabricante: Haldex
Referencia: 1351624004

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B




- DRAULICFREN

Haldex
DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624005

Fabricante: Haldex
Referencia; 1351624005

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624006

Fabricante: Haldex
Referencia: 1351624006

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624007

Fabricante: Haldex
Referencia: 1351624007

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624008

Fabricante: Haldex
Referencia: 1351624008

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B




- DRAULICFREN

Haldex
DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624012

Fabricante: Haldex
Referencia; 1351624012

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624013

Fabricante: Haldex
Referencia: 1351624013

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624015

Fabricante: Haldex
Referencia: 1351624015

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624016

Fabricante: Haldex
Referencia: 1351624016

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B




- DRAULICFREN

Haldex
DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624017

Fabricante: Haldex
Referencia; 1351624017

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624018

Fabricante: Haldex
Referencia: 1351624018

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1351624019

Fabricante: Haldex
Referencia: 1351624019

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1352024003

Fabricante: Haldex
Referencia: 1352024003

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B




- DRAULICFREN

Haldex
DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1352024004

Fabricante: Haldex
Referencia: 1352024004

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1352024005

Fabricante: Haldex
Referencia: 1352024005

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1352024010

Fabricante: Haldex
Referencia: 1352024010

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 1352024011

Fabricante: Haldex
Referencia: 1352024011

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B




- DRAULICFREN

Haldex
DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR, BLUE SEA Haldex 1362030001

Fabricante: Haldex
Referencia; 1362030001

Descripcién: DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR, BLUE SEA

ACTUADOR 24/30 Haldex 1362430001

Fabricante: Haldex
Referencia: 1362430001
Descripcion: ACTUADOR 24/30

DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR, BLUE SEA Haldex 1362430005

Fabricante: Haldex
Referencia: 1362430005

Descripcion: DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR, BLUE SEA

DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR, BLUE SEA Haldex 1362430006

Fabricante: Haldex
Referencia: 1362430006

Descripcion: DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR, BLUE SEA




- DRAULICFREN

Haldex
DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR, BLUE SEA Haldex 1362430008

Fabricante: Haldex
Referencia; 1362430008

Descripcién: DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR, BLUE SEA

DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR, BLUE SEA Haldex 1362430010

Fabricante: Haldex
Referencia: 1362430010

Descripcion: DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR, BLUE SEA

DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR, BLUE SEA Haldex 1363030001

Fabricante: Haldex
Referencia: 1363030001

Descripcion: DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR, BLUE SEA

LIMITED STOCK; S FITTING TU15-MA16 Haldex 1501L15MA16

Fabricante: Haldex
Referencia: 1501L15MA16
Descripcion: LIMITED STOCK; S FITTING TU15-MA16




- DRAULICFREN

Haldex
FITTING Haldex 15129L12V

Fabricante: Haldex
Referencia:; 15129L12V
Descripcion: FITTING

LIMITED STOCK; FITTING Haldex 15129L18V

Fabricante: Haldex

Referencia: 15129L18V
@ Descripcion: LIMITED STOCK; FITTING

(MOQ: 10); REDUCER TUS8 - FTU12 Haldex 15291128

Fabricante: Haldex

Referencia: 1529128
w Descripcion: (MOQ: 10); REDUCER TU8 - FTU12

T FITTING SWIVEL TUBE/TUBE/TH TU15-TU15-M22F Haldex 15329L15V

Fabricante: Haldex

Referencia: 15329L15V
@ Descripcion: T FITTING SWIVEL TUBE/TUBE/TH TU15-TU15-M22F




- DRAULICFREN

Haldex
MALE C COUPLING; TRAILER; SECONDARY; M22X1.5 Haldex 200016011

Fabricante: Haldex
Referencia: 200016011

Descripcion: MALE C COUPLING; TRAILER; SECONDARY; M22X1.5

MANUAL DRAIN VALVE; M22X1.5 Haldex 206005751

Fabricante: Haldex

Referencia: 206005751
@ Descripcion: MANUAL DRAIN VALVE; M22X1.5

SHUNT VALVE Haldex 207012021

Fabricante: Haldex

Referencia: 207012021
@ Descripcion: SHUNT VALVE

PARK VALVE Haldex 207013021

Fabricante: Haldex

Referencia: 207013021
@ Descripciéon: PARK VALVE




- DRAULICFREN

Haldex
DRUM BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB) Haldex 226202401

Fabricante: Haldex
Referencia: 226202401
Descripcién: DRUM BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB)

DRUM BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB) Haldex 226203000

Fabricante: Haldex

Referencia: 226203000
@ Descripcién: DRUM BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB)

DRUM BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB) Haldex 226243000

Fabricante: Haldex

Referencia: 226243000
w Descripcion: DRUM BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB)

MOTOR PUMP Haldex 24MB22TPR17P200

Fabricante: Haldex

Referencia: 24MB22TPR17P200
w Descripcién: MOTOR PUMP




- DRAULICFREN

Haldex
DC MOTOR; CLASSIC; 24V; 2KW; C/W OVERHEAT PROTECTION Haldex 24MB22TXWA

Fabricante: Haldex
Referencia: 24MB22TXWA

Descripcién: DC MOTOR; CLASSIC; 24V; 2KW; C/W OVERHEAT
PROTECTION

MANIFOLD; 2X 3/2 VALVE Haldex 24VE124175

Fabricante: Haldex
Referencia: 24VE124175
Descripcién: MANIFOLD; 2X 3/2 VALVE

COMPRESOR; KS100 DLU; BOCAS: M22X1.5; VERSION UNIVERSAL KONU Haldex 301110028

Fabricante: Haldex
Referencia: 301110028

Descripcion: COMPRESOR; KS100 DLU; BOCAS: M22X1.5; VERSION
UNIVERSAL KONU

COMPRESOR; KS100 DLE; BOCAS: M22X1.5; EICHER+HANOMAG OLRUCKL Haldex 301112003

Fabricante: Haldex
Referencia: 301112003

Descripcion: COMPRESOR; KS100 DLE; BOCAS: M22X1.5;
EICHER+HANOMAG OLRUCKL




- DRAULICFREN

Haldex
COMPRESOR; K 160 T; BOCAS: M22X1.5; CILINDRO SIMPLE Haldex 301161101

Fabricante: Haldex
Referencia: 301161101
Descripcién: COMPRESOR; K 160 T; BOCAS: M22X1.5; CILINDRO SIMPLE

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.5; RANGE: 0.6+0.4 Haldex 310024001

Fabricante: Haldex
Referencia: 310024001

Descripcién: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.5; RANGE:
0.6+0.4

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.1; RANGE: 0.6+0.4 Haldex 310050001

Fabricante: Haldex
Referencia: 310050001

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.1; RANGE:
0.6+0.4

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 9.0; RANGE: 0.6+0.4 Haldex 310051001

Fabricante: Haldex
Referencia: 310051001

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 9.0; RANGE:
0.6+0.4




- DRAULICFREN

Haldex
SECADOR SENCILLO (SDX); SIN GOVERNOR Haldex 310053001

Fabricante: Haldex
Referencia: 310053001
Descripcién: SECADOR SENCILLO (SDX); SIN GOVERNOR

SINGLE AIR DRIER (SDX); W/O GOVERNOR Haldex 310055001

Fabricante: Haldex

Referencia: 310055001
@ Descripcién: SINGLE AIR DRIER (SDX); W/O GOVERNOR

LIMITED STOCK; T FITTINGS T8/T8/T8 Haldex 31040800

Fabricante: Haldex

Referencia: 31040800
w Descripcion: LIMITED STOCK; T FITTINGS T8/T8/T8

UNLOADER VALVE; CUT-OUT (BAR): 7.3+ Haldex 312029012

Fabricante: Haldex

Referencia: 312029012
@ Descripcion: UNLOADER VALVE; CUT-OUT (BAR): 7.3t




- DRAULICFREN

Haldex
UNLOADER VALVE; CUT-OUT (BAR): 8.1+£0.2; SIGNAL (22/23): CUT- Haldex 312029014

Fabricante: Haldex
Referencia; 312029014

Descripcion: UNLOADER VALVE; CUT-OUT (BAR): 8.1+0.2; SIGNAL (22/23):
CUT-

UNLOADER VALVE; CUT-OUT (BAR): 5.3+0.3; SIGNAL (22/23): CUT- Haldex 312029015

Fabricante: Haldex
Referencia: 312029015

Descripcion: UNLOADER VALVE; CUT-OUT (BAR): 5.3+0.3; SIGNAL (22/23):
CUT-

GOVERNOR; PRESION CONEXION (BAR): 7.2+0.34; RANGO: 1.6+0.5; Haldex 312040011

Fabricante: Haldex
Referencia: 312040011

Descripcién: GOVERNOR; PRESION CONEXION (BAR): 7.2+0.34; RANGO:
1.6+0.5;

VaLVULA REGULACION DE PRESION; CORTE (BAR): 8.1+0.2; SEAAL ( Haldex 312041011

Fabricante: Haldex
Referencia: 312041011

Descripcion: VALVULA REGULACION DE PRESION; CORTE (BAR): 8.1+0.2;
SERAL (




- DRAULICFREN

Haldex
UNLOADER VALVE; CUT-OUT (BAR): 7.3%; SIGNAL (22/23): CUT-OUT Haldex 312043011

Fabricante: Haldex
Referencia: 312043011

Descripcion: UNLOADER VALVE; CUT-OUT (BAR): 7.3+; SIGNAL (22/23):
CUT-OUT

SINGLE CHECK VALVE (SHUTTLE PISTON); PORT 1: M22X1.5; PORT 2 Haldex 314001001

Fabricante: Haldex
Referencia: 314001001

Descripcion: SINGLE CHECK VALVE (SHUTTLE PISTON); PORT 1: M22X1.5;
PORT 2

PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5 Haldex 314012001

Fabricante: Haldex
Referencia: 314012001
Descripcién: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5 Haldex 314012002

Fabricante: Haldex
Referencia: 314012002
Descripcion: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5




- DRAULICFREN

Haldex
PRESSURE PROTECTION VALVE; W/O BACKFLOW:; M22X1.5 Haldex 314012003

Fabricante: Haldex
Referencia: 314012003
Descripcién: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5 Haldex 314012004

Fabricante: Haldex

Referencia: 314012004
@ Descripcién: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5 Haldex 314012005

Fabricante: Haldex

Referencia: 314012005
w Descripcién: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5 Haldex 314012008

Fabricante: Haldex

Referencia: 314012008
w Descripcion: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5




- DRAULICFREN

Haldex
PRESSURE PROTECTION VALVE; W/O BACKFLOW:; M22X1.5 Haldex 314012011

Fabricante: Haldex
Referencia: 314012011
Descripcién: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5 Haldex 314012104

Fabricante: Haldex

Referencia: 314012104
@ Descripcién: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5 Haldex 314012122

Fabricante: Haldex

Referencia: 314012122
w Descripcién: PRESSURE PROTECTION VALVE; W/O BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; C/W BACKFLOW,; M22X1.5 Haldex 314013001

Fabricante: Haldex

Referencia: 314013001
w Descripcion: PRESSURE PROTECTION VALVE; C/W BACKFLOW; M22X1.5




- DRAULICFREN

Haldex
PRESSURE PROTECTION VALVE; C/W BACKFLOW; M22X1.5 Haldex 314013002

Fabricante: Haldex
Referencia: 314013002
Descripcién: PRESSURE PROTECTION VALVE; C/W BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; C/W BACKFLOW,; M22X1.5 Haldex 314013005

Fabricante: Haldex

Referencia: 314013005
@ Descripcién: PRESSURE PROTECTION VALVE; C/W BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; C/W BACKFLOW,; M22X1.5 Haldex 314013008

Fabricante: Haldex

Referencia: 314013008
w Descripcién: PRESSURE PROTECTION VALVE; C/W BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; C/W BACKFLOW,; M22X1.5 Haldex 314013012

Fabricante: Haldex

Referencia: 314013012
w Descripcion: PRESSURE PROTECTION VALVE; C/W BACKFLOW; M22X1.5




- DRAULICFREN

Haldex
PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED; M22X1.5 Haldex 314014002

Fabricante: Haldex
Referencia: 314014002

Descripcion: PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED;
M22X1.5

PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED; M22X1.5 Haldex 314014003

Fabricante: Haldex
Referencia: 314014003

Descripcion: PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED;
M22X1.5

PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED; M22X1.5 Haldex 314014005

Fabricante: Haldex
Referencia: 314014005

Descripcion: PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED;
M22X1.5

PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED; M22X1.5 Haldex 314014008

Fabricante: Haldex
Referencia: 314014008

Descripcion: PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED;
M22X1.5




- DRAULICFREN

Haldex
PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED; M22X1.5 Haldex 314014011

Fabricante: Haldex
Referencia: 314014011

Descripcion: PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED;
M22X1.5

PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED; M22X1.5 Haldex 314014012

Fabricante: Haldex
Referencia: 314014012

Descripcion: PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED;
M22X1.5

PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED; M22X1.5 Haldex 314014013

Fabricante: Haldex
Referencia: 314014013

Descripcion: PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED;
M22X1.5

VaLVULA PROTECC. MULTICIRCUITO; NO. OF PORTS: 5; PRESION APE Haldex 314059001

Fabricante: Haldex
Referencia: 314059001

Descripcion: VALVULA PROTECC. MULTICIRCUITO; NO. OF PORTS: 5;
PRESION APE




- DRAULICFREN

Haldex
PRESSURE PROTECTION VALVE; C/W BACKFLOW; M22X1.5 Haldex 314110001

Fabricante: Haldex
Referencia: 314110001
Descripcién: PRESSURE PROTECTION VALVE; C/W BACKFLOW; M22X1.5

PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED; M22X1.5 Haldex 314114001

Fabricante: Haldex
Referencia: 314114001

Descripcion: PRESSURE PROTECTION VALVE; BACKFLOW: LIMITED;
M22X1.5

SAFETY VALVE; PRE-SET OPENING PRESSURE (BAR): 9.5; SETTING R Haldex 315004003

Fabricante: Haldex
Referencia: 315004003

Descripcion: SAFETY VALVE; PRE-SET OPENING PRESSURE (BAR): 9.5;
SETTING R

SAFETY VALVE; PRE-SET OPENING PRESSURE (BAR): 0.6; SETTING R Haldex 315004031

Fabricante: Haldex
Referencia: 315004031

Descripcion: SAFETY VALVE; PRE-SET OPENING PRESSURE (BAR): 0.6;
SETTING R




- DRAULICFREN

Haldex
SAFETY VALVE; PRE-SET OPENING PRESSURE (BAR): 1.3; SETTING R Haldex 315004121

Fabricante: Haldex
Referencia: 315004121

Descripcion: SAFETY VALVE; PRE-SET OPENING PRESSURE (BAR): 1.3;
SETTING R

S FITTING TEST - M22M (OLD) Haldex 318002001

Fabricante: Haldex
Referencia: 318002001
Descripcion: S FITTING TEST - M22M (OLD)

HYDRAIR® CLUTCH SERVO; DISPLACEMENT VOLUME (CM3): 17.8; LENG Haldex 321019001

Fabricante: Haldex
Referencia: 321019001

Descripcion: HYDRAIR® CLUTCH SERVO; DISPLACEMENT VOLUME (CM3):
17.8; LENG

HYDRAIR® CLUTCH SERVO; DISPLACEMENT VOLUME (CM3): 15.5; LENG Haldex 321030001

Fabricante: Haldex
Referencia: 321030001

Descripcion: HYDRAIR® CLUTCH SERVO; DISPLACEMENT VOLUME (CM3):
15.5; LENG




- DRAULICFREN

Haldex
HYDRAIR® CLUTCH SERVO; DISPLACEMENT VOLUME (CM3): 15.5; LENG Haldex 321031001

Fabricante: Haldex
Referencia: 321031001

Descripcion: HYDRAIR® CLUTCH SERVO; DISPLACEMENT VOLUME (CM3):
15.5; LENG

PNEUMATIC TRAILER CONTROL VALVE; NO. OF LINES: 1 Haldex 329006121

Fabricante: Haldex

Referencia: 329006121
@ Descripcién: PNEUMATIC TRAILER CONTROL VALVE; NO. OF LINES: 1

PNEUMATIC TRAILER CONTROL VALVE; NO. OF LINES: 1 Haldex 329006122

Fabricante: Haldex

Referencia: 329006122
w Descripcion: PNEUMATIC TRAILER CONTROL VALVE; NO. OF LINES: 1

PNEUMATIC TRAILER CONTROL VALVE Haldex 329006352

Fabricante: Haldex

Referencia: 329006352
w Descripcion: PNEUMATIC TRAILER CONTROL VALVE




- DRAULICFREN

Haldex
PNEUMATIC TRAILER CONTROL VALVE; NO. OF LINES: 1 Haldex 329006361

Fabricante: Haldex
Referencia: 329006361
Descripcion: PNEUMATIC TRAILER CONTROL VALVE; NO. OF LINES: 1

PNEUMATIC TRAILER CONTROL VALVE Haldex 329007001

Fabricante: Haldex

Referencia: 329007001
@ Descripcién: PNEUMATIC TRAILER CONTROL VALVE

PNEUMATIC TRAILER CONTROL VALVE Haldex 329015001

Fabricante: Haldex

Referencia: 329015001
@ Descripcion: PNEUMATIC TRAILER CONTROL VALVE

PNEUMATIC TRAILER CONTROL VALVE Haldex 329015002

Fabricante: Haldex

Referencia: 329015002
@ Descripcion: PNEUMATIC TRAILER CONTROL VALVE




- DRAULICFREN

Haldex
HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 6 Haldex 329020201

Fabricante: Haldex
Referencia: 329020201

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 6

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 6 Haldex 329020241

Fabricante: Haldex
Referencia: 329020241

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 6

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 8 Haldex 329020251

Fabricante: Haldex
Referencia: 329020251

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 8

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 8 Haldex 329020261

Fabricante: Haldex
Referencia: 329020261

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 8




- DRAULICFREN

Haldex
HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 8 Haldex 329020262

Fabricante: Haldex
Referencia: 329020262

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 8

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 8 Haldex 329020271

Fabricante: Haldex
Referencia: 329020271

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 8

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 6 Haldex 329020281

Fabricante: Haldex
Referencia: 329020281

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 6

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 1 Haldex 329020291

Fabricante: Haldex
Referencia: 329020291

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 1




- DRAULICFREN

Haldex
HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 1 Haldex 329020301

Fabricante: Haldex
Referencia: 329020301

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 1

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 1 Haldex 329020302

Fabricante: Haldex
Referencia: 329020302

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 1

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 2 Haldex 329020321

Fabricante: Haldex
Referencia: 329020321

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 2

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 4 Haldex 329020371

Fabricante: Haldex
Referencia: 329020371

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 4




- DRAULICFREN

Haldex
HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 4 Haldex 329020381

Fabricante: Haldex
Referencia: 329020381

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 4

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 6 Haldex 329020421

Fabricante: Haldex
Referencia: 329020421

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 6

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 8 Haldex 329020451

Fabricante: Haldex
Referencia: 329020451

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 8

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 8 Haldex 329020511

Fabricante: Haldex
Referencia: 329020511

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 8




- DRAULICFREN

Haldex
HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 1 Haldex 329030001

Fabricante: Haldex
Referencia: 329030001

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 1

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 8 Haldex 329030011

Fabricante: Haldex
Referencia: 329030011

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 8

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 8 Haldex 329031001

Fabricante: Haldex
Referencia: 329031001

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 8

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 3 Haldex 329032001

Fabricante: Haldex
Referencia: 329032001

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 3




- DRAULICFREN

Haldex
HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 2 Haldex 329033001

Fabricante: Haldex
Referencia: 329033001

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 2

HYDRAULIC TRAILER CONTROL VALVE; CONTROL PRESSURE @ 6 BAR: 1 Haldex 329036001

Fabricante: Haldex
Referencia: 329036001

Descripcion: HYDRAULIC TRAILER CONTROL VALVE; CONTROL
PRESSURE @ 6 BAR: 1

VaLVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329101001

Fabricante: Haldex
Referencia: 329101001
Descripcion: VALVULA CONTROL REMOLQUE, HIDRaULICA

VaLVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329103001

Fabricante: Haldex
Referencia: 329103001
Descripcion: VALVULA CONTROL REMOLQUE, HIDRAULICA




- DRAULICFREN

Haldex
VALVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329104001

Fabricante: Haldex
Referencia: 329104001
Descripcion: VALVULA CONTROL REMOLQUE, HIDRaULICA

VALVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329105001

Fabricante: Haldex
Referencia: 329105001
Descripciéon: VALVULA CONTROL REMOLQUE, HIDRaULICA

VaLVULA CONTROL REMOLQUE, HIDRAULICA; ACEITE MINERAL Haldex 329105002

Fabricante: Haldex
Referencia: 329105002

Descripcion: VALVULA CONTROL REMOLQUE, HIDRAULICA; ACEITE
MINERAL

VaLVULA CONTROL REMOLQUE, HIDRAULICA; ACEITE MINERAL Haldex 329107001

Fabricante: Haldex
Referencia: 329107001

Descripcion: VALVULA CONTROL REMOLQUE, HIDRAULICA; ACEITE
MINERAL




- DRAULICFREN

Haldex
VALVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329111001

Fabricante: Haldex
Referencia: 329111001
Descripcion: VALVULA CONTROL REMOLQUE, HIDRaULICA

VALVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329114001

Fabricante: Haldex

Referencia: 329114001
@ Descripciéon: VALVULA CONTROL REMOLQUE, HIDRaULICA

VaLVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329115001

Fabricante: Haldex

Referencia: 329115001
@ Descripcion: VALVULA CONTROL REMOLQUE, HIDRaULICA

VaLVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329116001

Fabricante: Haldex

Referencia: 329116001
@ Descripcion: VALVULA CONTROL REMOLQUE, HIDRAULICA




- DRAULICFREN

Haldex
VALVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329117001

Fabricante: Haldex
Referencia: 329117001
Descripcion: VALVULA CONTROL REMOLQUE, HIDRaULICA

VALVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329123001

Fabricante: Haldex

Referencia: 329123001
@ Descripciéon: VALVULA CONTROL REMOLQUE, HIDRaULICA

VaLVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329124001

Fabricante: Haldex

Referencia: 329124001
@ Descripcion: VALVULA CONTROL REMOLQUE, HIDRaULICA

VaLVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329125001

Fabricante: Haldex

Referencia: 329125001
@ Descripcion: VALVULA CONTROL REMOLQUE, HIDRAULICA




- DRAULICFREN

Haldex
VALVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329126001

Fabricante: Haldex
Referencia: 329126001
Descripcion: VALVULA CONTROL REMOLQUE, HIDRaULICA

VALVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329127001

Fabricante: Haldex
Referencia: 329127001
Descripciéon: VALVULA CONTROL REMOLQUE, HIDRaULICA

VaLVULA CONTROL REMOLQUE, HIDRAULICA Haldex 329128001

Fabricante: Haldex
Referencia: 329128001
Descripcion: VALVULA CONTROL REMOLQUE, HIDRaULICA

VaLVULA CONTROL REMOLQUE, HIDRAULICA; ACEITE MINERAL Haldex 329128002

Fabricante: Haldex
Referencia: 329128002

Descripcion: VALVULA CONTROL REMOLQUE, HIDRAULICA; ACEITE
MINERAL




- DRAULICFREN

Haldex
VALVULA CONTROL REMOLQUE, HIDRAULICA; ACEITE MINERAL Haldex 329128003

Fabricante: Haldex
Referencia: 329128003

Descripcion: VALVULA CONTROL REMOLQUE, HIDRAULICA; ACEITE
MINERAL

PRESSURE CONVERTER, SERIES II; HYD./AIR RATIO: 16:1; MEDIUM: Haldex 33090009

Fabricante: Haldex
Referencia: 33090009

Descripcion: PRESSURE CONVERTER, SERIES II; HYD./AIR RATIO: 16:1;
MEDIUM:

PUSH BUTTON VALVE; ROUND KNOB; PORTS: M12X1.5; W/O BELLOW Haldex 332005021

Fabricante: Haldex
Referencia: 332005021

Descripcion: PUSH BUTTON VALVE; ROUND KNOB; PORTS: M12X1.5; W/O
BELLOW

DOUBLE CHECK VALVE Haldex 333009001

Fabricante: Haldex
Referencia: 333009001
Descripcién: DOUBLE CHECK VALVE




- DRAULICFREN

Haldex

COUPLING HEAD; TRUCK; BLACK; EMERGENCY; PLASTIC COVER; M22X1 Haldex 334004001

Fabricante: Haldex
Referencia: 334004001

Descripcion: COUPLING HEAD; TRUCK; BLACK; EMERGENCY; PLASTIC
COVER; M22X1

COUPLING HEAD; TRAILER; BLACK; EMERGENCY; PLASTIC COVER; M22 Haldex 334007001

Fabricante: Haldex
Referencia: 334007001

Descripcion: COUPLING HEAD; TRAILER; BLACK; EMERGENCY; PLASTIC
COVER; M22

COUPLING HEAD; UNIVERSAL; SERVICE/EMERGENCY; W/O COVER; M22X Haldex 334053231

Haldex 334053261

Fabricante: Haldex
Referencia: 334053231

Descripcion: COUPLING HEAD; UNIVERSAL; SERVICE/EMERGENCY; W/O
COVER,; M22X

Fabricante: Haldex
Referencia: 334053261

Descripcion:



- DRAULICFREN

Haldex

COUPLING HEAD; UNIVERSAL; YELLOW,; SERVICE; PLASTIC COVER; 1/ Haldex 334054231

Haldex 334054301

Fabricante: Haldex
Referencia: 334054231

Descripcion: COUPLING HEAD; UNIVERSAL; YELLOW; SERVICE; PLASTIC
COVER; 1/

Fabricante: Haldex
Referencia: 334054301

Descripcion:

LIMITED STOCK; COUPLING HEAD; UNIVERSAL; YELLOW; SERVICE; PL Haldex 334054451

Fabricante: Haldex
Referencia: 334054451

Descripcion: LIMITED STOCK; COUPLING HEAD; UNIVERSAL; YELLOW;
SERVICE; PL

COUPLING HEAD; TRUCK; YELLOW; SERVICE; PLASTIC COVER; M16X1. Haldex 334064011

Fabricante: Haldex
Referencia: 334064011

Descripcion: COUPLING HEAD; TRUCK; YELLOW,; SERVICE; PLASTIC
COVER,; M16X1.



- DRAULICFREN

Haldex
DUMMY COUPLING HEAD; TRUCK; SERVICE/EMERGENCY Haldex 334066001

Fabricante: Haldex
Referencia: 334066001
Descripcién: DUMMY COUPLING HEAD; TRUCK; SERVICE/EMERGENCY

COUPLING HEAD; TRUCK; YELLOW; SERVICE; PLASTIC COVER; M16X1. Haldex 334078001

Fabricante: Haldex
Referencia: 334078001

Descripcion: COUPLING HEAD; TRUCK; YELLOW; SERVICE; PLASTIC
COVER; M16X1.

COUPLING HEAD; TRUCK; RED; EMERGENCY; PLASTIC COVER; M16X1.5 Haldex 334079001

Fabricante: Haldex
Referencia: 334079001

Descripcion: COUPLING HEAD; TRUCK; RED; EMERGENCY; PLASTIC
COVER; M16X1.5

COUPLING HEAD; TRUCK; RED; EMERGENCY; PLASTIC COVER; M16X1.5 Haldex 334080001

Fabricante: Haldex
Referencia: 334080001

Descripcion: COUPLING HEAD; TRUCK; RED; EMERGENCY; PLASTIC
COVER; M16X1.5




- DRAULICFREN

Haldex
COUPLING HEAD; TRUCK; YELLOW:; SERVICE; PLASTIC COVER; M16X1. Haldex 334081001

Fabricante: Haldex
Referencia: 334081001

Descripcion: COUPLING HEAD; TRUCK; YELLOW,; SERVICE; PLASTIC
COVER; M16X1.

COUPLING HEAD; TRUCK; BLACK; SERVICE/EMERGENCY; PLASTIC COVE Haldex 334082001

Fabricante: Haldex
Referencia: 334082001

Descripcion: COUPLING HEAD; TRUCK; BLACK; SERVICE/EMERGENCY;
PLASTIC COVE

HYDRAIR® CLUTCH SERVO Haldex 337002001

Fabricante: Haldex
Referencia: 337002001
Descripcion: HYDRAIR® CLUTCH SERVO

HYDRAULIC REGULATOR VALVE Haldex 337700401

Fabricante: Haldex
Referencia: 337700401
Descripcion: HYDRAULIC REGULATOR VALVE




- DRAULICFREN

Haldex
VALVULA SUBE/BAJA, ELECTROMAGNETICO; SIN REPOSICI6N ALTURA; Haldex 338032001

Fabricante: Haldex
Referencia: 338032001

Descripcion: VALVULA SUBE/BAJA, ELECTROMAGNETICO; SIN
REPOSICION ALTURA;

COLAS® RAISE / LOWER VALVE; PORTS (MM): 8; C/W AUTOMATIC RET Haldex 338051112

Fabricante: Haldex
Referencia: 338051112

Descripcion: COLAS® RAISE / LOWER VALVE; PORTS (MM): 8; C/W
AUTOMATIC RET

COLAS® RAISE / LOWER VALVE; PORTS (MM): 8; C/W AUTOMATIC RET Haldex 338051141

Fabricante: Haldex
Referencia: 338051141

Descripcion: COLAS® RAISE / LOWER VALVE; PORTS (MM): 8; C/W
AUTOMATIC RET

COLAS® RAISE / LOWER VALVE Haldex 338051151

Fabricante: Haldex
Referencia: 338051151
Descripcion: COLAS® RAISE / LOWER VALVE




- DRAULICFREN

Haldex
COLAS® RAISE / LOWER VALVE; PORTS (MM): 10; C/W AUTOMATIC RE Haldex 338054011

Fabricante: Haldex
Referencia: 338054011

Descripcién: COLAS® RAISE / LOWER VALVE; PORTS (MM): 10; C/W
AUTOMATIC RE

COLAS® RAISE / LOWER VALVE; PORTS (MM): 8; W/O AUTOMATIC RET Haldex 338059101

Fabricante: Haldex
Referencia: 338059101

Descripcion: COLAS® RAISE / LOWER VALVE; PORTS (MM): 8; W/O
AUTOMATIC RET

PISTON CYLINDER; PISTON g (MM): 140; STROKE (MM): 155 Haldex 340011001

Fabricante: Haldex
Referencia: 340011001
Descripcion: PISTON CYLINDER; PISTON g (MM): 140; STROKE (MM): 155

PISTON CYLINDER; PISTON g (MM): 140; STROKE (MM): 155 Haldex 340011021

Fabricante: Haldex
Referencia: 340011021
Descripcion: PISTON CYLINDER; PISTON g (MM): 140; STROKE (MM): 155




- DRAULICFREN

Haldex
PISTON CYLINDER; PISTON g (MM): 80; STROKE (MM): 105 Haldex 340026011

Fabricante: Haldex
Referencia: 340026011
Descripcién: PISTON CYLINDER; PISTON g (MM): 80; STROKE (MM): 105

PISTON CYLINDER; PISTON g (MM): 80; STROKE (MM): 105 Haldex 340027001

Fabricante: Haldex

Referencia: 340027001
@ Descripcién: PISTON CYLINDER; PISTON g (MM): 80; STROKE (MM): 105

PISTON CYLINDER; PISTON g (MM): 80; STROKE (MM): 105 Haldex 340027011

Fabricante: Haldex

Referencia: 340027011
w Descripcion: PISTON CYLINDER; PISTON g (MM): 80; STROKE (MM): 105

PISTON CYLINDER; PISTON g (MM): 65; STROKE (MM): 105 Haldex 340029001

Fabricante: Haldex

Referencia: 340029001
w Descripcion: PISTON CYLINDER; PISTON g (MM): 65; STROKE (MM): 105




- DRAULICFREN

Haldex
PISTON CYLINDER; PISTON g (MM): 65; STROKE (MM): 105 Haldex 340029011

Fabricante: Haldex
Referencia: 340029011
Descripcion: PISTON CYLINDER; PISTON g (MM): 65; STROKE (MM): 105

PISTON CYLINDER; PISTON g (MM): 125; STROKE (MM): 70 Haldex 340076001

Fabricante: Haldex

Referencia: 340076001
@ Descripcion: PISTON CYLINDER; PISTON g (MM): 125; STROKE (MM): 70

PISTON CYLINDER; PISTON g (MM): 125; STROKE (MM): 70 Haldex 340076002

Fabricante: Haldex

Referencia: 340076002
w Descripcién: PISTON CYLINDER; PISTON g (MM): 125; STROKE (MM): 70

PISTON CYLINDER; PISTON g (MM): 150; STROKE (MM): 60 Haldex 340079001

Fabricante: Haldex

Referencia: 340079001
w Descripcion: PISTON CYLINDER; PISTON g (MM): 150; STROKE (MM): 60




- DRAULICFREN

Haldex
PISTON CYLINDER; PISTON g (MM): 150; STROKE (MM): 60 Haldex 340079002

Fabricante: Haldex
Referencia: 340079002
Descripcion: PISTON CYLINDER; PISTON g (MM): 150; STROKE (MM): 60

PISTON CYLINDER; PISTON g (MM): 150; STROKE (MM): 60 Haldex 340079003

Fabricante: Haldex
Referencia: 340079003
Descripcion: PISTON CYLINDER; PISTON g (MM): 150; STROKE (MM): 60

PISTON CYLINDER; FOR WEDGE BRAKE Haldex 340122001

Fabricante: Haldex
Referencia: 340122001
Descripcion: PISTON CYLINDER; FOR WEDGE BRAKE

CONTROL CYLINDER; PISTON g (MM): 35; STROKE (MM): 85; C/W BO Haldex 341004011

Fabricante: Haldex
Referencia: 341004011

Descripcion: CONTROL CYLINDER; PISTON g (MM): 35; STROKE (MM): 85;
C/W BO




- DRAULICFREN

Haldex
CONTROL CYLINDER; PISTON g (MM): 35; STROKE (MM): 50; W/O BO Haldex 341011021

Fabricante: Haldex
Referencia: 341011021

Descripcion: CONTROL CYLINDER; PISTON g (MM): 35; STROKE (MM): 50;
W/O BO

CONTROL CYLINDER; PISTON g (MM): 35; STROKE (MM): 35; C/W BO Haldex 341032011

Fabricante: Haldex
Referencia: 341032011

Descripcion: CONTROL CYLINDER; PISTON g (MM): 35; STROKE (MM): 35;
C/W BO

DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 12 Haldex 342120000

Fabricante: Haldex
Referencia: 342120000

Descripcion: DISC BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM;
TYPE 12

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); B Haldex 34220240000

Fabricante: Haldex
Referencia: 34220240000

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); B




- DRAULICFREN

Haldex
DISC BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB) (20/24); STRO Haldex 342202401

Fabricante: Haldex
Referencia: 342202401

Descripcion: DISC BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB)
(20/24); STRO

DISC BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB) (20/24); STRO Haldex 342202402

Fabricante: Haldex
Referencia: 342202402

Descripcion: DISC BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB)
(20/24); STRO

DISC BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB) Haldex 342202404

Fabricante: Haldex
Referencia: 342202404
Descripcion: DISC BRAKE: PISTON SPRING BRAKE ACTUATOR (PSB)

SERVO EMBRAGUE AIRE/HIDRAULICO; (TIPO PIST6ON); PISTON g (MM) Haldex 343031061

Fabricante: Haldex
Referencia: 343031061

Descripcion: SERVO EMBRAGUE AIRE/HIDRAULICO; (TIPO PISTON);
PIST6N & (MM)




- DRAULICFREN

Haldex
AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 12; STROKE ( Haldex 343101001

Fabricante: Haldex
Referencia: 343101001

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 12;
STROKE (

AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 12; STROKE ( Haldex 343102001

Fabricante: Haldex
Referencia: 343102001

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 12;
STROKE (

AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 14; STROKE ( Haldex 343200001

Fabricante: Haldex
Referencia: 343200001

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 14;
STROKE (

AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 14; STROKE ( Haldex 343201001

Fabricante: Haldex
Referencia: 343201001

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 14;
STROKE (




- DRAULICFREN

Haldex
AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 16; STROKE ( Haldex 343251001

Fabricante: Haldex
Referencia: 343251001

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 16;
STROKE (

AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 16; STROKE ( Haldex 343251002

Fabricante: Haldex
Referencia: 343251002

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 16;
STROKE (

AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 16; STROKE ( Haldex 343252001

Fabricante: Haldex
Referencia: 343252001

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 16;
STROKE (

AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 20; STROKE ( Haldex 343314001

Fabricante: Haldex
Referencia: 343314001

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 20;
STROKE (




- DRAULICFREN

Haldex
AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 24; STROKE ( Haldex 343411001

Fabricante: Haldex
Referencia: 343411001

Descripcion: AIR OVER HYDRAULIC SERVO (DIAPHRAGM TYPE); TYPE 24;
STROKE (

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344008201

Fabricante: Haldex

Referencia: 344008201
@ Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344008221

Fabricante: Haldex

Referencia: 344008221
w Descripcién: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344008231

Fabricante: Haldex

Referencia: 344008231
w Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80




- DRAULICFREN

Haldex
PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344008251

Fabricante: Haldex
Referencia: 344008251
Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344008261

Fabricante: Haldex

Referencia: 344008261
@ Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344008361

Fabricante: Haldex

Referencia: 344008361
w Descripcién: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 150; STROKE (MM): 70 Haldex 344010001

Fabricante: Haldex

Referencia: 344010001
w Descripcion: PISTON CYLINDER; PISTON g (MM): 150; STROKE (MM): 70




- DRAULICFREN

Haldex
PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344019101

Fabricante: Haldex
Referencia: 344019101
Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344019151

Fabricante: Haldex

Referencia: 344019151
@ Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344024001

Fabricante: Haldex

Referencia: 344024001
w Descripcién: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344025001

Fabricante: Haldex

Referencia: 344025001
w Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80




- DRAULICFREN

Haldex
PISTON CYLINDER; PISTON g (MM): 137; STROKE (MM): 57 Haldex 344028021

Fabricante: Haldex
Referencia: 344028021
Descripcion: PISTON CYLINDER; PISTON g (MM): 137; STROKE (MM): 57

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344032101

Fabricante: Haldex

Referencia: 344032101
@ Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344044001

Fabricante: Haldex

Referencia: 344044001
w Descripcién: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344047101

Fabricante: Haldex

Referencia: 344047101
w Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80




- DRAULICFREN

Haldex
PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344048101

Fabricante: Haldex
Referencia: 344048101
Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80 Haldex 344051001

Fabricante: Haldex
Referencia: 344051001
Descripcion: PISTON CYLINDER; PISTON g (MM): 100; STROKE (MM): 80

DRUM BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM; TYPE 16 Haldex 345228158

Fabricante: Haldex
Referencia: 345228158

Descripcion: DRUM BRAKE: SERVICE CHAMBER, SINGLE DIAPHRAGM;
TYPE 16

DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); 1 Haldex 346185001

Fabricante: Haldex
Referencia: 346185001

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); 1




- DRAULICFREN

Haldex
DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR (DDSB); 2 Haldex 346187001

Fabricante: Haldex
Referencia: 346187001

Descripcion: DISC BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR (DDSB); 2

RELAY EMERGENCY VALVE (REV); SINGLE CIRCUIT; (351006011+3520 Haldex 350019001

Fabricante: Haldex
Referencia: 350019001

Descripcion: RELAY EMERGENCY VALVE (REV); SINGLE CIRCUIT;
(351006011+3520

RELAY EMERGENCY VALVE (REV); SINGLE CIRCUIT; (351006001+3520 Haldex 350020201

Fabricante: Haldex
Referencia: 350020201

Descripcion: RELAY EMERGENCY VALVE (REV); SINGLE CIRCUIT,;
(351006001+3520

RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT Haldex 350027202

Fabricante: Haldex
Referencia: 350027202
Descripcion: RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT




- DRAULICFREN

Haldex
RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT Haldex 350028101

Fabricante: Haldex
Referencia: 350028101
Descripcion: RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT

QUICK RELEASE VALVE (QRV); 4 PORTS; PORT TYPE: PARALLEL Haldex 350036201

Fabricante: Haldex
Referencia: 350036201

Descripcion: QUICK RELEASE VALVE (QRV); 4 PORTS; PORT TYPE:
PARALLEL

QUICK RELEASE VALVE (QRV); 2 PORTS; PORT TYPE: PARALLEL Haldex 350037211

Fabricante: Haldex
Referencia: 350037211

Descripcion: QUICK RELEASE VALVE (QRV); 2 PORTS; PORT TYPE:
PARALLEL

RELAY EMERGENCY VALVE (REV); SINGLE CIRCUIT; UNIVERSAL Haldex 351006021

Fabricante: Haldex
Referencia: 351006021

Descripcion: RELAY EMERGENCY VALVE (REV); SINGLE CIRCUIT;
UNIVERSAL




- DRAULICFREN

Haldex
RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT; UNIVERSAL Haldex 351008123

Fabricante: Haldex
Referencia: 351008123

Descripcion: RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT,;
UNIVERSAL

RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT; UNIVERSAL Haldex 351009121

Fabricante: Haldex
Referencia: 351009121

Descripcion: RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT,;
UNIVERSAL

RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT; UNIVERSAL Haldex 351022001

Fabricante: Haldex
Referencia: 351022001

Descripcion: RELAY EMERGENCY VALVE (REV); DUAL CIRCUIT,;
UNIVERSAL

RELEASE VALVE; FOR REV Haldex 352001001

Fabricante: Haldex
Referencia: 352001001
Descripcion: RELEASE VALVE; FOR REV




- DRAULICFREN

Haldex
RELEASE VALVE; 3-WAY Haldex 352006201

Fabricante: Haldex
Referencia: 352006201
Descripcion: RELEASE VALVE; 3-WAY

VARIABLE LOAD VALVE; POSITIONS: 4; @ EMPTY (BAR): 1.5/1.9; @ Haldex 352011101

Fabricante: Haldex
Referencia: 352011101

Descripcion: VARIABLE LOAD VALVE; POSITIONS: 4; @ EMPTY (BAR):
15/1.9; @

VARIABLE LOAD VALVE; POSITIONS: 4; @ EMPTY (BAR): 2.0/2.5; @ Haldex 352011102

Fabricante: Haldex
Referencia: 352011102

Descripcion: VARIABLE LOAD VALVE; POSITIONS: 4; @ EMPTY (BAR):
2.0/25;, @

VARIABLE LOAD VALVE; POSITIONS: 3; @ EMPTY (BAR): 2.0/2.5; @ Haldex 352011122

Fabricante: Haldex
Referencia: 352011122

Descripcion: VARIABLE LOAD VALVE; POSITIONS: 3; @ EMPTY (BAR):
2.0125;, @




- DRAULICFREN

Haldex
PARK VALVE Haldex 352019041

Fabricante: Haldex
Referencia: 352019041
Descripciéon: PARK VALVE

VALVULA MANDO; SIN EMPUARADURA; BOCAS: M16X1.5+M22X1.5; SIN P Haldex 352022001

Fabricante: Haldex

Referencia: 352022001
Descripcion: VALVULA MANDO; SIN EMPURADURA; BOCAS:
M16X1.5+M22X1.5; SIN P

VaLVULA MANDO; SIN EMPUARADURA; BOCAS: M16X1.5+M22X1.5; SIN P Haldex 352022011

Fabricante: Haldex

Referencia: 352022011
Descripcion: VALVULA MANDO; SIN EMPURADURA; BOCAS:
M16X1.5+M22X1.5; SIN P

ILAS® (NEUMATICO/MANUAL); REGUL.DESCENSO AUTO (BAR): 2.5; RA Haldex 352028001

Fabricante: Haldex

Referencia: 352028001
Descripcion: ILAS® (NEUMATICO/MANUAL); REGUL.DESCENSO AUTO
(BAR): 2.5; RA




- DRAULICFREN

Haldex
SHUNT VALVE; GENERAL TRAILERS/SDC Haldex 352029001

Fabricante: Haldex
Referencia: 352029001
Descripcion: SHUNT VALVE; GENERAL TRAILERS/SDC

PARK VALVE; DAIMLER/GENERAL TRAILERS/SDC/SESR SPECIAL Haldex 352030001

Fabricante: Haldex
Referencia: 352030001

Descripcion: PARK VALVE; DAIMLER/GENERAL TRAILERS/SDC/SESR
SPECIAL

ILAS® (S6LO NEUMATICO); REGUL.DESCENSO AUTO (BAR): 3.5; RANG Haldex 352035A35

Fabricante: Haldex
Referencia: 352035A35

Descripcion: ILAS® (S6LO NEUMATICO); REGUL.DESCENSO AUTO (BAR):
3.5; RANG

ILAS® (SOLO NEUMATICO); REGUL.DESCENSO AUTO (BAR): 4.2; RANG Haldex 352035C42

Fabricante: Haldex
Referencia: 352035C42

Descripcion: ILAS® (S6LO NEUMATICO); REGUL.DESCENSO AUTO (BAR):
4.2; RANG




- DRAULICFREN

Haldex
ILAS® (S6LO NEUMATICO); REGUL.DESCENSO AUTO (BAR): 3.0; RANG Haldex 352035H30

Fabricante: Haldex
Referencia: 352035H30

Descripcion: ILAS® (S6LO NEUMATICO); REGUL.DESCENSO AUTO (BAR):
3.0; RANG

ILAS® (SO6LO NEUMATICO); REGUL.DESCENSO AUTO (BAR): 3.6; RANG Haldex 352035P36

Fabricante: Haldex
Referencia: 352035P36

Descripcion: ILAS® (S6LO NEUMATICO); REGUL.DESCENSO AUTO (BAR):
3.6; RANG

CONTROL VALVE; BLACK, SQUARE, C/W LABEL KNOB; PORTS: M16X1.5 Haldex 352042011

Fabricante: Haldex
Referencia: 352042011

Descripcion: CONTROL VALVE; BLACK, SQUARE, C/W LABEL KNOB;
PORTS: M16X1.5

ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR): 2.5; POR Haldex 352047025

Fabricante: Haldex
Referencia: 352047025

Descripcion: ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR):
2.5; POR




- DRAULICFREN

Haldex
ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR): 3.2; POR Haldex 352047032

Fabricante: Haldex
Referencia: 352047032

Descripcion: ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR):
3.2; POR

ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR): 3.5; POR Haldex 352047035

Fabricante: Haldex
Referencia: 352047035

Descripcion: ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR):
3.5; POR

VALVULA ILAS Haldex 352047040

Fabricante: Haldex
Referencia: 352047040
Descripcion: VALVULA ILAS

VALVULA ILAS Haldex 352047045

Fabricante: Haldex
Referencia: 352047045
Descripcion: VALVULA ILAS




- DRAULICFREN

Haldex
ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR): UNSET; P Haldex 352047100

Fabricante: Haldex
Referencia: 352047100

Descripcion: ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR):
UNSET; P

ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR): UNSET; P Haldex 352049100

Fabricante: Haldex
Referencia: 352049100

Descripcion: ILAS® (PNEUMATIC/MANUAL); AUTO-LOWER SETTING (BAR):
UNSET; P

ILAS® (PNEUMATIC ONLY); AUTO-LOWER SETTING (BAR): 5.3; PORTS Haldex 352054X53

Fabricante: Haldex
Referencia: 352054X53

Descripcion: ILAS® (PNEUMATIC ONLY); AUTO-LOWER SETTING (BAR):
5.3; PORTS

PARK VALVE; C/W CHECK VALVE (FOR PARKING BRAKE ONLY) Haldex 352058001

Fabricante: Haldex
Referencia: 352058001

Descripcion: PARK VALVE; C/W CHECK VALVE (FOR PARKING BRAKE
ONLY)




- DRAULICFREN

Haldex
VALVULA ILAS Haldex 352062101

Fabricante: Haldex
Referencia: 352062101
Descripcion: VALVULA ILAS

TRCM,; C/W LABEL Haldex 352067121

Fabricante: Haldex

Referencia: 352067121
@ Descripcion: TRCM; C/W LABEL

TRCM; C/W PRESSURE PROTECTION VALVE; C/W LABEL Haldex 352067201

Fabricante: Haldex

Referencia: 352067201
w Descripciéon: TRCM; C/W PRESSURE PROTECTION VALVE; C/W LABEL

TRCM+; C/W LABEL Haldex 352067621

Fabricante: Haldex

Referencia: 352067621
@ Descripcion: TRCM+; C/W LABEL




- DRAULICFREN

Haldex
ILAS® (ELECTRIC); PORTS (MM): 7X 8 Haldex 352070101

Fabricante: Haldex
Referencia: 352070101
Descripcion: ILAS® (ELECTRIC); PORTS (MM): 7X 8

ILAS® (ELECTRIC); PORTS (MM): 6X 8 Haldex 352070121

Fabricante: Haldex
Referencia: 352070121
Descripcion: ILAS® (ELECTRIC); PORTS (MM): 6X 8

TEM; C/W SHUNT VALVE; W/O FITTINGS; PORT 1: M22X1.5 Haldex 352075011

Fabricante: Haldex
Referencia: 352075011
Descripciéon: TEM; C/W SHUNT VALVE; W/O FITTINGS; PORT 1: M22X1.5

TEM SINGLE KNOB; C/W PRESSURE PROTECTION VALVEW/O FITTINGS; Haldex 352075031

Fabricante: Haldex
Referencia: 352075031

Descripcion: TEM SINGLE KNOB; C/W PRESSURE PROTECTION
VALVEW/O FITTINGS;




- DRAULICFREN

Haldex
TEM SINGLE KNOB; W/O FITTINGS; PORT 1: M22X1.5 Haldex 352075051

Fabricante: Haldex
Referencia: 352075051
Descripcién: TEM SINGLE KNOB; W/O FITTINGS; PORT 1: M22X1.5

TEM,; C/W PRESSURE PROTECTION VALVE; C/W SHUNT VALVE; W/O FIT Haldex 352075201

Fabricante: Haldex
Referencia: 352075201

Descripcion: TEM; C/W PRESSURE PROTECTION VALVE; C/W SHUNT
VALVE; W/O FIT

RELAY VALVE; PORT 1: M22X1.5; PORT 2: M22X1.5; PORT 4: M22X1 Haldex 355018011

Fabricante: Haldex
Referencia: 355018011

Descripcion: RELAY VALVE; PORT 1: M22X1.5; PORT 2: M22X1.5; PORT 4:
M22X1

RELAY VALVE; PORT 1: M22X1.5; PORT 2: M22X1.5; PORT 4: M22X1 Haldex 355093001

Fabricante: Haldex
Referencia: 355093001

Descripcion: RELAY VALVE; PORT 1: M22X1.5; PORT 2: M22X1.5; PORT 4:
M22X1




- DRAULICFREN

Haldex
QUICK RELEASE VALVE (QRV); 1 PORTS; PORT TYPE: DELIVERY Haldex 356001011

Fabricante: Haldex
Referencia: 356001011

Descripcion: QUICK RELEASE VALVE (QRV); 1 PORTS; PORT TYPE:
DELIVERY

REGULATING VALVE; PRESSURE SETTING (BAR): 3.0 (0-4.0) Haldex 356005101

Fabricante: Haldex

Referencia: 356005101
@ Descripcién: REGULATING VALVE; PRESSURE SETTING (BAR): 3.0 (0-4.0)

REGULATING VALVE; PRESSURE SETTING (BAR): 4.0 (0-4.0) Haldex 356005102

Fabricante: Haldex

Referencia: 356005102
w Descripcion: REGULATING VALVE; PRESSURE SETTING (BAR): 4.0 (0-4.0)

REGULATING VALVE; PRESSURE SETTING (BAR): 2.5 (0-4.0) Haldex 356005103

Fabricante: Haldex

Referencia: 356005103
w Descripcion: REGULATING VALVE; PRESSURE SETTING (BAR): 2.5 (0-4.0)




- DRAULICFREN

Haldex
REGULATING VALVE; PRESSURE SETTING (BAR): 2.0 (0.0-5.5); C/W Haldex 356009011

Fabricante: Haldex
Referencia: 356009011

Descripcion: REGULATING VALVE; PRESSURE SETTING (BAR): 2.0 (0.0-
5.5); CIW

REGULATING VALVE; PRESSURE SETTING (BAR): 3.5 (0.0-5.5); C/W Haldex 356010031

Fabricante: Haldex
Referencia: 356010031

Descripcion: REGULATING VALVE; PRESSURE SETTING (BAR): 3.5 (0.0-
5.5); C/W

REGULATING VALVE; PRESSURE SETTING (BAR): 5.5 (0.0-5.5); C/W Haldex 356010032

Fabricante: Haldex
Referencia: 356010032

Descripcién: REGULATING VALVE; PRESSURE SETTING (BAR): 5.5 (0.0-
5.5); C/IW

QUICK RELEASE VALVE (QRV); 4 PORTS; PORT TYPE: PARALLEL Haldex 356022021

Fabricante: Haldex
Referencia: 356022021

Descripcion: QUICK RELEASE VALVE (QRV); 4 PORTS; PORT TYPE:
PARALLEL




- DRAULICFREN

Haldex
QUICK RELEASE VALVE (QRV); 2 PORTS; PORT TYPE: PARALLEL Haldex 356023001

Fabricante: Haldex
Referencia: 356023001

Descripcion: QUICK RELEASE VALVE (QRYV); 2 PORTS; PORT TYPE:
PARALLEL

QUICK RELEASE VALVE (QRV); 2 PORTS; PORT TYPE: PARALLEL Haldex 356023011

Fabricante: Haldex
Referencia: 356023011

Descripcion: QUICK RELEASE VALVE (QRV); 2 PORTS; PORT TYPE:
PARALLEL

QUICK RELEASE VALVE (QRV); 2 PORTS; PORT TYPE: PARALLEL Haldex 356023031

Fabricante: Haldex
Referencia: 356023031

Descripcion: QUICK RELEASE VALVE (QRV); 2 PORTS; PORT TYPE:
PARALLEL

PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 0.5 (0.0-1. Haldex 357001002

Fabricante: Haldex
Referencia: 357001002

Descripcién: PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 0.5
(0.0-1.




- DRAULICFREN

Haldex
PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 7.3 (6.5-8. Haldex 357012021

Fabricante: Haldex
Referencia: 357012021

Descripcion: PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 7.3
(6.5-8.

PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 7.5 (6.5-8. Haldex 357012022

Fabricante: Haldex
Referencia: 357012022

Descripcion: PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 7.5
(6.5-8.

PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 5.0 (0.0-8. Haldex 357012031

Fabricante: Haldex
Referencia: 357012031

Descripcién: PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 5.0
(0.0-8.

PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 6.0 (0.0-8. Haldex 357012032

Fabricante: Haldex
Referencia: 357012032

Descripcién: PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 6.0
(0.0-8.




- DRAULICFREN

Haldex
3/2-WAY SOLENOID VALVE; CABLE EXIT: ABOVE Haldex 360009141

Fabricante: Haldex
Referencia: 360009141
Descripcion: 3/2-WAY SOLENOID VALVE; CABLE EXIT: ABOVE

3/2-WAY SOLENOID VALVE; CABLE EXIT: ABOVE Haldex 360009241

Fabricante: Haldex
Referencia: 360009241
Descripcion: 3/2-WAY SOLENOID VALVE; CABLE EXIT: ABOVE

3/2-WAY VALVE; PORTS: M12X1.5CABLE EXIT: DIN BAYONETT Haldex 360016001

Fabricante: Haldex
Referencia: 360016001

Descripcion: 3/2-WAY VALVE; PORTS: M12X1.5CABLE EXIT: DIN
BAYONETT

3/2-WAY VALVE; PORTS: M12X1.5CABLE EXIT: DIN BAYONETT Haldex 360017001

Fabricante: Haldex
Referencia: 360017001

Descripcion: 3/2-WAY VALVE; PORTS: M12X1.5CABLE EXIT: DIN
BAYONETT




- DRAULICFREN

Haldex
PRESSURE SWITCH; M12X1.5 MALE; CUT-OUT (BAR): 0.7 Haldex 361006102

Fabricante: Haldex
Referencia: 361006102
Descripcién: PRESSURE SWITCH; M12X1.5 MALE; CUT-OUT (BAR): 0.7

PRESSURE SWITCH; M12X1.5 MALE; CUT-OUT (BAR): 4.5 Haldex 361006305

Fabricante: Haldex
Referencia: 361006305
Descripcién: PRESSURE SWITCH; M12X1.5 MALE; CUT-OUT (BAR): 4.5

LIMITED STOCK; PRESSURE SWITCH; M12X1.5 Haldex 361007206

Fabricante: Haldex
Referencia: 361007206
Descripcion: LIMITED STOCK; PRESSURE SWITCH; M12X1.5

SENSOR Haldex 364094061

Fabricante: Haldex
Referencia: 364094061
Descripcién: SENSOR




- DRAULICFREN

Haldex
ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODULAR/MODAL; SOLE Haldex 364115121

Fabricante: Haldex
Referencia: 364115121

Descripcion: ABS MODULATOR RELAY VALVE (MRV); FOR ABS
MODULAR/MODAL; SOLE

POWER CABLE; FOR ISO 7638; 12; MODAL Haldex 364143001

Fabricante: Haldex
Referencia: 364143001
Descripcién: POWER CABLE; FOR ISO 7638; 12; MODAL

ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL; SOLENOID: M2 Haldex 364157021

Fabricante: Haldex
Referencia: 364157021

Descripcion: ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL,;
SOLENOID: M2

ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL; CABLE LENGTH Haldex 364160001

Fabricante: Haldex
Referencia: 364160001

Descripcion: ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL;
CABLE LENGTH




- DRAULICFREN

Haldex
ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL; CABLE LENGTH Haldex 364161021

Fabricante: Haldex
Referencia: 364161021

Descripcion: ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL;
CABLE LENGTH

SENSOR EXTENSION CABLE; 8; MODAL Haldex 364166001

Fabricante: Haldex

Referencia: 364166001
@ Descripcion: SENSOR EXTENSION CABLE; 8; MODAL

SENSOR EXTENSION CABLE; 8; MODAL Haldex 364166011

Fabricante: Haldex

Referencia: 364166011
@ Descripcion: SENSOR EXTENSION CABLE; 8; MODAL

SENSOR EXTENSION CABLE; 8; MODAL Haldex 364166031

Fabricante: Haldex

Referencia: 364166031
@ Descripcion: SENSOR EXTENSION CABLE; 8; MODAL




- DRAULICFREN

Haldex
SENSOR EXTENSION CABLE; 8; MODAL Haldex 364166041

Fabricante: Haldex
Referencia: 364166041
Descripcion: SENSOR EXTENSION CABLE; 8; MODAL

POWER CABLE; FOR ISO 7638; 12; MODAL Haldex 364174001

Fabricante: Haldex

Referencia: 364174001
@ Descripcién: POWER CABLE; FOR ISO 7638; 12; MODAL

ABS KIT; MODAL; 2S/1M; 12V Haldex 364183001

Fabricante: Haldex

Referencia: 364183001
w Descripcion: ABS KIT; MODAL; 2S/1M; 12V

POWER CABLE; FOR ISO 1185 (24N); 10; MODAL Haldex 364193001

Fabricante: Haldex

Referencia: 364193001
@ Descripcion: POWER CABLE; FOR ISO 1185 (24N); 10; MODAL




- DRAULICFREN

Haldex
POWER CABLE; FOR ISO 1185 (24N); 12; MODAL Haldex 364194001

Fabricante: Haldex
Referencia: 364194001
Descripcién: POWER CABLE; FOR ISO 1185 (24N); 12; MODAL

PLUG; FOR ISO 7638; 12; MODAL Haldex 364278001

Fabricante: Haldex

Referencia: 364278001
@ Descripcién: PLUG; FOR ISO 7638; 12; MODAL

ABS KIT; MODAL; 2S/2M; 24V Haldex 364285001

Fabricante: Haldex

Referencia: 364285001
w Descripcion: ABS KIT; MODAL; 2S/2M; 24V

ABS KIT; MODAL,; 4S/2M; 24V Haldex 364290001

Fabricante: Haldex

Referencia: 364290001
w Descripcion: ABS KIT; MODAL; 4S/2M; 24V




- DRAULICFREN

Haldex
ABS KIT; MODULAR 2; 25-4S/2M; 24V Haldex 364308001

Fabricante: Haldex
Referencia: 364308001
Descripcion: ABS KIT; MODULAR 2; 25-4S/2M; 24V

ABS KIT; MODULAR 1; 2S/1M; 24V; NOT FOR SALE IN UK (USE INST Haldex 364328001

Fabricante: Haldex
Referencia: 364328001

Descripcion: ABS KIT; MODULAR 1; 2S/1M; 24V; NOT FOR SALE IN UK (USE
INST

LOOM; FOR ECU CONNECTION; MODULAR 2 Haldex 364339001

Fabricante: Haldex
Referencia: 364339001
Descripcion: LOOM; FOR ECU CONNECTION; MODULAR 2

POWER CABLE; FOR ISO 7638; 12; MODULAR Haldex 364357001

Fabricante: Haldex
Referencia: 364357001
Descripcion: POWER CABLE; FOR ISO 7638; 12; MODULAR




- DRAULICFREN

Haldex
POWER CABLE; FOR ISO 1185 (24N); 9; MODULAR 2 Haldex 364358011

Fabricante: Haldex
Referencia: 364358011
Descripcién: POWER CABLE; FOR ISO 1185 (24N); 9; MODULAR 2

POWER CABLE; FOR ISO 7638; 12; MODULAR Haldex 364362001

Fabricante: Haldex

Referencia: 364362001
@ Descripcién: POWER CABLE; FOR ISO 7638; 12; MODULAR

POWER CABLE; FOR ISO 7638; 14; MODULAR Haldex 364362021

Fabricante: Haldex

Referencia: 364362021
w Descripcién: POWER CABLE; FOR ISO 7638; 14; MODULAR

POWER CABLE; FOR ISO 7638; 18; MODULAR Haldex 364362031

Fabricante: Haldex

Referencia: 364362031
@ Descripcion: POWER CABLE; FOR ISO 7638; 18; MODULAR




- DRAULICFREN

Haldex
POWER CABLE; FOR ISO 7638; 16; MODULAR Haldex 364364031

Fabricante: Haldex
Referencia: 364364031
Descripcién: POWER CABLE; FOR ISO 7638; 16; MODULAR

POWER CABLE; FOR ISO 7638; 12; MODULAR Haldex 364365001

Fabricante: Haldex

Referencia: 364365001
@ Descripcién: POWER CABLE; FOR ISO 7638; 12; MODULAR

POWER CABLE; FOR ISO 7638; 12; MODULAR Haldex 364367001

Fabricante: Haldex

Referencia: 364367001
w Descripcién: POWER CABLE; FOR ISO 7638; 12; MODULAR

POWER CABLE; FOR ISO 7638; MODULAR Haldex 364367011

Fabricante: Haldex

Referencia: 364367011
@ Descripcion: POWER CABLE; FOR ISO 7638; MODULAR




- DRAULICFREN

Haldex
POWER CABLE; FOR ISO 7638; MODULAR Haldex 364367021

Fabricante: Haldex
Referencia: 364367021
Descripcion: POWER CABLE; FOR I1SO 7638; MODULAR

POWER CABLE; FOR ISO 7638; MODULAR Haldex 364367061

Fabricante: Haldex

Referencia: 364367061
@ Descripcién: POWER CABLE; FOR I1SO 7638; MODULAR

POWER CABLE Haldex 364375011

Fabricante: Haldex

Referencia: 364375011
@ Descripcién: POWER CABLE

ABS KIT; MODULAR 2 ADR; 2S-4S/2M; 24V Haldex 364380001

Fabricante: Haldex

Referencia: 364380001
@ Descripcion: ABS KIT; MODULAR 2 ADR; 2S-4S/2M; 24V




- DRAULICFREN

Haldex
ELECTRONIC CONTROL UNIT (ECU) ABS MODULAR 2 Haldex 364381001

Fabricante: Haldex
Referencia: 364381001
Descripcién: ELECTRONIC CONTROL UNIT (ECU) ABS MODULAR 2

POWER CABLE; FOR ISO 7638; MODULAR Haldex 364386001

Fabricante: Haldex

Referencia: 364386001
@ Descripcién: POWER CABLE; FOR I1SO 7638; MODULAR

LOOM; FOR ECU CONNECTION; MODULAR 2 Haldex 364439001

Fabricante: Haldex

Referencia: 364439001
@ Descripcion: LOOM; FOR ECU CONNECTION; MODULAR 2

CABLE; FOR EPV VALVE; SINGLE CONNECTOR; PUR; 1.5M Haldex 364454001

Fabricante: Haldex

Referencia: 364454001
@ Descripcion: CABLE; FOR EPV VALVE; SINGLE CONNECTOR; PUR; 1.5M




- DRAULICFREN

Haldex
POWER CABLE; 12; U-ABS Haldex 364509001

Fabricante: Haldex
Referencia: 364509001
Descripcion: POWER CABLE; 12; U-ABS

CABLE; FOR U-ABS POWER; 15; U-ABS Haldex 364509021

Fabricante: Haldex
Referencia: 364509021
Descripcion: CABLE; FOR U-ABS POWER; 15; U-ABS

POWER CABLE; FOR ISO 7638; 12.5; U-ABS Haldex 364510001

Fabricante: Haldex
Referencia: 364510001
Descripcién: POWER CABLE; FOR ISO 7638; 12.5; U-ABS

POWER CABLE; FOR ISO 7638; 15; U-ABS Haldex 364510021

Fabricante: Haldex
Referencia: 364510021
Descripcion: POWER CABLE; FOR ISO 7638; 15; U-ABS




- DRAULICFREN

Haldex
WHEEL SENSOR UNIT, STRAIGHT; CABLE LENGTH (M): 2 Haldex 364528011

Fabricante: Haldex
Referencia: 364528011
Descripcion: WHEEL SENSOR UNIT, STRAIGHT; CABLE LENGTH (M): 2

ELECTRONIC CONTROL UNIT (ECU) Haldex 364546001

Fabricante: Haldex

Referencia: 364546001
@ Descripcién: ELECTRONIC CONTROL UNIT (ECU)

MODULAR 1; C/W LOOM Haldex 364562001

Fabricante: Haldex

Referencia: 364562001
@ Descripcién: MODULAR 1; C/W LOOM

ABS KIT; U-ABS; 2S-4S/2M/3M; 24V Haldex 364564001

Fabricante: Haldex

Referencia: 364564001
w Descripcion: ABS KIT; U-ABS; 2S-4S/2M/3M; 24V




- DRAULICFREN

Haldex
CABLE; 10; U-ABS Haldex 364572051

Fabricante: Haldex
Referencia: 364572051
Descripcién: CABLE; 10; U-ABS

CABLE; 14; U-ABS Haldex 364572061

Fabricante: Haldex

Referencia: 364572061
@ Descripciéon: CABLE; 14; U-ABS

JUNCTION BOX Haldex 364590001

Fabricante: Haldex

Referencia: 364590001
@ Descripcion: JUNCTION BOX

CABLE; MODULAR Haldex 364602001

Fabricante: Haldex

Referencia: 364602001
@ Descripcién: CABLE; MODULAR




- DRAULICFREN

Haldex
CABLE Haldex 364604001

Fabricante: Haldex
Referencia: 364604001
Descripcién: CABLE

CABLE; FOR SOFT DOCKING EB+ Haldex 364605001

Fabricante: Haldex

Referencia: 364605001
@ Descripcién: CABLE; FOR SOFT DOCKING EB+

CABLE; FOR SOFT DOCKING EB+ Haldex 364606001

Fabricante: Haldex

Referencia: 364606001
@ Descripcion: CABLE; FOR SOFT DOCKING EB+

SIGNALIZATION AND BRAKE LOOM; SOFT DOCKING Haldex 364606011

Fabricante: Haldex

Referencia: 364606011
@ Descripcion: SIGNALIZATION AND BRAKE LOOM; SOFT DOCKING




- DRAULICFREN

Haldex
CABLE; FOR SOFT DOCKING EB+ Haldex 364607001

Fabricante: Haldex
Referencia: 364607001
Descripcién: CABLE; FOR SOFT DOCKING EB+

SOFT DOCKING EB+; SOFT DOCKING Haldex 364608001

Fabricante: Haldex

Referencia: 364608001
@ Descripcion: SOFT DOCKING EB+; SOFT DOCKING

CABLE; FOR SOFT DOCKING EB+ Haldex 364610001

Fabricante: Haldex

Referencia: 364610001
@ Descripcion: CABLE; FOR SOFT DOCKING EB+

SENSOR; FOR SOFT DOCKING EB+, US Haldex 364614001

Fabricante: Haldex

Referencia: 364614001
w Descripcién: SENSOR; FOR SOFT DOCKING EB+, US




- DRAULICFREN

Haldex
BEEPER; SOFT DOCKING Haldex 364616001

Fabricante: Haldex
Referencia: 364616001
Descripcién: BEEPER; SOFT DOCKING

LED OUTLINE MARKER LAMP; SOFT DOCKING Haldex 364617001

Fabricante: Haldex

Referencia: 364617001
@ Descripcion: LED OUTLINE MARKER LAMP; SOFT DOCKING

LED OUTLINE MARKER LAMP; SOFT DOCKING Haldex 364617011

Fabricante: Haldex

Referencia: 364617011
@ Descripcion: LED OUTLINE MARKER LAMP; SOFT DOCKING

CABLE; FOR SOFT DOCKING EB+ Haldex 364622001

Fabricante: Haldex

Referencia: 364622001
w Descripciéon: CABLE; FOR SOFT DOCKING EB+




- DRAULICFREN

Haldex
CABLE; FOR SOFT DOCKING EB+ Haldex 364622011

Fabricante: Haldex
Referencia: 364622011
Descripcién: CABLE; FOR SOFT DOCKING EB+

CABLE; FOR SOFT DOCKING EB+ Haldex 364622021

Fabricante: Haldex
Referencia: 364622021
Descripcién: CABLE; FOR SOFT DOCKING EB+

STOCK LIMITADO; ELECTRICO; BACKUP VEHICLE LIGHT; TENSION (V) Haldex 367091822

Fabricante: Haldex
Referencia: 367091822

Descripcion: STOCK LIMITADO; ELECTRICO; BACKUP VEHICLE LIGHT;
TENSI6N (V)

EXCITER SOLID; NO. OF TEETH: 80; INNER @ (MM): 152; APPLICAT Haldex 393585001

Fabricante: Haldex
Referencia: 393585001

Descripcion: EXCITER SOLID; NO. OF TEETH: 80; INNER @ (MM): 152;
APPLICAT




- DRAULICFREN

Haldex
RESERVOIR; FOR POWER PACK CLASSIC; CAPACITY: 18.7L; MOUNTING Haldex 400TNK4A

Fabricante: Haldex
Referencia: 400TNK4A

Descripcion: RESERVOIR; FOR POWER PACK CLASSIC; CAPACITY: 18.7L;
MOUNTING

LIMITED STOCK; SUPPORTO PER SERBATOIO D310 PIATTO Haldex 4200015

Fabricante: Haldex

Referencia: 4200015
@ Descripcién: LIMITED STOCK; SUPPORTO PER SERBATOIO D310 PIATTO

ZIP TIE; 200X3.6MM Haldex 420CLAMPO001

Fabricante: Haldex

Referencia: 420CLAMP001
@ Descripcion: ZIP TIE; 200X3.6MM

VITE TE M8X30 UNI 5739 ZNB Haldex 420VM0003

Fabricante: Haldex

Referencia: 420VM0003
@ Descripcion: VITE TE M8X30 UNI 5739 ZNB




- DRAULICFREN

Haldex
(MOQ: 10); DADO ESAGONALE M8 ZNB UNI 5588 Haldex 420vM0004

Fabricante: Haldex
Referencia: 420VM0004
Descripcion: (MOQ: 10); DADO ESAGONALE M8 ZNB UNI 5588

(MOQ: 10); RONDELLA PIANA D8 ZNB UNI 6592 Haldex 420VYM0005

Fabricante: Haldex

Referencia: 420VM0005
@ Descripcién: (MOQ: 10); RONDELLA PIANA D8 ZNB UNI 6592

VITE TS M4X40 ZNB UNI 7688 Haldex 420VM0008

Fabricante: Haldex

Referencia: 420VM0008
w Descripcion: VITE TS M4X40 ZNB UNI 7688

DADO ESAGONALE M4 ZNB UNI 5588 Haldex 420VM0009

Fabricante: Haldex

Referencia: 420VM0009
@ Descripcion: DADO ESAGONALE M4 ZNB UNI 5588




- DRAULICFREN

Haldex
WASHER STEEL EXT DIA.: 8,8 MM - INT DIA.: 4,4 MM Haldex 420VvM0013

Fabricante: Haldex
Referencia: 420VM0013
Descripcién: WASHER STEEL EXT DIA.: 8,8 MM - INT DIA.: 4,4 MM

VITE TE M8 X 60 ZNB UNI 5739 Haldex 420VM0017

Fabricante: Haldex

Referencia: 420VM0017
@ Descripcion: VITE TE M8 X 60 ZNB UNI 5739

HEXAGONAL NUT M18 Haldex 420VvM0019

Fabricante: Haldex

Referencia: 420VM0019
@ Descripcion: HEXAGONAL NUT M18

(MOQ: 10); VITE TE M6 X 30 UNI 5739 ZNB Haldex 420VM0023

Fabricante: Haldex

Referencia: 420VM0023
@ Descripcion: (MOQ: 10); VITE TE M6 X 30 UNI 5739 ZNB




- DRAULICFREN

Haldex
ASTA PER LIVELLATRICE DIAM.6 L=300MM Haldex 420VYM0036

Fabricante: Haldex
Referencia: 420VM0036
Descripcion: ASTA PER LIVELLATRICE DIAM.6 L=300MM

DADO ESAGONALE M6 ZNB UNI 5588 Haldex 420VM0039

Fabricante: Haldex

Referencia: 420VM0039
@ Descripcién: DADO ESAGONALE M6 ZNB UNI 5588

DADO ESAGONALE M5 ZNB UNI 5588 Haldex 420VM0042

Fabricante: Haldex

Referencia: 420VM0042
w Descripcién: DADO ESAGONALE M5 ZNB UNI 5588

RONDELLA PIANA D5 ZNB UNI 6592 Haldex 420VM0043

Fabricante: Haldex

Referencia: 420VM0043
@ Descripcion: RONDELLA PIANA D5 ZNB UNI 6592




- DRAULICFREN

Haldex
RONDELLA DENTELLATA D4 ZNB UNI 6798 Haldex 420VM0046

Fabricante: Haldex
Referencia: 420VM0046
Descripcién: RONDELLA DENTELLATA D4 ZNB UNI 6798

VITE ESAGONO INC. M8 X 50 INOX UNI 5931 Haldex 420VM0051

Fabricante: Haldex

Referencia: 420VM0051
@ Descripcién: VITE ESAGONO INC. M8 X 50 INOX UNI 5931

VITE ESAGONO INC M4 X 10 INOX UNI 5931 Haldex 420VM0053

Fabricante: Haldex

Referencia: 420VM0053
w Descripcion: VITE ESAGONO INC M4 X 10 INOX UNI 5931

(MOQ: 10); VITE M6X16 T.S. ZNB UNI5933 Haldex 420VM0073

Fabricante: Haldex

Referencia: 420VM0073
@ Descripcion: (MOQ: 10); VITE M6X16 T.S. ZNB UNI5933




- DRAULICFREN

Haldex
ASTA PER LIVELLATRICE DIAM.6 L=650MM Haldex 420VM0075

Fabricante: Haldex
Referencia: 420VM0075
Descripcion: ASTA PER LIVELLATRICE DIAM.6 L=650MM

VITE TE M8X80 ZNB UNI739 Haldex 420VM0076

Fabricante: Haldex

Referencia: 420VM0076
@ Descripcion: VITE TE M8X80 ZNB UNI739

SHAFT FEMALE 1/8"-M8X0,75 Haldex 420VM0082

Fabricante: Haldex

Referencia: 420VM0082
w Descripciéon: SHAFT FEMALE 1/8"-M8X0,75

BLOCCHETTO ALLUMINIO 4 FORI - 1/4 Haldex 420VM0084

Fabricante: Haldex

Referencia: 420VM0084
@ Descripcion: BLOCCHETTO ALLUMINIO 4 FORI - 1/4




- DRAULICFREN

Haldex
PRESSE éTOUPE PA RAL7035 IP68 PG9 Haldex 420VMO087A

Fabricante: Haldex
Referencia: 420VMO0087A
Descripcién: PRESSE éTOUPE PA RAL7035 IP68 PG9

SQUARE NUT M18X1,5 Haldex 420VM0090

Fabricante: Haldex

Referencia: 420VM0090
@ Descripcién: SQUARE NUT M18X1,5

GOMMINO X ASTA LIVELLATRICE Haldex 420VM0091

Fabricante: Haldex

Referencia: 420VM0091
@ Descripcién: GOMMINO X ASTA LIVELLATRICE

VITE TE M4X40 UNI 5739ZNB Haldex 420VM0096

Fabricante: Haldex

Referencia: 420VM0096
@ Descripcion: VITE TE M4X40 UNI 5739ZNB




- DRAULICFREN

Haldex
DADO M8 ZNB FLANGIATO Haldex 420VvM0098

Fabricante: Haldex
Referencia: 420VM0098
Descripcién: DADO M8 ZNB FLANGIATO

(MOQ: 10); VITE M8X30 ZN FLANGIATA Haldex 420VM0099

Fabricante: Haldex

Referencia: 420VM0099
@ Descripcién: (MOQ: 10); VITE M8X30 ZN FLANGIATA

SUPPORT; FOR MANOMETER, INOX D100 ¥2" BSP Haldex 420VM0104

Fabricante: Haldex

Referencia: 420VM0104
@ Descripcién: SUPPORT; FOR MANOMETER, INOX D100 %" BSP

(MOQ: 10); HEXAGONAL NUT %" GAS Haldex 420VM0105

Fabricante: Haldex

Referencia: 420VM0105
@ Descripcion: (MOQ: 10); HEXAGONAL NUT 2" GAS




- DRAULICFREN

Haldex
VITE M8X20 ZN FLANGIATA Haldex 420VM0108

Fabricante: Haldex
Referencia: 420VM0108
Descripcién: VITE M8X20 ZN FLANGIATA

U BOLT DIAM 310 LG 880 Haldex 420VM0109COMP

Fabricante: Haldex

Referencia: 420VM0109COMP
@ Descripcion: U BOLT DIAM 310 LG 880

DADO ESAGONALE AUTOBL.M8 UNI7473 Haldex 420VM0111

Fabricante: Haldex

Referencia: 420VM0111
@ Descripcién: DADO ESAGONALE AUTOBL.M8 UNI7473

DADO ESAGONALE AUTOBL.M4 UNI7473 Haldex 420VM0113

Fabricante: Haldex

Referencia: 420VM0113
@ Descripcion: DADO ESAGONALE AUTOBL.M4 UNI7473




- DRAULICFREN

Haldex
ASTA PER LIVELLATRICE DIAM.6 L=400MM Haldex 420VYM0115

Fabricante: Haldex
Referencia: 420VM0115
Descripcion: ASTA PER LIVELLATRICE DIAM.6 L=400MM

VITE TE +FL ZINCATA 8.8 DIN6921 8X40 Haldex 420VM0120

Fabricante: Haldex
Referencia: 420VM0120
Descripcion: VITE TE +FL ZINCATA 8.8 DIN6921 8X40

PAD WEAR INDICATOR (PWI); CABLE (MM) 870; SINGLE PAD INDICAT Haldex 420VM0121

Fabricante: Haldex
Referencia: 420VM0121

Descripcion: PAD WEAR INDICATOR (PWI); CABLE (MM) 870; SINGLE PAD
INDICAT

GOMMINO X ASTA LIVELLATRICE TIPO Haldex 420VM0124

Fabricante: Haldex
Referencia: 420VM0124
Descripcion: GOMMINO X ASTA LIVELLATRICE TIPO




- DRAULICFREN

Haldex
VITE M8X16 ZN FLANGIATA Haldex 420VM0125

Fabricante: Haldex
Referencia: 420VM0125
Descripcion: VITE M8X16 ZN FLANGIATA

SHAFT FEMALE 1/8"-M8X1 Haldex 420VM0126

Fabricante: Haldex

Referencia: 420VM0126
@ Descripcion: SHAFT FEMALE 1/8"-M8X1

NUT D3 INOX Haldex 420VM0129

Fabricante: Haldex

Referencia: 420VM0129
@ Descripcion: NUT D3 INOX

WASHER THEETED D3 INOX Haldex 420VM0130

Fabricante: Haldex

Referencia: 420VM0130
@ Descripcion: WASHER THEETED D3 INOX




- DRAULICFREN

Haldex
SCREW M3 X12 INOX Haldex 420vM0131

Fabricante: Haldex
Referencia: 420VM0131
Descripcién: SCREW M3 X12 INOX

ALU MANIFOLD; TUBE g 8MM & 6MM; STRAIGHT: 6MM & 1MM; CHECK P Haldex 420VM0300

Fabricante: Haldex
Referencia: 420VM0300

Descripcion: ALU MANIFOLD; TUBE g 8MM & 6MM; STRAIGHT: 6MM & 1MM,;
CHECK P

ALU MANIFOLD; TUBE g 8MM & 6MM; STRAIGHT: 6MM Haldex 420VM0301

Fabricante: Haldex
Referencia: 420VM0301
Descripciéon: ALU MANIFOLD; TUBE g 8MM & 6MM; STRAIGHT: 6MM

VITE ESAGONO INC M8X20 INOX UNI 5931 Haldex 420VM0303

Fabricante: Haldex
Referencia: 420VM0303
Descripcion: VITE ESAGONO INC M8X20 INOX UNI 5931




- DRAULICFREN

Haldex
VITE ESAGONO INC. M8X16 INOX UNI 5931 Haldex 420VM0304

Fabricante: Haldex
Referencia: 420VM0304
Descripcion: VITE ESAGONO INC. M8X16 INOX UNI 5931

STAFFA PER ILAS * 131919494 Haldex 420VP0034

Fabricante: Haldex

Referencia: 420VP0034
@ Descripcién: STAFFA PER ILAS * 131919494

LINKAGE; FOR LEVELLING VALVE; SRK 168 Haldex 48100225

Fabricante: Haldex

Referencia: 48100225
w Descripcion: LINKAGE; FOR LEVELLING VALVE; SRK 168

LINKAGE; FOR LEVELLING VALVE; SRK 225 Haldex 48100287

Fabricante: Haldex

Referencia: 48100287
@ Descripcion: LINKAGE; FOR LEVELLING VALVE; SRK 225




- DRAULICFREN

Haldex
SOLENOID; MOTOR: CLASSIC MB 769; 24V Haldex 5013200

Fabricante: Haldex
Referencia: 5013200
Descripcién: SOLENOID; MOTOR: CLASSIC MB 769; 24V

START SWITCH; MOTOR MG/MB/MD/MA/MF; 24V Haldex 5021600

Fabricante: Haldex

Referencia: 5021600
@ Descripcién: START SWITCH; MOTOR MG/MB/MD/MA/MF; 24V

RACK; FOR VERSION AA1 Haldex 51326

Fabricante: Haldex

Referencia: 51326
@ Descripcion: RACK; FOR VERSION AA1l

ROTARY CONNECTOR; 6 ViAS Haldex 531040001

Fabricante: Haldex

Referencia: 531040001
w Descripcién: ROTARY CONNECTOR; 6 VIiAS




- DRAULICFREN

Haldex
JOINT CU 18X22 Haldex 54002709

Fabricante: Haldex
Referencia: 54002709
Descripcién: JOINT CU 18X22

VALVE LIFTER; FOR AUTOMATIC DRAIN VALVE/CONSEP; FOR ADV/CONS Haldex 54183S

Fabricante: Haldex
Referencia: 54183S

Descripcion: VALVE LIFTER; FOR AUTOMATIC DRAIN VALVE/CONSEP;
FOR ADV/CONS

3/2-WAY VALVE; W/O KNOB; PORTS: M14X1.5 Haldex 554005001

Fabricante: Haldex
Referencia: 554005001
Descripcion: 3/2-WAY VALVE; W/O KNOB; PORTS: M14X1.5

PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 0.3; M12X1. Haldex 567006001

Fabricante: Haldex
Referencia: 567006001

Descripcion: PRESSURE LIMITING VALVE; PRE-SET PRESSURE (BAR): 0.3;
M12X1.




- DRAULICFREN

Haldex
3/2 WAY VALVE Haldex 580001

Fabricante: Haldex
Referencia: 580001
Descripcion: 3/2 WAY VALVE

3/2 WAY VALVE,; 1/8; BI-STABLE C/W TOP LEVER Haldex 580002

Fabricante: Haldex

Referencia: 580002
@ Descripcién: 3/2 WAY VALVE; 1/8; BI-STABLE C/W TOP LEVER

PRESSURE LIMITING VALVE Haldex 580003

Fabricante: Haldex

Referencia: 580003
@ Descripcion: PRESSURE LIMITING VALVE

3/2 WAY VALVE; 1/8; NORMALLY OPENED-PNEUMATIC PILOT Haldex 580004

Fabricante: Haldex

Referencia: 580004
@ Descripcion: 3/2 WAY VALVE; 1/8; NORMALLY OPENED-PNEUMATIC PILOT




- DRAULICFREN

Haldex
QUICK RELEASE VALVE (QRV) Haldex 580005

Fabricante: Haldex
Referencia: 580005
Descripcion: QUICK RELEASE VALVE (QRV)

3/2 WAY VALVE; 1/8"; ROLLER LEVER Haldex 580006

Fabricante: Haldex

Referencia: 580006
@ Descripcion: 3/2 WAY VALVE; 1/8"; ROLLER LEVER

SELF STEERING AXLE VALVE Haldex 580009

Fabricante: Haldex

Referencia: 580009
w Descripcion: SELF STEERING AXLE VALVE

DOUBLE CHECK VALVE; 1/8 Haldex 580011

Fabricante: Haldex

Referencia: 580011
@ Descripcién: DOUBLE CHECK VALVE; 1/8




- DRAULICFREN

Haldex
ONE WAY FLOW REGULATOR Haldex 580013

Fabricante: Haldex
Referencia: 580013
Descripcion: ONE WAY FLOW REGULATOR

3/2 WAY VALVE; 1/8; SOLENOID Haldex 580014K

Fabricante: Haldex
Referencia: 580014K
Descripcion: 3/2 WAY VALVE; 1/8; SOLENOID

3/2 WAY VALVE; 1/8; NORMALLY CLOSED PNEUMATIC PILOT-SPRING Haldex 580019

Fabricante: Haldex
Referencia: 580019

Descripcion: 3/2 WAY VALVE; 1/8; NORMALLY CLOSED PNEUMATIC PILOT-
SPRING

3/2 WAY VALVE; 1/8; SOLENOID Haldex 580023K

Fabricante: Haldex
Referencia: 580023K
Descripcion: 3/2 WAY VALVE; 1/8; SOLENOID




- DRAULICFREN

Haldex
5/2 WAY VALVE; 1/4; NORMALLY OPEN DETENTED Haldex 580024

Fabricante: Haldex
Referencia: 580024
Descripcion: 5/2 WAY VALVE; 1/4; NORMALLY OPEN DETENTED

3/2 WAY VALVE; 1/4; SOLENOID Haldex 580027K

Fabricante: Haldex

Referencia: 580027K
@ Descripcion: 3/2 WAY VALVE; 1/4; SOLENOID

CONTROL VALVE Haldex 580028

Fabricante: Haldex

Referencia: 580028
@ Descripcién: CONTROL VALVE

5/2 WAY VALVE; 1/4; PNEUMATIC PILOT Haldex 580032

Fabricante: Haldex

Referencia: 580032
@ Descripcion: 5/2 WAY VALVE; 1/4; PNEUMATIC PILOT




- DRAULICFREN

Haldex
3/2 WAY VALVE; 1/4; SOLENOID Haldex 580033K

Fabricante: Haldex
Referencia: 580033K
Descripcion: 3/2 WAY VALVE; 1/4; SOLENOID

100CC CAPACITY AIR TANK Haldex 580035

Fabricante: Haldex

Referencia: 580035
@ Descripciéon: 100CC CAPACITY AIR TANK

PRESSURE LIMITING VALVE M16X1.5 ADJUST. AT 7.5 BAR Haldex 580036

Fabricante: Haldex

Referencia: 580036
@ Descripcion: PRESSURE LIMITING VALVE M16X1.5 ADJUST. AT 7.5 BAR

3/2 WAY VALVE; 1/8; SOLENOID Haldex 580038K

Fabricante: Haldex

Referencia: 580038K
w Descripcion: 3/2 WAY VALVE; 1/8; SOLENOID




- DRAULICFREN

Haldex
DOUBLE CHECK VALVE; 1/4 Haldex 580039

Fabricante: Haldex
Referencia: 580039
Descripcién: DOUBLE CHECK VALVE; 1/4

3/2 WAY VALVE; 1/8; SOLENOID Haldex 580040K

Fabricante: Haldex

Referencia: 580040K
@ Descripcion: 3/2 WAY VALVE; 1/8; SOLENOID

3/2 WAY VALVE; 1/8; SOLENOID Haldex 580042K

Fabricante: Haldex

Referencia: 580042K
w Descripcion: 3/2 WAY VALVE; 1/8; SOLENOID

PRESSURE GAUGE; @50MM; 1/8 Haldex 580044

Fabricante: Haldex

Referencia: 580044
@ Descripcion: PRESSURE GAUGE; @50MM; 1/8




- DRAULICFREN

Haldex
3/2 WAY VALVE; 1/8; C/W RED KNOB Haldex 580050

Fabricante: Haldex
Referencia: 580050
Descripcién: 3/2 WAY VALVE; 1/8; C/W RED KNOB

3/2 WAY VALVE; 1/8; SOLENOID Haldex 580060

Fabricante: Haldex

Referencia: 580060
@ Descripcion: 3/2 WAY VALVE; 1/8; SOLENOID

5/2 WAY VALVE; 1/8; NORMALLY OPENED Haldex 580061

Fabricante: Haldex

Referencia: 580061
@ Descripcion: 5/2 WAY VALVE; 1/8; NORMALLY OPENED

5/3 WAY VALVE; 1/8"; PNEUMATIC Haldex 580062

Fabricante: Haldex

Referencia: 580062
@ Descripcion: 5/3 WAY VALVE; 1/8"; PNEUMATIC




- DRAULICFREN

Haldex
DC COIL Haldex 580066K

Fabricante: Haldex
Referencia: 580066K
Descripciéon: DC COIL

3/2 WAY VALVE; 1/4; NORMALLY CLOSED Haldex 580067

Fabricante: Haldex

Referencia: 580067
@ Descripcion: 3/2 WAY VALVE; 1/4; NORMALLY CLOSED

PRESSURE GAUGE; 63MM; 1/4" Haldex 580068X

Fabricante: Haldex

Referencia: 580068X
w Descripcion: PRESSURE GAUGE; 63MM; 1/4"

3/2 WAY VALVE; 1/8 Haldex 580070

Fabricante: Haldex

Referencia: 580070
@ Descripcion: 3/2 WAY VALVE; 1/8




- DRAULICFREN

Haldex
3/2 WAY VALVE; 1/4; NORMALLY CLOSED Haldex 580071

Fabricante: Haldex
Referencia: 580071
Descripcion: 3/2 WAY VALVE; 1/4; NORMALLY CLOSED

SPECIAL 3/2 WAY VALVE 1/8, WITH MANUAL BI-STABLE Haldex 580073

Fabricante: Haldex

Referencia: 580073
@ Descripcién: SPECIAL 3/2 WAY VALVE 1/8, WITH MANUAL BI-STABLE

5/2 WAY VALVE; 24V; 2W +/- 10% Haldex 580074

Fabricante: Haldex

Referencia: 580074
@ Descripcion: 5/2 WAY VALVE; 24V; 2W +/- 10%

3/2 WAY VALVE; 1/8; SOLENOID Haldex 580075K

Fabricante: Haldex

Referencia: 580075K
w Descripcion: 3/2 WAY VALVE; 1/8; SOLENOID




- DRAULICFREN

Haldex
3/2 WAY VALVE; 1/8"; WITH MANUAL BI-STABLE Haldex 580078

Fabricante: Haldex
Referencia: 580078
Descripcion: 3/2 WAY VALVE; 1/8"; WITH MANUAL BI-STABLE

PRESSURE GAUGE; 0-10 BAR Haldex 580082

Fabricante: Haldex

Referencia: 580082
@ Descripcion: PRESSURE GAUGE; 0-10 BAR

3/2 WAY VALVE; 1/8; NORMALLY CLOSED/OPENED Haldex 580084

Fabricante: Haldex

Referencia: 580084
@ Descripcion: 3/2 WAY VALVE; 1/8; NORMALLY CLOSED/OPENED

5/2 WAY VALVE; + CONNECTOR; COMPLETE Haldex 580085K

Fabricante: Haldex

Referencia: 580085K
@ Descripcion: 5/2 WAY VALVE; + CONNECTOR; COMPLETE




- DRAULICFREN

Haldex
3/2 WAY VALVE; 1/4; SOLENOID Haldex 580086C

Fabricante: Haldex
Referencia: 580086C
Descripcion: 3/2 WAY VALVE; 1/4; SOLENOID

3/2 WAY MICRO VALVE; NORMALLY CLOSED; M5 THREADED Haldex 580090

Fabricante: Haldex

Referencia: 580090
@ Descripcién: 3/2 WAY MICRO VALVE; NORMALLY CLOSED; M5 THREADED

DEVIATORE DA CRUSCOTTO Haldex 580097

Fabricante: Haldex

Referencia: 580097
w Descripcion: DEVIATORE DA CRUSCOTTO

GHIERA DI BLOCCAGGIO Haldex 580098

Fabricante: Haldex

Referencia: 580098
w Descripciéon: GHIERA DI BLOCCAGGIO




- DRAULICFREN

Haldex
5/2 WAY MANUAL VALVE; C/W TOPLEVER; 522L Haldex 580109

Fabricante: Haldex
Referencia: 580109
Descripcion: 5/2 WAY MANUAL VALVE; C/W TOPLEVER; 522L

PRESSURE PROTECTION VALVE Haldex 580111

Fabricante: Haldex
Referencia: 580111
Descripcién: PRESSURE PROTECTION VALVE

AXLE LIFT VALVE Haldex 580LP1

Fabricante: Haldex
Referencia: 580LP1
Descripcion: AXLE LIFT VALVE

LOAD SENSING VALVE; MECHANICAL; MOUNT HEIGHT (MM): 100-985 Haldex 601002071

Fabricante: Haldex
Referencia: 601002071

Descripcion: LOAD SENSING VALVE; MECHANICAL; MOUNT HEIGHT (MM):
100-985




- DRAULICFREN

Haldex
LOAD SENSING VALVE; MECHANICAL; MOUNT HEIGHT (MM): 120-1025 Haldex 601013001

Fabricante: Haldex
Referencia: 601013001

Descripcion: LOAD SENSING VALVE; MECHANICAL; MOUNT HEIGHT (MM):
120-1025

DC MOTOR; HE2000; 24V; 2KW; C/W OVERHEAT PROTECTION Haldex 6011400

Fabricante: Haldex
Referencia: 6011400

Descripcion: DC MOTOR; HE2000; 24V; 2KW; C/W OVERHEAT
PROTECTION

LEVELLING VALVE; 1.25; M12X1.5; LEVER: W/O (ROUND) Haldex 612017001

Fabricante: Haldex
Referencia: 612017001
Descripcion: LEVELLING VALVE; 1.25; M12X1.5; LEVER: W/O (ROUND)

LEVELLING VALVE; 1.25; M12X1.5; LEVER: LOOSE/ROUND Haldex 612017061

Fabricante: Haldex
Referencia: 612017061
Descripcion: LEVELLING VALVE; 1.25; M12X1.5; LEVER: LOOSE/ROUND




- DRAULICFREN

Haldex

LEVELLING VALVE; 3.0; M12X1.5; LEVER: LOOSE/ROUND Haldex 612017091

Fabricante: Haldex
Referencia: 612017091
Descripcion: LEVELLING VALVE; 3.0; M12X1.5; LEVER: LOOSE/ROUND

LEVELLING VALVE; 1.3; M12X1.5+M16X1.5; LEVER: W/O (FLAT) Haldex 612031001

Fabricante: Haldex
Referencia: 612031001

Descripcion: LEVELLING VALVE; 1.3; M12X1.5+M16X1.5; LEVER: W/O
(FLAT)

LEVELLING VALVE; 1.3; M12X1.5+M16X1.5; LEVER: W/O (FLAT) Haldex 612031011

Fabricante: Haldex
Referencia: 612031011

Descripcion: LEVELLING VALVE; 1.3; M12X1.5+M16X1.5; LEVER: W/O
(FLAT)

LEVELLING VALVE, EGP; 1.25; M12X1.5; LEVER: W/O (ROUND) Haldex 612035001

Fabricante: Haldex
Referencia: 612035001

Descripcion: LEVELLING VALVE, EGP; 1.25; M12X1.5; LEVER: W/O
(ROUND)



- DRAULICFREN

Haldex

LEVELLING VALVE, EGP; M12X1.5; PUSH-IN; LEVER: LOOSE/ROUND Haldex 612035081

Fabricante: Haldex
Referencia: 612035081

Descripcion: LEVELLING VALVE, EGP; M12X1.5; PUSH-IN; LEVER:
LOOSE/ROUND

LEVELLING VALVE, EGP; M12X1.5; PUSH-IN; LEVER: LOOSE/ROUND Haldex 612035091

Fabricante: Haldex
Referencia: 612035091

Descripcion: LEVELLING VALVE, EGP; M12X1.5; PUSH-IN; LEVER:
LOOSE/ROUND

LEVELLING VALVE, EGP; 5.0; 1/4"-18NPTF; PUSH-IN Haldex 612041021

LINKAGE Haldex 612043001

Fabricante: Haldex
Referencia: 612041021
Descripcion: LEVELLING VALVE, EGP; 5.0; 1/4"-18NPTF; PUSH-IN

Fabricante: Haldex
Referencia: 612043001
Descripcion: LINKAGE



- DRAULICFREN

Haldex
LEVELLING VALVE, EGP; 3.0; M12X1.5; LEVER: W/O (ROUND) Haldex 612046251

Fabricante: Haldex
Referencia: 612046251
Descripciéon: LEVELLING VALVE, EGP; 3.0; M12X1.5; LEVER: W/O (ROUND)

LEVELLING VALVE, EGP; 3.0; M12X1.5; LEVER: W/O (ROUND) Haldex 612046252

Fabricante: Haldex

Referencia: 612046252
@ Descripcion: LEVELLING VALVE, EGP; 3.0; M12X1.5; LEVER: W/O (ROUND)

NIVELADORA 2 ALTURAS Haldex 612046261

Fabricante: Haldex

Referencia: 612046261
@ Descripcion: NIVELADORA 2 ALTURAS

LEVELLING VALVE, EGP; 1.25; 8X1; LEVER: LOOSE/ROUND Haldex 612046271

Fabricante: Haldex

Referencia: 612046271
@ Descripcion: LEVELLING VALVE, EGP; 1.25; 8X1; LEVER: LOOSE/ROUND




- DRAULICFREN

Haldex
LEVELLING VALVE, EGP; 3.0; 8X1; PUSH-IN; LEVER: LOOSE/ROUND Haldex 612046461

Fabricante: Haldex
Referencia: 612046461

Descripcion: LEVELLING VALVE, EGP; 3.0; 8X1; PUSH-IN; LEVER:
LOOSE/ROUND

LEVELLING VALVE, EGP; 1.25; M12X1.5; LEVER: ASSEMBLED/FLAT/S Haldex 612048101

Fabricante: Haldex
Referencia: 612048101

Descripcion: LEVELLING VALVE, EGP; 1.25; M12X1.5; LEVER:
ASSEMBLED/FLAT/S

LEVELLING VALVE, EGP; 3.0; M12X1,5; LEVER: ASSEMBLED/FLAT/60 Haldex 612048191

Fabricante: Haldex
Referencia: 612048191

Descripcion: LEVELLING VALVE, EGP; 3.0; M12X1,5; LEVER:
ASSEMBLED/FLAT/60

LEVELLING VALVE, EGP; 4.0; 8X1; PUSH-IN; LEVER: LOOSE/ROUND Haldex 612056001

Fabricante: Haldex
Referencia: 612056001

Descripcion: LEVELLING VALVE, EGP; 4.0; 8X1; PUSH-IN; LEVER:
LOOSE/ROUND




- DRAULICFREN

Haldex
ALU MANIFOLD; TUBE g 8MM & 12MM; STRAIGHT: 7MM & 1MM Haldex 612080001

Fabricante: Haldex
Referencia: 612080001

Descripcion: ALU MANIFOLD; TUBE g 8MM & 12MM; STRAIGHT: 7TMM &
1MM

ALU MANIFOLD; TUBE g 8MM; STRAIGHT: 8MM Haldex 612080011

Fabricante: Haldex
Referencia: 612080011
Descripciéon: ALU MANIFOLD; TUBE g 8MM; STRAIGHT: 8MM

REMAN COMPRESSOR MAN 515 410 0600 7 (CORE PN=92051541006007) Haldex 62051541006007

Fabricante: Haldex
Referencia: 62051541006007

Descripcion: REMAN COMPRESSOR MAN 515 410 0600 7 (CORE
PN=92051541006007)

REMAN COMPRESSOR VOLVO RMP9125140040 Haldex 6209125140040

Fabricante: Haldex
Referencia: 6209125140040
Descripcion: REMAN COMPRESSOR VOLVO RMP9125140040




- DRAULICFREN

Haldex
REMAN COMPRESSOR SCANIA LK4941 (CORE PN=920LK4941) Haldex 620LK4941

Fabricante: Haldex
Referencia: 620LK4941

Descripcion: REMAN COMPRESSOR SCANIA LK4941 (CORE
PN=920LK4941)

REMAN COMPRESSOR MAN LP3980 (CORE PN=920LP3980) Haldex 620LP3980

Fabricante: Haldex

Referencia: 620LP3980
@ Descripcién: REMAN COMPRESSOR MAN LP3980 (CORE PN=920LP3980)

REMAN COMPRESSOR MAN LP3997 (CORE PN=920LP3997) Haldex 620LP3997

Fabricante: Haldex

Referencia: 620LP3997
w Descripcién: REMAN COMPRESSOR MAN LP3997 (CORE PN=920LP3997)

REMAN COMPRESSOR RVI LP4851 (CORE PN=920LP4851) Haldex 620LP4851

Fabricante: Haldex

Referencia: 620LP4851
w Descripcion: REMAN COMPRESSOR RVI LP4851 (CORE PN=920LP4851)




- DRAULICFREN

Haldex
CENTRE SECTION REPAIR KIT; FOR TWIN AIR DRIER; 10 BAR Haldex 71036

Fabricante: Haldex
Referencia:; 71036
Descripcién: CENTRE SECTION REPAIR KIT; FOR TWIN AIR DRIER; 10 BAR

REPAIR KIT; FOR TWIN AIR DRIER SHUTTLE VALVE Haldex 71038

Fabricante: Haldex
Referencia: 71038
Descripciéon: REPAIR KIT; FOR TWIN AIR DRIER SHUTTLE VALVE

AIR DRIER CARTRIDGE+REPAIR KIT; FOR SINGLE AIR DRIER Haldex 71054

Fabricante: Haldex
Referencia: 71054
Descripcion: AIR DRIER CARTRIDGE+REPAIR KIT; FOR SINGLE AIR DRIER

REPAIR KIT; FOR SINGLE AIR DRIER NON-RETURN VALVE OUTLET Haldex 71060

Fabricante: Haldex
Referencia: 71060

Descripcion: REPAIR KIT; FOR SINGLE AIR DRIER NON-RETURN VALVE
OUTLET




- DRAULICFREN

Haldex
TWIN AIR DRIER (TD); SERIES 200; W/O GOVERNOR Haldex 71206

Fabricante: Haldex
Referencia: 71206
Descripcion: TWIN AIR DRIER (TD); SERIES 200; W/O GOVERNOR

AUTOMATIC DRAIN VALVE (ADV); (ELEC); 1/4" NPTF Haldex 71313

Fabricante: Haldex

Referencia: 71313
@ Descripcién: AUTOMATIC DRAIN VALVE (ADV); (ELEC); 1/4" NPTF

AUTOMATIC DRAIN VALVE (ADV); (ELEC); M22X1.5 Haldex 71317S

Fabricante: Haldex

Referencia: 71317S
w Descripcion: AUTOMATIC DRAIN VALVE (ADV); (ELEC); M22X1.5

AUTOMATIC DRAIN VALVE (ADV); (ELEC); M22X1.5 Haldex 71325

Fabricante: Haldex

Referencia: 71325
@ Descripcion: AUTOMATIC DRAIN VALVE (ADV); (ELEC); M22X1.5




- DRAULICFREN

Haldex
AUTOMATIC DRAIN VALVE (ADV); (ELEC); M22X1.5 Haldex 71341

Fabricante: Haldex
Referencia; 71341
Descripcion: AUTOMATIC DRAIN VALVE (ADV); (ELEC); M22X1.5

AUTOMATIC DRAIN VALVE (ADV); (ELEC); 1/4" NPTF Haldex 71345

Fabricante: Haldex

Referencia: 71345
@ Descripcién: AUTOMATIC DRAIN VALVE (ADV); (ELEC); 1/4" NPTF

AUTOMATIC DRAIN VALVE (ADV); (ELEC); M22X1.5 Haldex 71347

Fabricante: Haldex

Referencia: 71347
w Descripcion: AUTOMATIC DRAIN VALVE (ADV); (ELEC); M22X1.5

CARTRIDGE GRIP RING KIT; FOR SINGLE AIR DRIER SDX Haldex 71868S

Fabricante: Haldex

Referencia: 71868S
@ Descripcion: CARTRIDGE GRIP RING KIT; FOR SINGLE AIR DRIER SDX




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74293; NO Haldex 72174C

Fabricante: Haldex
Referencia: 72174C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74293; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74990; NO Haldex 72361C

Fabricante: Haldex
Referencia: 72361C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74990; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74590; NO Haldex 72416C

Fabricante: Haldex
Referencia: 72416C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74590; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74592; NO Haldex 72417C

Fabricante: Haldex
Referencia: 72417C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74592; NO




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74555; NO Haldex 72534C

Fabricante: Haldex
Referencia: 72534C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74555; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74557; NO Haldex 72536C

Fabricante: Haldex
Referencia: 72536C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74557, NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74557; NO Haldex 72537C

Fabricante: Haldex
Referencia: 72537C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74557; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74580; NO Haldex 72566C

Fabricante: Haldex
Referencia: 72566C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74580; NO




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74801; NO Haldex 72598C

Fabricante: Haldex
Referencia: 72598C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74801; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74555; NO Haldex 72609C

Fabricante: Haldex
Referencia: 72609C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74555; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74966; NO Haldex 72667C

Fabricante: Haldex
Referencia: 72667C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74966; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74444; NO Haldex 72670C

Fabricante: Haldex
Referencia: 72670C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74444; NO




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74608; NO Haldex 72680C

Fabricante: Haldex
Referencia: 72680C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74608; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74926; NO Haldex 72698C

Fabricante: Haldex
Referencia: 72698C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74926; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74614; NO Haldex 72869C

Fabricante: Haldex
Referencia: 72869C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74614; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74617; NO Haldex 72876D

Fabricante: Haldex
Referencia: 72876D

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74617; NO




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74617; NO Haldex 72876S

Fabricante: Haldex
Referencia: 72876S

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74617; NO

PALANCA FRENO AUTOMATICA AA1; CAJA; UNIDAD CONTROL: 74422; S Haldex 72918C

Fabricante: Haldex
Referencia: 72918C

Descripcion: PALANCA FRENO AUTOMATICA AAL; CAJA; UNIDAD
CONTROL: 74422; S

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74632; NO Haldex 72999C

Fabricante: Haldex
Referencia: 72999C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74632; NO

GASKET; FOR SINGLE/TWIN AIR DRIER Haldex 73084S

Fabricante: Haldex
Referencia: 73084S
Descripcion: GASKET; FOR SINGLE/TWIN AIR DRIER




- DRAULICFREN

Haldex
NON-RETURN VALVE OUTLET; FOR TWIN AIR DRIER; M22 Haldex 73176S

Fabricante: Haldex
Referencia:; 73176S
Descripcién: NON-RETURN VALVE OUTLET; FOR TWIN AIR DRIER; M22

HOSE CONNECTION; FOR DRAIN VALVE/UNLOADING VALVE; M10X1 Haldex 73314S

Fabricante: Haldex
Referencia: 73314S

Descripcion: HOSE CONNECTION; FOR DRAIN VALVE/UNLOADING VALVE;
M10X1

HEATING ELEMENT; FOR SINGLE/TWIN AIR DRIER; 24V/90W Haldex 73481S

Fabricante: Haldex
Referencia: 73481S
Descripcion: HEATING ELEMENT; FOR SINGLE/TWIN AIR DRIER; 24V/90W

NON-RETURN VALVE INLET; FOR TWIN AIR DRIER; M22/M24 Haldex 73483S

Fabricante: Haldex
Referencia: 73483S
Descripcion: NON-RETURN VALVE INLET; FOR TWIN AIR DRIER; M22/M24




- DRAULICFREN

Haldex
REPAIR KIT; FOR SINGLE/TWIN AIR DRIER UNLOADING VALVE Haldex 73616

Fabricante: Haldex
Referencia; 73616

Descripcion: REPAIR KIT; FOR SINGLE/TWIN AIR DRIER UNLOADING
VALVE

CENTRE SECTION REPAIR KIT; FOR TWIN AIR DRIER; 10 BAR Haldex 73620

Fabricante: Haldex

Referencia: 73620
@ Descripcién: CENTRE SECTION REPAIR KIT; FOR TWIN AIR DRIER; 10 BAR

CONTROL UNIT; FOR VERSION AA1; ALPHA 334 DG. Haldex 74181S

Fabricante: Haldex

Referencia: 74181S
w Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 334 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 308 DG. Haldex 74230S

Fabricante: Haldex

Referencia: 74230S
w Descripcion: CONTROL UNIT; FOR VERSION AA1; ALPHA 308 DG.




- DRAULICFREN

Haldex
CONTROL UNIT; FOR VERSION AA1; ALPHA 84 DG. Haldex 74235S

Fabricante: Haldex
Referencia: 74235S
Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 84 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 71 DG. Haldex 74246S

Fabricante: Haldex

Referencia: 74246S
@ Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 71 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 346 DG. Haldex 74255S

Fabricante: Haldex

Referencia: 74255S
w Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 346 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 20 DG. Haldex 74270S

Fabricante: Haldex

Referencia: 74270S
@ Descripcion: CONTROL UNIT; FOR VERSION AA1; ALPHA 20 DG.




- DRAULICFREN

Haldex
CONTROL UNIT; FOR VERSION AA1; ALPHA 75 DG. Haldex 74410S

Fabricante: Haldex
Referencia: 74410S
Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 75 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 5 DG. Haldex 74448S

Fabricante: Haldex

Referencia: 74448S
@ Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 5 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 171.5 DG. Haldex 74472S

Fabricante: Haldex

Referencia: 74472S
@ Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 171.5 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 337.5 DG. Haldex 74476S

Fabricante: Haldex

Referencia: 74476S
@ Descripcion: CONTROL UNIT; FOR VERSION AA1; ALPHA 337.5 DG.




- DRAULICFREN

Haldex
CONTROL UNIT; FOR VERSION AA1; ALPHA 358 DG. Haldex 74477S

Fabricante: Haldex
Referencia: 74477S
Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 358 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 75 DG. Haldex 74482S

Fabricante: Haldex

Referencia: 74482S
@ Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 75 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 53 DG. Haldex 74512S

Fabricante: Haldex

Referencia: 74512S
w Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 53 DG.

CONTROL UNIT; FOR VERSION S-ABA Haldex 74527S

Fabricante: Haldex

Referencia: 74527S
@ Descripcion: CONTROL UNIT; FOR VERSION S-ABA




- DRAULICFREN

Haldex
CONTROL UNIT; FOR VERSION AA1; ALPHA 75 DG. Haldex 74566S

Fabricante: Haldex
Referencia: 74566S
Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 75 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 113 DG. Haldex 74580S

Fabricante: Haldex

Referencia: 74580S
@ Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 113 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 0 DG. Haldex 74624S

Fabricante: Haldex

Referencia: 74624S
w Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 0 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 350 DG. Haldex 74627S

Fabricante: Haldex

Referencia: 74627S
@ Descripcion: CONTROL UNIT; FOR VERSION AA1; ALPHA 350 DG.




- DRAULICFREN

Haldex
CONTROL UNIT; FOR VERSION AA1; ALPHA 86 DG. Haldex 74682S

Fabricante: Haldex
Referencia: 74682S
Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 86 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 358 DG. Haldex 74686S

Fabricante: Haldex

Referencia: 74686S
@ Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 358 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 103 DG. Haldex 74768S

Fabricante: Haldex

Referencia: 74768S
w Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 103 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 98 DG. Haldex 74771S

Fabricante: Haldex

Referencia: 74771S
@ Descripcion: CONTROL UNIT; FOR VERSION AA1; ALPHA 98 DG.




- DRAULICFREN

Haldex
CONTROL UNIT; FOR VERSION AA1; ALPHA 75 DG. Haldex 74788S

Fabricante: Haldex
Referencia:; 74788S
Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 75 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 145 DG. Haldex 74812S

Fabricante: Haldex

Referencia: 74812S
@ Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 145 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 61 DG. Haldex 74854S

Fabricante: Haldex

Referencia: 74854S
w Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 61 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 70 DG. Haldex 74855S

Fabricante: Haldex

Referencia: 74855S
@ Descripcion: CONTROL UNIT; FOR VERSION AA1; ALPHA 70 DG.




- DRAULICFREN

Haldex
CONTROL UNIT; FOR VERSION AA1; ALPHA 79 DG. Haldex 74864S

Fabricante: Haldex
Referencia: 74864S
Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 79 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 0 DG. Haldex 74900S

Fabricante: Haldex

Referencia: 74900S
@ Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 0 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 140 DG. Haldex 74953S

Fabricante: Haldex

Referencia: 74953S
w Descripcién: CONTROL UNIT; FOR VERSION AA1; ALPHA 140 DG.

CONTROL UNIT; FOR VERSION AA1; ALPHA 150 DG. Haldex 74966S

Fabricante: Haldex

Referencia: 74966S
@ Descripcion: CONTROL UNIT; FOR VERSION AA1; ALPHA 150 DG.




- DRAULICFREN

Haldex
HEAT SHRINK SLEEVE; FOR ELECTRICAL CONNECTION; FOR CRIMP CON Haldex 75610245

Fabricante: Haldex
Referencia: 75610245

Descripcion: HEAT SHRINK SLEEVE; FOR ELECTRICAL CONNECTION;
FOR CRIMP CON

WARNING LAMP ABS Haldex 75611588

Fabricante: Haldex

Referencia: 75611588
@ Descripcion: WARNING LAMP ABS

JUNCTION BOX Haldex 75611675

Fabricante: Haldex

Referencia: 75611675
@ Descripcion: JUNCTION BOX

BRACKET; FOR ABS TRAILER WARNING LAMP Haldex 75611973

Fabricante: Haldex

Referencia: 75611973
@ Descripcion: BRACKET; FOR ABS TRAILER WARNING LAMP




- DRAULICFREN

Haldex
VISUAL LINING WEAR INDICATOR; FOR ABA; APPLICATION: SAF Haldex 76012

Fabricante: Haldex
Referencia; 76012

Descripcion: VISUAL LINING WEAR INDICATOR; FOR ABA; APPLICATION:
SAF

SPLINE WASHER; W/O O-RING; BPW Haldex 76014

Fabricante: Haldex
Referencia: 76014
Descripcion: SPLINE WASHER; W/O O-RING; BPW

PEG SPANNER; FOR ABA; FOR SIDE COVER Haldex 76025

Fabricante: Haldex
Referencia: 76025
Descripcion: PEG SPANNER; FOR ABA; FOR SIDE COVER

END LOAD TESTER; FOR ABA Haldex 76035

Fabricante: Haldex
Referencia: 76035
Descripcion: END LOAD TESTER; FOR ABA




- DRAULICFREN

Haldex
(MOQ 10); DISTANCE WASHER; 42+0.5MMOD; 23+0.2MMID; 3+0.2MM T Haldex 76087

Fabricante: Haldex
Referencia; 76087

Descripcion: (MOQ 10); DISTANCE WASHER; 42+0.5MMOD; 23+0.2MMID;
3+0.2MM T

RELAY; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V Haldex 76281S

Fabricante: Haldex
Referencia: 76281S
Descripciéon: RELAY; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V

ELECTRICAL CONNECTION KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; Haldex 76283S

Fabricante: Haldex
Referencia: 76283S

Descripcion: ELECTRICAL CONNECTION KIT; FOR AUTOMATIC DRAIN
VALVE/CONSEP;

ELECTRICAL CONNECTION KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; Haldex 76284S

Fabricante: Haldex
Referencia: 76284S

Descripcion: ELECTRICAL CONNECTION KIT; FOR AUTOMATIC DRAIN
VALVE/CONSEP;




- DRAULICFREN

Haldex
SCREW; 22MM; M10 Haldex 76478

Fabricante: Haldex
Referencia: 76478
Descripcion: SCREW; 22MM; M10

ANCHOR BRACKET; BOLT TYPE; ROR Haldex 76670

Fabricante: Haldex

Referencia: 76670
@ Descripcién: ANCHOR BRACKET; BOLT TYPE; ROR

ANCLAJE; TIPO TORNILLO; ROR Haldex 76672

Fabricante: Haldex

Referencia: 76672
w Descripcion: ANCLAJE; TIPO TORNILLO; ROR

(MOQ 25); SCREW; TORX; M4 Haldex 76862

Fabricante: Haldex

Referencia: 76862
@ Descripcion: (MOQ 25); SCREW; TORX; M4




- DRAULICFREN

Haldex
BUSH (IS A PACK OF 10X 76878); FOR CONTROL ARM; PLASTIC Haldex 7687810

Fabricante: Haldex
Referencia: 7687810

Descripcion: BUSH (IS A PACK OF 10X 76878); FOR CONTROL ARM;
PLASTIC

BUSH; FOR CONTROL ARM; PLASTIC; C/W SCREW Haldex 76902

Fabricante: Haldex
Referencia: 76902
Descripciéon: BUSH; FOR CONTROL ARM; PLASTIC; C/W SCREW

ANCHOR BRACKET; BOLT TYPE; SAF/TRAILOR Haldex 76922

Fabricante: Haldex
Referencia: 76922
Descripcién: ANCHOR BRACKET; BOLT TYPE; SAF/TRAILOR

VISUAL LINING WEAR INDICATOR; FOR ABA; APPLICATION: ROR Haldex 76924

Fabricante: Haldex
Referencia: 76924

Descripcion: VISUAL LINING WEAR INDICATOR; FOR ABA; APPLICATION:
ROR




- DRAULICFREN

Haldex
VISUAL LINING WEAR INDICATOR; FOR ABA; APPLICATION: BPW Haldex 76925

Fabricante: Haldex
Referencia; 76925

Descripcion: VISUAL LINING WEAR INDICATOR; FOR ABA; APPLICATION:
BPW

ANCHOR BRACKET; U-TYPE; SAF/BPW/SMB Haldex 76979

Fabricante: Haldex

Referencia: 76979
@ Descripcién: ANCHOR BRACKET; U-TYPE; SAF/BPW/SMB

ANCHOR BRACKET; U-TYPE; SAF/BPW/SMB Haldex 76980

Fabricante: Haldex

Referencia: 76980
w Descripcién: ANCHOR BRACKET; U-TYPE; SAF/BPW/SMB

ANCHOR BRACKET; U-TYPE; TRAILOR/FRUEHAUF Haldex 76986

Fabricante: Haldex

Referencia: 76986
@ Descripcion: ANCHOR BRACKET; U-TYPE; TRAILOR/FRUEHAUF




- DRAULICFREN

Haldex
ANCHOR BRACKET; U-TYPE; ROR TM/TE Haldex 76995

Fabricante: Haldex
Referencia: 76995
Descripcién: ANCHOR BRACKET; U-TYPE; ROR TM/TE

ANCHOR BRACKET; U-TYPE; ROR TM/TE Haldex 76996

Fabricante: Haldex

Referencia: 76996
@ Descripcién: ANCHOR BRACKET; U-TYPE; ROR TM/TE

ANCHOR BRACKET; U-TYPE; ROR AC Haldex 76997

Fabricante: Haldex

Referencia: 76997
w Descripcién: ANCHOR BRACKET; U-TYPE; ROR AC

AUTOMATIC DRAIN VALVE KIT; FOR CONSEP; 24V Haldex 77091S

Fabricante: Haldex

Referencia: 77091S
@ Descripcion: AUTOMATIC DRAIN VALVE KIT; FOR CONSEP; 24V




- DRAULICFREN

Haldex
HEATING ELEMENT; FOR SINGLE AIR DRIER SDX; 24V/90W Haldex 77244S

Fabricante: Haldex
Referencia: 77244S
Descripcién: HEATING ELEMENT; FOR SINGLE AIR DRIER SDX; 24V/90W

SECADOR SENCILLO (SDX); CORTE (BAR): 9.5; RANGO: 0.6+0.4; BO Haldex 77304

Fabricante: Haldex
Referencia: 77304

Descripcién: SECADOR SENCILLO (SDX); CORTE (BAR): 9.5; RANGO:
0.6+0.4; BO

REPAIR KIT; FOR CONSEP; C/W CYCLONE Haldex 77322

Fabricante: Haldex
Referencia: 77322
Descripcion: REPAIR KIT; FOR CONSEP; C/W CYCLONE

TURBO PROTECTION VALVE; FOR SINGLE AIR DRIER SDX; M22X1.5 Haldex 77359S

Fabricante: Haldex
Referencia: 77359S

Descripcion: TURBO PROTECTION VALVE; FOR SINGLE AIR DRIER SDX;
M22X1.5




- DRAULICFREN

Haldex
BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 77411S

Fabricante: Haldex
Referencia: 77411S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

REGENERATION VALVE; FOR SINGLE AIR DRIER SDX; 20.9 Haldex 77434S

Fabricante: Haldex
Referencia: 77434S
Descripcién: REGENERATION VALVE; FOR SINGLE AIR DRIER SDX; 0.9

BLIND PLUG KIT; FOR SINGLE AIR DRIER SDX; FOR PLUGGED PORT 5 Haldex 77484S

Fabricante: Haldex
Referencia: 77484S

Descripcion: BLIND PLUG KIT; FOR SINGLE AIR DRIER SDX; FOR
PLUGGED PORT 5

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 78104S

Fabricante: Haldex
Referencia: 78104S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX




- DRAULICFREN

Haldex
BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 78141S

Fabricante: Haldex
Referencia: 78141S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 78169S

Fabricante: Haldex

Referencia: 78169S
@ Descripcién: BLACK BOX; FOR SINGLE AIR DRIER SDX

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 78171S

Fabricante: Haldex

Referencia: 78171S
@ Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 78186S

Fabricante: Haldex

Referencia: 78186S
@ Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX




- DRAULICFREN

Haldex
SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 12.5; RANGE: 1.0+0.3; Haldex 78210

Fabricante: Haldex
Referencia: 78210

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 12.5; RANGE:
1.0+0.3;

EXTERNAL FILLING VALVE Haldex 78682C

Fabricante: Haldex
Referencia: 78682C
Descripcion: EXTERNAL FILLING VALVE

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 78717S

Fabricante: Haldex
Referencia: 78717S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.7; RANGE: 1.0+0.3; Haldex 78752

Fabricante: Haldex
Referencia: 78752

Descripcién: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.7; RANGE:
1.0+0.3;




- DRAULICFREN

Haldex
SINGLE AIR DRIER (SDX); W/O GOVERNOR; KOCKUMS Haldex 78758

Fabricante: Haldex
Referencia; 78758
Descripcion: SINGLE AIR DRIER (SDX); W/O GOVERNOR; KOCKUMS

AIR DRIER CARTRIDGE KIT; FOR SINGLE AIR DRIER SDX; FOR AIR D Haldex 78800

Fabricante: Haldex
Referencia: 78800

Descripcion: AIR DRIER CARTRIDGE KIT; FOR SINGLE AIR DRIER SDX;
FOR AIRD

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.5; RANGE: 0.8+0.2; Haldex 78988

Fabricante: Haldex
Referencia: 78988

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.5; RANGE:
0.8+0.2;

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74635; NO Haldex 79004S

Fabricante: Haldex
Referencia: 79004S

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74635; NO




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74389; NO Haldex 79009C

Fabricante: Haldex
Referencia: 79009C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1L; BOXED; CONTROL
UNIT: 74389; NO

AUTOMATIC BRAKE ADJUSTER AA1; CONTROL UNIT: 74385; NO. OF HO Haldex 79068C

Fabricante: Haldex
Referencia: 79068C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; CONTROL UNIT: 74385;
NO. OF HO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74813; NO Haldex 79079C

Fabricante: Haldex
Referencia: 79079C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74813; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74250; NO Haldex 79143C

Fabricante: Haldex
Referencia: 79143C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74250; NO




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74872; NO Haldex 79201C

Fabricante: Haldex
Referencia: 79201C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74872; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74789; NO Haldex 79204C

Fabricante: Haldex
Referencia: 79204C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74789; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74688; NO Haldex 79206C

Fabricante: Haldex
Referencia: 79206C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74688; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74887; NO Haldex 79215C

Fabricante: Haldex
Referencia: 79215C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74887; NO




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74187; NO Haldex 79282C

Fabricante: Haldex
Referencia: 79282C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74187; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74489; NO Haldex 79288C

Fabricante: Haldex
Referencia: 79288C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74489; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74190; NO Haldex 79345C

Fabricante: Haldex
Referencia: 79345C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74190; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74453; NO Haldex 79491C

Fabricante: Haldex
Referencia: 79491C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74453; NO




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74266; NO Haldex 79792C

Fabricante: Haldex
Referencia: 79792C

Descripcion: AUTOMATIC BRAKE ADJUSTER AAL; BOXED; CONTROL
UNIT: 74266; NO

AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL UNIT: 74737, NO Haldex 79818C

Fabricante: Haldex
Referencia: 79818C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; BOXED; CONTROL
UNIT: 74737, NO

AUTOMATIC BRAKE ADJUSTER S-ABA; BOXED; SPLINE TYPE: SAE 1 1/ Haldex 80109C

Fabricante: Haldex
Referencia: 80109C

Descripcion: AUTOMATIC BRAKE ADJUSTER S-ABA; BOXED; SPLINE
TYPE: SAE 1 1/

AUTOMATIC BRAKE ADJUSTER S-ABA; BOXED; SPLINE TYPE: SAE 1 1/ Haldex 80133C

Fabricante: Haldex
Referencia: 80133C

Descripcion: AUTOMATIC BRAKE ADJUSTER S-ABA; BOXED; SPLINE
TYPE: SAE 1 1/




- DRAULICFREN

Haldex
AUTOMATIC BRAKE ADJUSTER S-ABA; BOXED; SPLINE TYPE: A 38X34 Haldex 80500C

Fabricante: Haldex
Referencia: 80500C

Descripcion: AUTOMATIC BRAKE ADJUSTER S-ABA; BOXED; SPLINE
TYPE: A 38X34

EB+ SYSTEM GEN3 Haldex 810023001

Fabricante: Haldex

Referencia: 810023001
@ Descripciéon: EB+ SYSTEM GEN3

BUSH (IS A PACK OF 10X 81374); 19.0MMOD; 14.0MMID Haldex 8137410

Fabricante: Haldex

Referencia: 8137410
@ Descripciéon: BUSH (IS A PACK OF 10X 81374); 19.0MMOD; 14.0MMID

CABLE; FOR EB+ 3M LINK; LENGTH (M): 2 Haldex 814001012

Fabricante: Haldex

Referencia: 814001012
@ Descripcion: CABLE; FOR EB+ 3M LINK; LENGTH (M): 2




- DRAULICFREN

Haldex
CABLE; FOR COLAS®/ILAS®-E; DIN 72585; LENGTH (M): 18 Haldex 814001312

Fabricante: Haldex
Referencia: 814001312
Descripcién: CABLE; FOR COLAS®/ILAS®-E; DIN 72585; LENGTH (M): 18

CABLE; FOR COLAS®/ILAS®-E; DIN 72585; LENGTH (M): 2 Haldex 814001322

Fabricante: Haldex

Referencia: 814001322
@ Descripcién: CABLE; FOR COLAS®/ILAS®-E; DIN 72585; LENGTH (M): 2

CABLE; FOR COLAS®/ILAS®-E; DIN 72585; LENGTH (M): 4 Haldex 814001332

Fabricante: Haldex

Referencia: 814001332
w Descripcion: CABLE; FOR COLAS®/ILAS®-E; DIN 72585; LENGTH (M): 4

CABLE; FOR COLAS®/ILAS®-E; DIN 72585; LENGTH (M): 1 Haldex 814001342

Fabricante: Haldex

Referencia: 814001342
w Descripcion: CABLE; FOR COLAS®/ILAS®-E; DIN 72585; LENGTH (M): 1




- DRAULICFREN

Haldex
CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 12 Haldex 814001352

Fabricante: Haldex
Referencia: 814001352
Descripcion: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 12

CABLE; FOR AUXILLIARY CONNECTION Haldex 814001372

Fabricante: Haldex

Referencia: 814001372
@ Descripciéon: CABLE; FOR AUXILLIARY CONNECTION

CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 10 Haldex 814001502

Fabricante: Haldex

Referencia: 814001502
w Descripciéon: CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 10

CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 0.75 Haldex 814001522

Fabricante: Haldex

Referencia: 814001522
w Descripcion: CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 0.75




- DRAULICFREN

Haldex
CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 3 Haldex 814001532

Fabricante: Haldex
Referencia: 814001532
Descripcién: CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 3

CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 5 Haldex 814001542

Fabricante: Haldex

Referencia: 814001542
@ Descripcion: CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 5

CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 26 Haldex 814001562

Fabricante: Haldex

Referencia: 814001562
w Descripciéon: CABLE; FOR REV PRESSURE SWITCH; LENGTH (M): 26

CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 6.5M Haldex 814001601

Fabricante: Haldex

Referencia: 814001601
w Descripcién: CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 6.5M




- DRAULICFREN

Haldex
CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 20.0M Haldex 814001621

Fabricante: Haldex
Referencia: 814001621
Descripcién: CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 20.0M

LIMITED STOCK; CABLE Haldex 814001993

Fabricante: Haldex
Referencia: 814001993
Descripcién: LIMITED STOCK; CABLE

CABLE; FOR ISO 1185 (24N); LENGTH (M): 12 Haldex 814002202

Fabricante: Haldex
Referencia: 814002202
Descripcion: CABLE; FOR ISO 1185 (24N); LENGTH (M): 12

CABLE; FOR ISO 1185 (24N); LENGTH (M): 16 Haldex 814002212

Fabricante: Haldex
Referencia: 814002212
Descripcion: CABLE; FOR I1SO 1185 (24N); LENGTH (M): 16




- DRAULICFREN

Haldex
CABLE; FOR ISO 1185 (24N); LENGTH (M): 6 Haldex 814002222

Fabricante: Haldex
Referencia: 814002222
Descripcién: CABLE; FOR ISO 1185 (24N); LENGTH (M): 6

CABLE; FOR ISO 1185 (24N); LENGTH (M): 4 Haldex 814002232

Fabricante: Haldex
Referencia: 814002232
Descripcion: CABLE; FOR 1SO 1185 (24N); LENGTH (M): 4

CABLE; FOR ISO 1185 (24N); LENGTH (M): 9 Haldex 814002242

Fabricante: Haldex
Referencia: 814002242
Descripcion: CABLE; FOR ISO 1185 (24N); LENGTH (M): 9

CABLE; FOR SUPER AUX; LENGTH (M): 6 Haldex 814002301

Fabricante: Haldex
Referencia: 814002301
Descripcion: CABLE; FOR SUPER AUX; LENGTH (M): 6




- DRAULICFREN

Haldex
CABLE; FOR SUPER AUX; LENGTH (M): 12 Haldex 814002311

Fabricante: Haldex
Referencia: 814002311
Descripcion: CABLE; FOR SUPER AUX; LENGTH (M): 12

CABLE; FOR SUPER AUX; LENGTH (M): 9 Haldex 814002321

Fabricante: Haldex

Referencia: 814002321
@ Descripcién: CABLE; FOR SUPER AUX; LENGTH (M): 9

CABLE; FOR ISO 7638; LENGTH (M): 16 Haldex 814003112

Fabricante: Haldex

Referencia: 814003112
w Descripciéon: CABLE; FOR ISO 7638; LENGTH (M): 16

CABLE; FOR ISO 7638; LENGTH (M): 18 Haldex 814003122

Fabricante: Haldex

Referencia: 814003122
@ Descripcion: CABLE; FOR I1SO 7638; LENGTH (M): 18




- DRAULICFREN

Haldex
CABLE; FOR ISO 7638; LENGTH (M): 9 Haldex 814003132

Fabricante: Haldex
Referencia: 814003132
Descripcién: CABLE; FOR ISO 7638; LENGTH (M): 9

CABLE; FOR ISO 7638; LENGTH (M): 14 Haldex 814003142

Fabricante: Haldex

Referencia: 814003142
@ Descripcion: CABLE; FOR I1SO 7638; LENGTH (M): 14

CABLE; FOR ISO 7638; LENGTH (M): 6 Haldex 814003152

Fabricante: Haldex

Referencia: 814003152
w Descripciéon: CABLE; FOR ISO 7638; LENGTH (M): 6

CABLE; FOR ISO 7638; LENGTH (M): 1 Haldex 814003201

Fabricante: Haldex

Referencia: 814003201
@ Descripcion: CABLE; FOR I1SO 7638; LENGTH (M): 1




- DRAULICFREN

Haldex
CABLE; FOR ISO 7638 Haldex 814003211

Fabricante: Haldex
Referencia: 814003211
Descripcién: CABLE; FOR ISO 7638

CABLE; FOR ISO 7638; LENGTH (M): 12 Haldex 814003401

Fabricante: Haldex

Referencia: 814003401
@ Descripcion: CABLE; FOR I1SO 7638; LENGTH (M): 12

CABLE; FOR ISO 7638; LENGTH (M): 9 Haldex 814003431

Fabricante: Haldex

Referencia: 814003431
w Descripciéon: CABLE; FOR ISO 7638; LENGTH (M): 9

CABLE; FOR ISO 7638; LENGTH (M): 9 Haldex 814004102

Fabricante: Haldex

Referencia: 814004102
w Descripciéon: CABLE; FOR ISO 7638; LENGTH (M): 9




- DRAULICFREN

Haldex
CABLE; FOR ISO 7638; LENGTH (M): 12 Haldex 814004112

Fabricante: Haldex
Referencia: 814004112
Descripcion: CABLE; FOR ISO 7638; LENGTH (M): 12

CABLE; FOR ISO 7638; LENGTH (M): 15 Haldex 814004122

Fabricante: Haldex

Referencia: 814004122
@ Descripciéon: CABLE; FOR ISO 7638; LENGTH (M): 15

CABLE; FOR SUPER AUX; LENGTH (M): 1.1 Haldex 814004301

Fabricante: Haldex

Referencia: 814004301
@ Descripcion: CABLE; FOR SUPER AUX; LENGTH (M): 1.1

CABLE; FOR SUPER AUX; LENGTH (M): 6 Haldex 814004311

Fabricante: Haldex

Referencia: 814004311
@ Descripcion: CABLE; FOR SUPER AUX; LENGTH (M): 6




- DRAULICFREN

Haldex
CABLE; FOR SENSOR EXTENSION; LENGTH (M): 6 Haldex 814004411

Fabricante: Haldex
Referencia: 814004411
Descripcion: CABLE; FOR SENSOR EXTENSION; LENGTH (M): 6

CABLE; FOR SENSOR EXTENSION; LENGTH (M): 2 Haldex 814004421

Fabricante: Haldex

Referencia: 814004421
@ Descripcién: CABLE; FOR SENSOR EXTENSION; LENGTH (M): 2

CABLE; FOR SENSOR EXTENSION; LENGTH (M): 10 Haldex 814004431

Fabricante: Haldex

Referencia: 814004431
w Descripcion: CABLE; FOR SENSOR EXTENSION; LENGTH (M): 10

CABLE; FOR SENSOR EXTENSION; LENGTH (M): 14 Haldex 814004441

Fabricante: Haldex

Referencia: 814004441
w Descripcion: CABLE; FOR SENSOR EXTENSION; LENGTH (M): 14




- DRAULICFREN

Haldex
CABLE; FOR SENSOR EXTENSION; LENGTH (M): 8 Haldex 814004451

Fabricante: Haldex
Referencia: 814004451
Descripcién: CABLE; FOR SENSOR EXTENSION; LENGTH (M): 8

CABLE; FOR SENSOR EXTENSION; LENGTH (M): 4 Haldex 814004471

Fabricante: Haldex

Referencia: 814004471
@ Descripcién: CABLE; FOR SENSOR EXTENSION; LENGTH (M): 4

CABLE; FOR ISO 7638; LENGTH (M): 26 Haldex 814006102

Fabricante: Haldex

Referencia: 814006102
w Descripciéon: CABLE; FOR ISO 7638; LENGTH (M): 26

CABLE; FOR TELEMATIC; LENGTH (M): 1 Haldex 814006301

Fabricante: Haldex

Referencia: 814006301
@ Descripcion: CABLE; FOR TELEMATIC; LENGTH (M): 1




- DRAULICFREN

Haldex
CABLE; FOR TELEMATIC; LENGTH (M): 12 Haldex 814006311

Fabricante: Haldex
Referencia: 814006311
Descripcion: CABLE; FOR TELEMATIC; LENGTH (M): 12

CABLE; FOR LINING WEAR SENSOR INTERFACE; LENGTH (M): 5 Haldex 814007111

Fabricante: Haldex
Referencia: 814007111

Descripcion: CABLE; FOR LINING WEAR SENSOR INTERFACE; LENGTH
(M): 5

CABLE; FOR ISO 7638; LENGTH (M): 12 Haldex 814008101

Fabricante: Haldex
Referencia: 814008101
Descripciéon: CABLE; FOR ISO 7638; LENGTH (M): 12

CABLE; FOR ISO 7638; LENGTH (M): 16 Haldex 814009101

Fabricante: Haldex
Referencia: 814009101
Descripcion: CABLE; FOR I1SO 7638; LENGTH (M): 16




- DRAULICFREN

Haldex
CABLE; FOR ISO 7638; LENGTH (M): 14 Haldex 814009111

Fabricante: Haldex
Referencia: 814009111
Descripcién: CABLE; FOR ISO 7638; LENGTH (M): 14

CABLE; FOR ISO 7638; LENGTH (M): 5 Haldex 814009131

Fabricante: Haldex
Referencia: 814009131
Descripcién: CABLE; FOR ISO 7638; LENGTH (M): 5

CABLE; FOR 3/2 VALVE; LENGTH (M): 7 Haldex 814009301

Fabricante: Haldex
Referencia: 814009301
Descripcion: CABLE; FOR 3/2 VALVE; LENGTH (M): 7

CABLE; FOR DIAGNOSTICS; EBS EB+ TO DIAG+/INFO-CENTRE; 5.0M Haldex 814010121

Fabricante: Haldex
Referencia: 814010121

Descripcion: CABLE; FOR DIAGNOSTICS; EBS EB+ TO DIAG+/INFO-
CENTRE; 5.0M




- DRAULICFREN

Haldex
CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 6.5M Haldex 814011001

Fabricante: Haldex
Referencia: 814011001
Descripcién: CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 6.5M

CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 15.0M Haldex 814011011

Fabricante: Haldex

Referencia: 814011011
@ Descripcién: CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 15.0M

CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 7 Haldex 814012201

Fabricante: Haldex

Referencia: 814012201
w Descripcion: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 7

CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 18 Haldex 814012211

Fabricante: Haldex

Referencia: 814012211
w Descripcion: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 18




- DRAULICFREN

Haldex
CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 1 Haldex 814012221

Fabricante: Haldex
Referencia: 814012221
Descripcién: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 1

CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 2 Haldex 814012231

Fabricante: Haldex

Referencia: 814012231
@ Descripcién: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 2

CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 5 Haldex 814012241

Fabricante: Haldex

Referencia: 814012241
w Descripciéon: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 5

CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 3 Haldex 814012251

Fabricante: Haldex

Referencia: 814012251
w Descripcion: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 3




- DRAULICFREN

Haldex
CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 4 Haldex 814012261

Fabricante: Haldex
Referencia: 814012261
Descripcion: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 4

CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 10 Haldex 814012271

Fabricante: Haldex

Referencia: 814012271
@ Descripciéon: CABLE; FOR AUXILLIARY CONNECTION; LENGTH (M): 10

CABLE; FOR INFO CENTRE; LENGTH (M): 6.5 Haldex 814019001

Fabricante: Haldex

Referencia: 814019001
@ Descripciéon: CABLE; FOR INFO CENTRE; LENGTH (M): 6.5

CABLE; FOR INFO CENTRE; LENGTH (M): 1.5 Haldex 814019011

Fabricante: Haldex

Referencia: 814019011
@ Descripcion: CABLE; FOR INFO CENTRE; LENGTH (M): 1.5




- DRAULICFREN

Haldex
CABLE; FOR INFO CENTRE; LENGTH (M): 8.0 Haldex 814019021

Fabricante: Haldex
Referencia: 814019021
Descripcién: CABLE; FOR INFO CENTRE; LENGTH (M): 8.0

CABLE; FOR INFO CENTRE 2; LENGTH (M): 14 Haldex 814019031

Fabricante: Haldex

Referencia: 814019031
@ Descripcién: CABLE; FOR INFO CENTRE 2; LENGTH (M): 14

CABLE; FOR PSW/FRAM; LENGTH (M): 30 Haldex 814023001

Fabricante: Haldex

Referencia: 814023001
@ Descripciéon: CABLE; FOR PSW/FRAM; LENGTH (M): 30

CABLE; FOR INFO CENTRE; LENGTH (M): 1.0 Haldex 814025001

Fabricante: Haldex

Referencia: 814025001
@ Descripcion: CABLE; FOR INFO CENTRE; LENGTH (M): 1.0




- DRAULICFREN

Haldex
CABLE; FOR PWRA; LENGTH (M): 1.5 Haldex 814026001

Fabricante: Haldex
Referencia: 814026001
Descripcién: CABLE; FOR PWRA; LENGTH (M): 1.5

CABLE; PARA PWRA; LONG. (M): 4.5 Haldex 814026011

Fabricante: Haldex
Referencia: 814026011
Descripcion: CABLE; PARA PWRA; LONG. (M): 4.5

CABLE; FOR ISO 7638; LENGTH (M): 12 Haldex 814026021

Fabricante: Haldex
Referencia: 814026021
Descripciéon: CABLE; FOR ISO 7638; LENGTH (M): 12

CABLE Haldex 814027001

Fabricante: Haldex
Referencia: 814027001
Descripcion: CABLE




- DRAULICFREN

Haldex
CABLE; FOR ISO 15170 Haldex 814028001

Fabricante: Haldex
Referencia: 814028001
Descripcion: CABLE; FOR I1SO 15170

CABLE; FOR ISO 15170 Haldex 814028011

Fabricante: Haldex

Referencia: 814028011
@ Descripcion: CABLE; FOR I1SO 15170

CABLE; FOR SUPER AUX; LENGTH (M): 6.0/1.0 Haldex 814029021

Fabricante: Haldex

Referencia: 814029021
w Descripcion: CABLE; FOR SUPER AUX; LENGTH (M): 6.0/1.0

EB+ SUPER AUX CABLE ASSY; FOR ECU SPLIT Haldex 814029201

Fabricante: Haldex

Referencia: 814029201
@ Descripcion: EB+ SUPER AUX CABLE ASSY; FOR ECU SPLIT




- DRAULICFREN

Haldex
CABLE; FOR DIAGNOSTICS; EBS EB+ TO DIAG+/INFO-CENTRE; 6.5M Haldex 814030001

Fabricante: Haldex
Referencia: 814030001

Descripcion: CABLE; FOR DIAGNOSTICS; EBS EB+ TO DIAG+/INFO-
CENTRE; 6.5M

CABLE; FOR DIAGNOSTICS; EBS EB+ TO DIAG+/INFO-CENTRE; 2.5M Haldex 814030011

Fabricante: Haldex
Referencia: 814030011

Descripcion: CABLE; FOR DIAGNOSTICS; EBS EB+ TO DIAG+/INFO-
CENTRE; 2.5M

CABLE; FOR TPMS; LENGTH (M): 1 (DIAG/RCU); 7 (INFO CENTRE) Haldex 814031101

Fabricante: Haldex
Referencia: 814031101

Descripcion: CABLE; FOR TPMS; LENGTH (M): 1 (DIAG/RCU); 7 (INFO
CENTRE)

CABLE; FOR CAN; LENGTH (M): 1 Haldex 814033001

Fabricante: Haldex
Referencia: 814033001
Descripcién: CABLE; FOR CAN; LENGTH (M): 1




- DRAULICFREN

Haldex
CABLE; FOR CAN; LENGTH (M): 12 Haldex 814033011

Fabricante: Haldex
Referencia: 814033011
Descripcion: CABLE; FOR CAN; LENGTH (M): 12

CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 6.5M Haldex 814036001

Fabricante: Haldex

Referencia: 814036001
@ Descripcién: CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 6.5M

CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 15.0M Haldex 814036011

Fabricante: Haldex

Referencia: 814036011
w Descripciéon: CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 15.0M

CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 20.0M Haldex 814036021

Fabricante: Haldex

Referencia: 814036021
w Descripcién: CABLE; FOR DIAGNOSTICS; PC TO EBS EB+; 20.0M




- DRAULICFREN

Haldex
CABLE; FOR INFO CENTRE; LENGTH (M): 0.5 Haldex 814037011

Fabricante: Haldex
Referencia: 814037011
Descripcién: CABLE; FOR INFO CENTRE; LENGTH (M): 0.5

CABLE; FOR INFO CENTRE; LENGTH (M): 14.0 Haldex 814037031

Fabricante: Haldex

Referencia: 814037031
@ Descripcién: CABLE; FOR INFO CENTRE; LENGTH (M): 14.0

CABLE; FOR INFO CENTRE Haldex 814037041

Fabricante: Haldex

Referencia: 814037041
@ Descripcion: CABLE; FOR INFO CENTRE

Y-SPLITTER CABLE; FOR DIAGNOSTICS Haldex 814038001

Fabricante: Haldex

Referencia: 814038001
@ Descripcion: Y-SPLITTER CABLE; FOR DIAGNOSTICS




- DRAULICFREN

Haldex
CABLE; PARA ITCM; LONG. (M): 0.5 Haldex 814038101

Fabricante: Haldex
Referencia: 814038101
Descripcion: CABLE; PARA ITCM; LONG. (M): 0.5

AUX Y-SPLITTER CABLE; FOR EB+; LENGTH (M): 0.65 Haldex 814039201

Fabricante: Haldex
Referencia: 814039201
Descripciéon: AUX Y-SPLITTER CABLE; FOR EB+; LENGTH (M): 0.65

CABLE; FOR AUX TO FCI REAR RCU-UNTERMINATED; LENGTH (M): 1.2 Haldex 814040001

Fabricante: Haldex
Referencia: 814040001

Descripcion: CABLE; FOR AUX TO FCI REAR RCU-UNTERMINATED;
LENGTH (M): 1.2

CABLE; FOR EB+ 3M LINK; LENGTH (M): 2 Haldex 814041011

Fabricante: Haldex
Referencia: 814041011
Descripcion: CABLE; FOR EB+ 3M LINK; LENGTH (M): 2




- DRAULICFREN

Haldex
CABLE; FOR EB+ 3M LINK; LENGTH (M): 5 Haldex 814041021

Fabricante: Haldex
Referencia: 814041021
Descripciéon: CABLE; FOR EB+ 3M LINK; LENGTH (M): 5

CABLE; FOR EB+ 3M LINK; LENGTH (M): 14 Haldex 814041031

Fabricante: Haldex

Referencia: 814041031
@ Descripcién: CABLE; FOR EB+ 3M LINK; LENGTH (M): 14

CABLE; FOR EB+ 3M LINK; LENGTH (M): 10 Haldex 814041041

Fabricante: Haldex

Referencia: 814041041
w Descripcién: CABLE; FOR EB+ 3M LINK; LENGTH (M): 10

CABLE; FOR EB+ 3M LINK; LENGTH (M): 8 Haldex 814041051

Fabricante: Haldex

Referencia: 814041051
@ Descripcion: CABLE; FOR EB+ 3M LINK; LENGTH (M): 8




- DRAULICFREN

Haldex
CABLE; FOR POWER A TO POWER A; LENGTH (M): 1.8 Haldex 814042031

Fabricante: Haldex
Referencia: 814042031
Descripcién: CABLE; FOR POWER A TO POWER A; LENGTH (M): 1.8

SISTEMA LWI; AUXILIAR 2M; SENSOR 2,5M; 3,5M; 4,5M; AUX CONNE Haldex 815015101

Fabricante: Haldex
Referencia: 815015101

Descripcion: SISTEMA LWI; AUXILIAR 2M; SENSOR 2,5M; 3,5M; 4,5M; AUX
CONNE

HEAD BOARD INTERFACE; FOR DIAGNOSTICS; EBS EB+ TO DIAG+/INFO Haldex 815018001

Fabricante: Haldex
Referencia: 815018001

Descripcion: HEAD BOARD INTERFACE; FOR DIAGNOSTICS; EBS EB+ TO
DIAG+/INFO

TRACTION INTERFACE; EBS EB+; 8M Haldex 815020001

Fabricante: Haldex
Referencia: 815020001
Descripcion: TRACTION INTERFACE; EBS EB+; 8M




- DRAULICFREN

Haldex
INFO POINT; EBS EB+; 7M Haldex 815021001

Fabricante: Haldex
Referencia: 815021001
Descripcién: INFO POINT; EBS EB+; 7TM

CONTROL LINE PRESSURE SENSOR Haldex 815022001

Fabricante: Haldex
Referencia: 815022001
Descripcién: CONTROL LINE PRESSURE SENSOR

PC INTERFACE; FOR DIAG+; PC TO EBS EB+ Haldex 815023001

Fabricante: Haldex
Referencia: 815023001
Descripcion: PC INTERFACE; FOR DIAG+; PC TO EBS EB+

PC INTERFACE; FOR FLEET+; PC TO EBS EB+ Haldex 815023011

Fabricante: Haldex
Referencia: 815023011
Descripcion: PC INTERFACE; FOR FLEET+; PC TO EBS EB+




- DRAULICFREN

Haldex
HEIGHT SENSOR Haldex 815030001

Fabricante: Haldex
Referencia: 815030001
Descripcién: HEIGHT SENSOR

CABLE; FOR PUSH SWITCH BOX; LENGTH (M): 7 Haldex 815031001

Fabricante: Haldex

Referencia: 815031001
@ Descripciéon: CABLE; FOR PUSH SWITCH BOX; LENGTH (M): 7

ROTARY SWITCHBOX; C/W AUX CABLE; 7M Haldex 815033001

Fabricante: Haldex

Referencia: 815033001
@ Descripcion: ROTARY SWITCHBOX; C/W AUX CABLE; 7TM

CABLE; FOR PUSH SWITCH BOX; LENGTH (M): 7 Haldex 815040001

Fabricante: Haldex

Referencia: 815040001
@ Descripcion: CABLE; FOR PUSH SWITCH BOX; LENGTH (M): 7




- DRAULICFREN

Haldex
INFO CENTRE 2; ADR Haldex 815046001

Fabricante: Haldex
Referencia: 815046001
Descripcion: INFO CENTRE 2; ADR

TIRE PRESSURE MONITORING SYSTEM (TPMS); RECEIVER CONTROL UNI Haldex 815052001

Fabricante: Haldex
Referencia: 815052001

Descripcion: TIRE PRESSURE MONITORING SYSTEM (TPMS); RECEIVER
CONTROL UNI

TIRE PRESSURE MONITORING SYSTEM (TPMS); LOW FRENQUENCY WAND Haldex 815053001

Fabricante: Haldex
Referencia: 815053001

Descripcion: TIRE PRESSURE MONITORING SYSTEM (TPMS); LOW
FRENQUENCY WAND

IGNITION LINE INTERFACE; FOR EB+; GEN3 Haldex 815055001

Fabricante: Haldex
Referencia: 815055001
Descripcion: IGNITION LINE INTERFACE; FOR EB+; GEN3




- DRAULICFREN

Haldex
SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 11.0; RANGE: 1.3+0.3; Haldex 83327

Fabricante: Haldex
Referencia; 83327

Descripcién: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 11.0; RANGE:
1.3+0.3;

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 11.0; RANGE: 0.7+0.5; Haldex 83491

Fabricante: Haldex
Referencia: 83491

Descripcién: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 11.0; RANGE:
0.7+0.5;

SEPARADOR; ANCLAJE PARA FIJACION AL CHASIS Haldex 84423

Fabricante: Haldex
Referencia: 84423
Descripcion: SEPARADOR; ANCLAJE PARA FIJACION AL CHASIS

(MOQ 10); BUSH; 19.0MMOD; 12.7MMID Haldex 84579

Fabricante: Haldex
Referencia: 84579
Descripcion: (MOQ 10); BUSH; 19.0MMOD; 12.7MMID




- DRAULICFREN

Haldex
BUSH; 16MM Haldex 84734

Fabricante: Haldex
Referencia: 84734
Descripcién: BUSH; 16MM

SIDE MOUNTED BRACKET KIT C/W FITTINGS Haldex 852993006E

Fabricante: Haldex

Referencia: 852993006E
@ Descripcion: SIDE MOUNTED BRACKET KIT C/W FITTINGS

TOP MOUNTED BRACKET KIT C/W FITTINGS Haldex 852993006H

Fabricante: Haldex

Referencia: 852993006H
w Descripcion: TOP MOUNTED BRACKET KIT C/W FITTINGS

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 86907S

Fabricante: Haldex

Referencia: 86907S
@ Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX




- DRAULICFREN

Haldex
SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 11.0; RANGE: 0.7+0.5; Haldex 87127

Fabricante: Haldex
Referencia; 87127

Descripcién: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 11.0; RANGE:
0.7+0.5;

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 10.0; RANGE: 1.4+0.3; Haldex 87189

Fabricante: Haldex
Referencia: 87189

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 10.0; RANGE:
1.4+0.3;

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 87219S

Fabricante: Haldex
Referencia: 87219S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

COIL KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V Haldex 87255

Fabricante: Haldex
Referencia: 87255
Descripcion: COIL KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V




- DRAULICFREN

Haldex
SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 10.3; RANGE: 0.9+0.3; Haldex 87295

Fabricante: Haldex
Referencia; 87295

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 10.3; RANGE:
0.9+0.3;

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.5; RANGE: 0.8+0.2; Haldex 87296

Fabricante: Haldex
Referencia: 87296

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.5; RANGE:
0.8+0.2;

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 11.5; RANGE: 1.0+£0.3; Haldex 87297

Fabricante: Haldex
Referencia: 87297

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 11.5; RANGE:
1.0£0.3;

SINGLE AIR DRIER (SDX); W/O GOVERNOR; VOLVO Haldex 87298

Fabricante: Haldex
Referencia: 87298
Descripcion: SINGLE AIR DRIER (SDX); W/O GOVERNOR; VOLVO




- DRAULICFREN

Haldex
BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 87332S

Fabricante: Haldex
Referencia: 87332S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 87346S

Fabricante: Haldex

Referencia: 87346S
@ Descripcién: BLACK BOX; FOR SINGLE AIR DRIER SDX

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 87347S

Fabricante: Haldex

Referencia: 87347S
@ Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

SILENCER KIT; FOR SINGLE AIR DRIER SDX Haldex 89203

Fabricante: Haldex

Referencia: 89203
@ Descripcion: SILENCER KIT; FOR SINGLE AIR DRIER SDX




- DRAULICFREN

Haldex
BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 89446S

Fabricante: Haldex
Referencia: 89446S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

COIL KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V Haldex 89454

Fabricante: Haldex

Referencia: 89454
@ Descripcién: COIL KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V

DISC BRAKE PAD; MODULX DB 19 Haldex 89796

Fabricante: Haldex

Referencia: 89796
@ Descripcion: DISC BRAKE PAD; MODULX DB 19

CORE COMPLETE; FOR AUTOMATIC DRAIN VALVE/CONSEP Haldex 90027

Fabricante: Haldex

Referencia: 90027
@ Descripcion: CORE COMPLETE; FOR AUTOMATIC DRAIN VALVE/CONSEP




- DRAULICFREN

Haldex
LEVELLING VALVE; 1/8" NPT; LEVER: ASSEMBLED/FLAT/OFFSET Haldex 90054007

Fabricante: Haldex
Referencia: 90054007

Descripcion: LEVELLING VALVE; 1/8" NPT; LEVER:
ASSEMBLED/FLAT/OFFSET

FIJACION PALANCA; PARA VALVULA NIVELADORA; PIEZA CODO Haldex 90054630

Fabricante: Haldex
Referencia: 90054630

Descripcion: FIJACION PALANCA; PARA VaLVULA NIVELADORA; PIEZA
CODO

LEVER CONNECTOR (IS A PACK OF 10X 90054630); FOR LEVELLING V Haldex 9005463010

Fabricante: Haldex
Referencia: 9005463010

Descripcion: LEVER CONNECTOR (IS A PACK OF 10X 90054630); FOR
LEVELLING V

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 90269S

Fabricante: Haldex
Referencia: 90269S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX




- DRAULICFREN

Haldex
SAFETY VALVE; FOR SINGLE AIR DRIER SDX; 11 BAR Haldex 90361

Fabricante: Haldex
Referencia: 90361
Descripciéon: SAFETY VALVE; FOR SINGLE AIR DRIER SDX; 11 BAR

SAFETY VALVE; FOR SINGLE AIR DRIER SDX/SINGLE/TWIN AIR DRIER Haldex 90362

Fabricante: Haldex
Referencia: 90362

Descripcion: SAFETY VALVE; FOR SINGLE AIR DRIER SDX/SINGLE/TWIN
AIR DRIER

BUSH; X12; FOR CONTROL ARM; PLASTIC Haldex 90373

Fabricante: Haldex
Referencia: 90373
Descripciéon: BUSH; X12; FOR CONTROL ARM; PLASTIC

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 90549S

Fabricante: Haldex
Referencia: 90549S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX




- DRAULICFREN

Haldex
PRESSURE PROTECTION VALVE; C/W BACKFLOW:; 1/4" NPT Haldex 90554107

Fabricante: Haldex
Referencia: 90554107
Descripcién: PRESSURE PROTECTION VALVE; C/W BACKFLOW; 1/4" NPT

LEVELLING VALVE; 1/4" NPT; LEVER: ASSEMBLED/FLAT/OFFSET Haldex 90554114

Fabricante: Haldex
Referencia: 90554114

Descripcion: LEVELLING VALVE; 1/4" NPT; LEVER:
ASSEMBLED/FLAT/OFFSET

PRESSURE PROTECTION VALVE; C/W BACKFLOW,; M12 Haldex 90554151

Fabricante: Haldex
Referencia: 90554151
Descripcién: PRESSURE PROTECTION VALVE; C/W BACKFLOW; M12

LEVELLING VALVE; 1/8" NPT; LEVER: ASSEMBLED/FLAT/OFFSET Haldex 90554334

Fabricante: Haldex
Referencia: 90554334

Descripcion: LEVELLING VALVE; 1/8" NPT; LEVER:
ASSEMBLED/FLAT/OFFSET




- DRAULICFREN

Haldex
3-WAY PILOT VALVE; PORTS: 1/4" NPT Haldex 90554615

Fabricante: Haldex
Referencia: 90554615
Descripcion: 3-WAY PILOT VALVE; PORTS: 1/4" NPT

LEVELLING VALVE, EGP; 1/4"NPT Haldex 90555105

Fabricante: Haldex

Referencia: 90555105
@ Descripcion: LEVELLING VALVE, EGP; 1/4"NPT

LEVELLING VALVE, EGP; 1/4"NPT Haldex 90555106

Fabricante: Haldex

Referencia: 90555106
w Descripcion: LEVELLING VALVE, EGP; 1/4"NPT

LEVELLING VALVE Haldex 90555142

Fabricante: Haldex

Referencia: 90555142
@ Descripcion: LEVELLING VALVE




- DRAULICFREN

Haldex
LEVELLING VALVE Haldex 90555353

Fabricante: Haldex
Referencia: 90555353
Descripcion: LEVELLING VALVE

ADJUSTMENT SHAFT KIT; TYPE S/N 143...-->; MKIV+MODULX (FOR P Haldex 90693

Fabricante: Haldex
Referencia: 90693

Descripcion: ADJUSTMENT SHAFT KIT; TYPE S/N 143...-->; MKIV+MODULX
(FOR P

PLUG; FOR SDX Haldex 90966

Fabricante: Haldex
Referencia: 90966
Descripcion: PLUG; FOR SDX

TIRE PRESSURE MONITORING SYSTEM (TPMS); WHEEL UNIT SENSOR KI Haldex 910815024

Fabricante: Haldex
Referencia: 910815024

Descripcion: TIRE PRESSURE MONITORING SYSTEM (TPMS); WHEEL
UNIT SENSOR Ki




- DRAULICFREN

Haldex
TIRE PRESSURE MONITORING SYSTEM (TPMS); MANUFACTURER STANDAR Haldex 910815025

Fabricante: Haldex
Referencia: 910815025

Descripcion: TIRE PRESSURE MONITORING SYSTEM (TPMS);
MANUFACTURER STANDAR

REPAIR KIT; FOR BLACK BOX; C/W HEAT RESISTANT MATERIAL Haldex 91164

Fabricante: Haldex
Referencia: 91164

Descripcion: REPAIR KIT; FOR BLACK BOX; C/W HEAT RESISTANT
MATERIAL

DISC BRAKE PAD; DB 22 MKII+IIl Haldex 91239

Fabricante: Haldex
Referencia: 91239
Descripcion: DISC BRAKE PAD; DB 22 MKII+II

REPAIR KIT; FOR VERSION S-ABA; POSITION 4; S/N 348XXX--> Haldex 91804

Fabricante: Haldex

Referencia: 91804

Descripcion: REPAIR KIT; FOR VERSION S-ABA; POSITION 4; S/N 348XXX--
>




- DRAULICFREN

Haldex
REPAIR KIT; FOR VERSION S-ABA; POSITION 6; S/N 348XXX--> Haldex 91806

Fabricante: Haldex

Referencia: 91806

Descripcion: REPAIR KIT; FOR VERSION S-ABA; POSITION 6; S/N 348XXX--
>

COIL KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V Haldex 91917

Fabricante: Haldex

Referencia: 91917
@ Descripcién: COIL KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V

COIL KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V Haldex 91918

Fabricante: Haldex

Referencia: 91918
w Descripcion: COIL KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; 24V

LINING WEAR SENSOR (LWS); SPLINE TYPE N42X1.5X9H; NO. OF SPL Haldex 91935

Fabricante: Haldex

Referencia: 91935
Descripcion: LINING WEAR SENSOR (LWS); SPLINE TYPE N42X1.5X9H;
NO. OF SPL




- DRAULICFREN

Haldex
LINING WEAR SENSOR (LWS); SPLINE TYPE N42X1.5X9H; NO. OF SPL Haldex 91936

Fabricante: Haldex
Referencia: 91936

Descripcion: LINING WEAR SENSOR (LWS); SPLINE TYPE N42X1.5X9H;
NO. OF SPL

DISC BRAKE PAD; DB 22 MKIV+MODULX Haldex 92010

Fabricante: Haldex
Referencia: 92010
Descripcién: DISC BRAKE PAD; DB 22 MKIV+MODULX

PAD WEAR INDICATOR KIT (PWI); CABLE (MM) 195; INC. 91244+PAD Haldex 92050

Fabricante: Haldex
Referencia: 92050

Descripcion: PAD WEAR INDICATOR KIT (PWI); CABLE (MM) 195; INC.
91244+PAD

PAD WEAR INDICATOR KIT (PWI); CABLE (MM) 695; INC. 91244+PAD Haldex 92051

Fabricante: Haldex
Referencia: 92051

Descripcion: PAD WEAR INDICATOR KIT (PWI); CABLE (MM) 695; INC.
91244+PAD




- DRAULICFREN

Haldex
AUTOMATIC DRAIN VALVE (ADV) Haldex 92188

Fabricante: Haldex
Referencia; 92188
Descripcién: AUTOMATIC DRAIN VALVE (ADV)

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 92201

Fabricante: Haldex
Referencia: 92201

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 92503

Fabricante: Haldex
Referencia: 92503

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS

AUTOMATIC DRAIN VALVE (ADV) Haldex 92519

Fabricante: Haldex
Referencia: 92519
Descripcion: AUTOMATIC DRAIN VALVE (ADV)




- DRAULICFREN

Haldex
BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 92534S

Fabricante: Haldex
Referencia: 92534S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

DISC BRAKE UNIT; MODULX (V6); DB 19; C/W CARRIER; C/W PADS; Haldex 92559

Fabricante: Haldex
Referencia: 92559

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 19; C/W CARRIER; C/W
PADS;

DISC BRAKE UNIT; MODULX (V6); DB 19; C/W CARRIER; W/O ACCESS Haldex 92560

Fabricante: Haldex
Referencia: 92560

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 19; C/W CARRIER; W/O
ACCESS

AUTOMATIC DRAIN VALVE KIT; FOR CONSEP; 24V Haldex 92569S

Fabricante: Haldex
Referencia: 92569S
Descripcion: AUTOMATIC DRAIN VALVE KIT; FOR CONSEP; 24V




- DRAULICFREN

Haldex
CONSEP CONDENSER; ELECTRIC; VOLTAGE (V) CURRENT (A): 24/0.5 Haldex 92793S

Fabricante: Haldex
Referencia:; 92793S

Descripcion: CONSEP CONDENSER; ELECTRIC; VOLTAGE (V)/ CURRENT
(A): 24/0.5

CONSEP CONDENSER; ELECTRIC; VOLTAGE (V)/ CURRENT (A): 12/1; Haldex 92795

Fabricante: Haldex
Referencia: 92795

Descripcion: CONSEP CONDENSER; ELECTRIC; VOLTAGE (V)/ CURRENT
(A): 12/1;

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; C/W PADS; Haldex 92808

Fabricante: Haldex
Referencia: 92808

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; C/W
PADS;

DISC BRAKE UNIT; MODULX (V6); DB 22 LT; C/W CARRIER; C/W PAD Haldex 92824

Fabricante: Haldex
Referencia: 92824

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22 LT; C/W CARRIER;
C/W PAD




- DRAULICFREN

Haldex
REPAIR KIT; FOR CONSEP; CONDENSER SIDE Haldex 92832

Fabricante: Haldex
Referencia; 92832
Descripciéon: REPAIR KIT; FOR CONSEP; CONDENSER SIDE

REPAIR KIT; FOR CONSEP Haldex 92966

Fabricante: Haldex

Referencia: 92966
@ Descripciéon: REPAIR KIT; FOR CONSEP

AUTOMATIC DRAIN VALVE KIT; FOR CONSEP; 24V Haldex 92996S

Fabricante: Haldex

Referencia: 92996S
w Descripcion: AUTOMATIC DRAIN VALVE KIT; FOR CONSEP; 24V

AUTOMATIC DRAIN VALVE KIT; FOR CONSEP; 24V Haldex 92997S

Fabricante: Haldex

Referencia: 92997S
@ Descripcion: AUTOMATIC DRAIN VALVE KIT; FOR CONSEP; 24V




- DRAULICFREN

Haldex
DRAINING BOX KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP; C/W SWIV Haldex 93100

Fabricante: Haldex
Referencia: 93100

Descripcion: DRAINING BOX KIT; FOR AUTOMATIC DRAIN VALVE/CONSEP;
C/W SWIV

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.9; RANGE: 0.7+0.2; Haldex 93143

Fabricante: Haldex
Referencia: 93143

Descripcién: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 8.9; RANGE:
0.7+0.2;

SINGLE AIR DRIER (SDX); W/O GOVERNOR; SOLARIS Haldex 93144

Fabricante: Haldex
Referencia: 93144
Descripcion: SINGLE AIR DRIER (SDX); W/O GOVERNOR; SOLARIS

SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 9.8; RANGE: 0.9+0/-0. Haldex 93179

Fabricante: Haldex
Referencia: 93179

Descripcion: SINGLE AIR DRIER (SDX); CUT-OUT (BAR): 9.8; RANGE:
0.9+0/-0.




- DRAULICFREN

Haldex
SLIDING FUNCTION REPAIR KIT; TYPE MODULX (4 PIECES) Haldex 93299

Fabricante: Haldex
Referencia: 93299
Descripcién: SLIDING FUNCTION REPAIR KIT; TYPE MODULX (4 PIECES)

ANCHOR BRACKET; FOR VERSION S-ABA; U-TYPE; UNIVERSAL Haldex 93636

Fabricante: Haldex
Referencia: 93636

Descripcion: ANCHOR BRACKET; FOR VERSION S-ABA; U-TYPE;
UNIVERSAL

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 93678S

Fabricante: Haldex
Referencia: 93678S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX

BLACK BOX; FOR SINGLE AIR DRIER SDX Haldex 93728S

Fabricante: Haldex
Referencia: 93728S
Descripcion: BLACK BOX; FOR SINGLE AIR DRIER SDX




- DRAULICFREN

Haldex
HEATING ELEMENT; FOR SINGLE AIR DRIER SDX; 12V/90W Haldex 93734S

Fabricante: Haldex
Referencia:; 93734S
Descripcién: HEATING ELEMENT; FOR SINGLE AIR DRIER SDX; 12V/90W

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 93837

Fabricante: Haldex
Referencia: 93837

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 93839

Fabricante: Haldex
Referencia: 93839

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 93840

Fabricante: Haldex
Referencia: 93840

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS




- DRAULICFREN

Haldex
DISC BRAKE UNIT; MODULX (V6); DB 22 LT; C/W CARRIER; C/W PAD Haldex 93841

Fabricante: Haldex
Referencia; 93841

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22 LT; C/W CARRIER,;
C/W PAD

DISC BRAKE UNIT; MODULT; DBT 22 LT Haldex 94027

Fabricante: Haldex
Referencia: 94027
Descripcién: DISC BRAKE UNIT; MODULT; DBT 22 LT

WORM WHEEL Haldex 94164

Fabricante: Haldex
Referencia: 94164
Descripcién: WORM WHEEL

PAD WEAR SENSOR KIT (PWS); CABLE (MM) 1000; 3 PIN Haldex 94609

Fabricante: Haldex
Referencia: 94609
Descripcion: PAD WEAR SENSOR KIT (PWS); CABLE (MM) 1000; 3 PIN




- DRAULICFREN

Haldex
PAD WEAR SENSOR KIT (PWS); CABLE (MM) 1000; 4 PIN Haldex 94610

Fabricante: Haldex
Referencia: 94610
Descripcion: PAD WEAR SENSOR KIT (PWS); CABLE (MM) 1000; 4 PIN

PAR RETAINER; TYPE UNIVERSAL Haldex 94659

Fabricante: Haldex
Referencia: 94659
Descripciéon: PAR RETAINER; TYPE UNIVERSAL

SLIDING FUNCTION SEALING KIT; TYPE MKII+II+IV (W/O SLIDE Pl Haldex 94661

Fabricante: Haldex
Referencia: 94661

Descripcion: SLIDING FUNCTION SEALING KIT; TYPE MKII+II+IV (W/O
SLIDE PI

APPLICATION UNIT SEALING KIT; TYPE MK IV+MODULX Haldex 94662

Fabricante: Haldex
Referencia: 94662
Descripcion: APPLICATION UNIT SEALING KIT; TYPE MK IV+MODULX




- DRAULICFREN

Haldex
PROTECTION SPRING KIT; TYPE MKIV+MODULX Haldex 94665

Fabricante: Haldex
Referencia: 94665
Descripcién: PROTECTION SPRING KIT; TYPE MKIV+MODULX

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 94930

Fabricante: Haldex
Referencia: 94930

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS

WORM WHEEL; BNA 227; D3.5 Haldex 94955

Fabricante: Haldex
Referencia: 94955
Descripcion: WORM WHEEL; BNA 227; D3.5

REPAIR KIT; FOR CONSEP PNEUMATIC Haldex 950310019

Fabricante: Haldex
Referencia: 950310019
Descripcion: REPAIR KIT; FOR CONSEP PNEUMATIC




- DRAULICFREN

Haldex
SINGLE AIR DRIER (SDX) Haldex 950310028

Fabricante: Haldex
Referencia: 950310028
Descripcion: SINGLE AIR DRIER (SDX)

VALVE UNIT (REPAIR KIT) Haldex 950310030

Fabricante: Haldex

Referencia: 950310030
@ Descripcion: VALVE UNIT (REPAIR KIT)

DEPOT VALVE; SPARE PART KIT Haldex 950310035

Fabricante: Haldex

Referencia: 950310035
w Descripcion: DEPOT VALVE; SPARE PART KIT

REPAIR KIT; FOR 312,017 ,312029...,312 041..,312043 Haldex 950312012

Fabricante: Haldex

Referencia: 950312012
@ Descripcion: REPAIR KIT; FOR 312,017 ,312029...,312 041..,312043




- DRAULICFREN

Haldex
REPAIR KIT; FOR SERVICE BRAKE VALVE (320060.../ 320062.../ 3 Haldex 950320020

Fabricante: Haldex
Referencia: 950320020

Descripcion: REPAIR KIT; FOR SERVICE BRAKE VALVE (320060.../
320062.../ 3

REPAIR KIT; FOR CLUTCH SERVO (321018.../ 321019...) Haldex 950321027

Fabricante: Haldex

Referencia: 950321027
@ Descripciéon: REPAIR KIT; FOR CLUTCH SERVO (321018.../ 321019...))

REPAIR KIT; FOR CLUTCH SERVO (321020001) Haldex 950321028

Fabricante: Haldex

Referencia: 950321028
w Descripciéon: REPAIR KIT; FOR CLUTCH SERVO (321020001)

REPAIR KIT; FOR CLUTCH SERVO (321023001) Haldex 950321030

Fabricante: Haldex

Referencia: 950321030
w Descripcion: REPAIR KIT; FOR CLUTCH SERVO (321023001)




- DRAULICFREN

Haldex
REPAIR KIT; FOR TRAILER CONTROL VALVE (FOR 329006) Haldex 950329002

Fabricante: Haldex
Referencia: 950329002
Descripciéon: REPAIR KIT; FOR TRAILER CONTROL VALVE (FOR 329006)

REPAIR KIT; FOR TRAILER CONTROL VALVE (329017011) Haldex 950329006

Fabricante: Haldex

Referencia: 950329006
@ Descripciéon: REPAIR KIT; FOR TRAILER CONTROL VALVE (329017011)

REPAIR KIT; FOR TRAILER CONTROL VALVE (329020331) Haldex 950329011

Fabricante: Haldex

Referencia: 950329011
w Descripcion: REPAIR KIT; FOR TRAILER CONTROL VALVE (329020331)

REPAIR KIT; FOR TRAILER CONTROL VALVE (329020311) Haldex 950329012

Fabricante: Haldex

Referencia: 950329012
w Descripcion: REPAIR KIT; FOR TRAILER CONTROL VALVE (329020311)




- DRAULICFREN

Haldex
REPAIR KIT; FOR TRAILER CONTROL VALVE (329020261/ ..401/ ..4 Haldex 950329013

Fabricante: Haldex
Referencia: 950329013

Descripcion: REPAIR KIT; FOR TRAILER CONTROL VALVE (329020261/
..401/ .4

REPAIR KIT; FOR TRAILER CONTROL VALVE (329020271) Haldex 950329016

Fabricante: Haldex
Referencia: 950329016
Descripciéon: REPAIR KIT; FOR TRAILER CONTROL VALVE (329020271)

REPAIR KIT; FOR TRAILER CONTROL VALVE (329020201/..241/..291 Haldex 950329017

Fabricante: Haldex
Referencia: 950329017

Descripcion: REPAIR KIT; FOR TRAILER CONTROL VALVE
(329020201/..241/..291

REPAIR KIT; FOR TRAILER CONTROL VALVE (329020281/..301/..321 Haldex 950329018

Fabricante: Haldex
Referencia: 950329018

Descripcion: REPAIR KIT; FOR TRAILER CONTROL VALVE
(329020281/..301/..321




- DRAULICFREN

Haldex
REAPIR KIT; FOR TRAILER CONTROL VALVE Haldex 950329030

Fabricante: Haldex
Referencia: 950329030
Descripcion: REAPIR KIT; FOR TRAILER CONTROL VALVE

REPAIR KIT; FOR TRAILER CONTROL VALVE Haldex 950329031

Fabricante: Haldex
Referencia: 950329031
Descripcion: REPAIR KIT; FOR TRAILER CONTROL VALVE

MAINTENANCE KIT; FOR COUPLIG HEAD PROTECT-O; 2X SCREW M4X16; Haldex 950334005

Fabricante: Haldex
Referencia: 950334005

Descripcion: MAINTENANCE KIT; FOR COUPLIG HEAD PROTECT-0O; 2X
SCREW M4X16;

FILTER; FOR COUPLING HEAD PROTECT-O Haldex 950334006

Fabricante: Haldex
Referencia: 950334006
Descripcion: FILTER; FOR COUPLING HEAD PROTECT-O




- DRAULICFREN

Haldex
RUBBER DIAPHRAGM; FOR COUPLING HEAD PROTECT-O Haldex 950334007

Fabricante: Haldex
Referencia: 950334007
Descripcién: RUBBER DIAPHRAGM; FOR COUPLING HEAD PROTECT-O

REPAIR KIT; FOR RAISE/LOWER VALVE Haldex 950338008

Fabricante: Haldex
Referencia: 950338008
Descripciéon: REPAIR KIT; FOR RAISE/LOWER VALVE

ASSEMBLY KIT; FOR COLAS® SOLENOID Haldex 950338023

Fabricante: Haldex
Referencia: 950338023
Descripcion: ASSEMBLY KIT; FOR COLAS® SOLENOID

HANDLE KIT; FOR COLAS® VALVE (NOT FOR COLAS+); C/W SPINDLE Haldex 950338027

Fabricante: Haldex
Referencia: 950338027

Descripcion: HANDLE KIT; FOR COLAS® VALVE (NOT FOR COLAS+); C/W
SPINDLE




- DRAULICFREN

Haldex
HANDLE KIT; FOR COLAS® VALVE; W/O SPINDLE Haldex 950338032

Fabricante: Haldex
Referencia: 950338032
Descripcién: HANDLE KIT; FOR COLAS® VALVE; W/O SPINDLE

REPAIR KIT; FOR PISTON CYLINDER (340005.../ 340007...) Haldex 950340002

Fabricante: Haldex

Referencia: 950340002
@ Descripcién: REPAIR KIT; FOR PISTON CYLINDER (340005.../ 340007...)

REPAIR KIT; FOR PISTON CYLINDER (340011...) Haldex 950340004

Fabricante: Haldex

Referencia: 950340004
w Descripciéon: REPAIR KIT; FOR PISTON CYLINDER (340011...)

REPAIR KIT; FOR PISTON CYLINDER (340029...) Haldex 950340006

Fabricante: Haldex

Referencia: 950340006
@ Descripcion: REPAIR KIT; FOR PISTON CYLINDER (340029...)




- DRAULICFREN

Haldex
REPAIR KIT; FOR SPRING BRAKE ACTUATOR, PULL TYPE (344016.../ Haldex 950344003

Fabricante: Haldex
Referencia: 950344003

Descripcion: REPAIR KIT; FOR SPRING BRAKE ACTUATOR, PULL TYPE
(344016.../

REPAIR KIT; FOR SPRING BRAKE ACTUATOR, PULL TYPE (344017.../ Haldex 950344004

Fabricante: Haldex
Referencia: 950344004

Descripcion: REPAIR KIT; FOR SPRING BRAKE ACTUATOR, PULL TYPE
(344017.../

REPAIR KIT; FOR SPRING BRAKE ACTUATOR, PULL TYPE (344008.../ Haldex 950344006

Fabricante: Haldex
Referencia: 950344006

Descripcién: REPAIR KIT; FOR SPRING BRAKE ACTUATOR, PULL TYPE
(344008.../

REPAIR KIT; FOR SPRING BRAKE ACTUATOR, PULL TYPE (344044...) Haldex 950344010

Fabricante: Haldex
Referencia: 950344010

Descripcion: REPAIR KIT; FOR SPRING BRAKE ACTUATOR, PULL TYPE
(344044...)




- DRAULICFREN

Haldex
REPAIR KIT; FOR RELAY EMERGENCY VALVE (351009...) Haldex 950351009

Fabricante: Haldex
Referencia: 950351009
Descripciéon: REPAIR KIT; FOR RELAY EMERGENCY VALVE (351009...)

REPAIR KIT Haldex 950352016

Fabricante: Haldex
Referencia: 950352016
Descripciéon: REPAIR KIT

REPAIR KIT; FOR SHUNT VALVE (TRCM/ TRCM+/ TEM) Haldex 950352022

Fabricante: Haldex
Referencia: 950352022
Descripcion: REPAIR KIT; FOR SHUNT VALVE (TRCM/ TRCM+/ TEM)

REPAIR KIT; FOR PARK VALVE (TRCM 3520671../2..) Haldex 950352023

Fabricante: Haldex
Referencia: 950352023
Descripcion: REPAIR KIT; FOR PARK VALVE (TRCM 3520671../2..)




- DRAULICFREN

Haldex
REPAIR KIT; FOR PARK VALVE (TEM 352075) Haldex 950352024

Fabricante: Haldex
Referencia: 950352024
Descripciéon: REPAIR KIT; FOR PARK VALVE (TEM 352075)

SOLENOID KIT; FOR ILAS®-E/ COLAS® Haldex 950352110

Fabricante: Haldex

Referencia: 950352110
@ Descripcién: SOLENOID KIT; FOR ILAS®-E/ COLAS®

SOLENOID KIT; FOR ILAS®-E; DIN BAYONETT, 2 PIN Haldex 950352111

Fabricante: Haldex

Referencia: 950352111
w Descripcién: SOLENOID KIT; FOR ILAS®-E; DIN BAYONETT, 2 PIN

REPAIR KIT; FOR RELAY VALVE (355018...) Haldex 950355004

Fabricante: Haldex

Referencia: 950355004
@ Descripcion: REPAIR KIT; FOR RELAY VALVE (355018...)




- DRAULICFREN

Haldex
REPAIR KIT; FOR RELAY VALVE (355024001) Haldex 950355013

Fabricante: Haldex
Referencia: 950355013
Descripciéon: REPAIR KIT; FOR RELAY VALVE (355024001)

KIT REPARACION; PARA VaLVULA DESCARGA RaPIDA (356001...) Haldex 950356003

Fabricante: Haldex
Referencia: 950356003

Descripcion: KIT REPARACION; PARA VALVULA DESCARGA R&PIDA
(356001...)

MANIFOLD KIT; ABS MODAL2M; C/W INPUT RESTRICTOR Haldex 950364075

Fabricante: Haldex
Referencia: 950364075
Descripcion: MANIFOLD KIT; ABS MODAL2M; C/W INPUT RESTRICTOR

ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL; CABLE LENGTH Haldex 950364076

Fabricante: Haldex
Referencia: 950364076

Descripcion: ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL;
CABLE LENGTH




- DRAULICFREN

Haldex
ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL; CABLE LENGTH Haldex 950364077

Fabricante: Haldex
Referencia: 950364077

Descripcion: ABS MODULATOR RELAY VALVE (MRV); FOR ABS MODAL;
CABLE LENGTH

ELECTRONIC CONTROL UNIT (ECU) ABS MODAL; NO. OF SENSORS: 2/4 Haldex 950364082

Fabricante: Haldex
Referencia: 950364082

Descripcion: ELECTRONIC CONTROL UNIT (ECU) ABS MODAL; NO. OF
SENSORS: 2/4

LOOM; FOR ECU CONNECTION; MODULAR 1 PLUS Haldex 950364418

Fabricante: Haldex
Referencia: 950364418
Descripciéon: LOOM; FOR ECU CONNECTION; MODULAR 1 PLUS

WHEEL SENSOR UNIT FOR ABS GX/DGX/MGX2+MGX2E; CABLE LENGTH (M Haldex 950364501

Fabricante: Haldex
Referencia: 950364501

Descripcion: WHEEL SENSOR UNIT FOR ABS GX/DGX/MGX2+MGXZ2E;
CABLE LENGTH (M




- DRAULICFREN

Haldex
SENSOR EXTENSION CABLE; 6; MODULAR Haldex 950364507

Fabricante: Haldex
Referencia: 950364507
Descripcién: SENSOR EXTENSION CABLE; 6; MODULAR

ELECTRONIC CONTROL UNIT (ECU) ABS MODULAR 1 PLUS; NO. OF SEN Haldex 950364802

Fabricante: Haldex
Referencia: 950364802

Descripcion: ELECTRONIC CONTROL UNIT (ECU) ABS MODULAR 1 PLUS;
NO. OF SEN

ELECTRONIC CONTROL UNIT (ECU) ABS MODULAR 2; NO. OF SENSORS: Haldex 950364803

Fabricante: Haldex
Referencia: 950364803

Descripcion: ELECTRONIC CONTROL UNIT (ECU) ABS MODULAR 2; NO.
OF SENSORS:

ELECTRONIC CONTROL UNIT (ECU) ABS MODULAR 2 ADR; NO. OF SENS Haldex 950364804

Fabricante: Haldex
Referencia: 950364804

Descripcion: ELECTRONIC CONTROL UNIT (ECU) ABS MODULAR 2 ADR;
NO. OF SENS




- DRAULICFREN

Haldex
ABS Haldex 950364827

Fabricante: Haldex
Referencia: 950364827
Descripcién: ABS

ABS Haldex 950364828

Fabricante: Haldex
Referencia: 950364828

Descripcién: ABS

ABS Haldex 950364829

Fabricante: Haldex
Referencia: 950364829
Descripcion: ABS

KIT REPARACION; PARA DISTRIBUIDOR ROTATIVO; 531040... Haldex 950531012

Fabricante: Haldex
Referencia: 950531012
Descripcion: KIT REPARACION; PARA DISTRIBUIDOR ROTATIVO; 531040...




- DRAULICFREN

Haldex
KIT REPARACION; PARA DISTRIBUIDOR ROTATIVO; 532044.../ 53204 Haldex 950532015

Fabricante: Haldex
Referencia: 950532015

Descripcion: KIT REPARACION; PARA DISTRIBUIDOR ROTATIVO; 532044.../
53204

KIT REPARACION; PARA DISTRIBUIDOR ROTATIVO; 532142/ 532148.. Haldex 950532039

Fabricante: Haldex
Referencia: 950532039

Descripcion: KIT REPARACION; PARA DISTRIBUIDOR ROTATIVO; 532142/
532148..

REPAIR KIT; FOR LOAD SENSING VALVE (MECHANICAL 1987+) Haldex 950601004

Fabricante: Haldex
Referencia: 950601004

Descripcion: REPAIR KIT; FOR LOAD SENSING VALVE (MECHANICAL
1987+)

REPAIR KIT; FOR LEVELLING VALVE Haldex 950612009

Fabricante: Haldex
Referencia: 950612009
Descripcion: REPAIR KIT; FOR LEVELLING VALVE




- DRAULICFREN

Haldex
REPAIR KIT; FOR SINGLE AIR DRIER SDX Haldex 950789900

Fabricante: Haldex
Referencia: 950789900
Descripcion: REPAIR KIT; FOR SINGLE AIR DRIER SDX

LIMITED STOCK; GEN1 SLAVE NOT STOPPED | ECU VOLTAGE (V) 24 Haldex 950800203

Fabricante: Haldex
Referencia: 950800203

Descripcion: LIMITED STOCK; GEN1 SLAVE NOT STOPPED | ECU
VOLTAGE (V) 24

EPRV; SOLENOID INTEGRATED; 24V; 2M Haldex 950800302

Fabricante: Haldex
Referencia: 950800302
Descripcion: EPRV; SOLENOID INTEGRATED; 24V; 2M

EPRV SLAVE; SOLENOID INTEGRATED; 24V; 1M Haldex 950800303

Fabricante: Haldex
Referencia: 950800303
Descripcion: EPRV SLAVE; SOLENOID INTEGRATED; 24V; 1M




- DRAULICFREN

Haldex
EPRV SLAVE; SOLENOID INTEGRATED; 24V; 1M Haldex 950800304

Fabricante: Haldex
Referencia: 950800304
Descripcion: EPRV SLAVE; SOLENOID INTEGRATED; 24V; 1M

MODULADOR EBS Haldex 950800305

Fabricante: Haldex

Referencia: 950800305
@ Descripcién: MODULADOR EBS

EPRV SLAVE; SOLENOID INTEGRATED; 24V; 1M Haldex 950800306

Fabricante: Haldex

Referencia: 950800306
w Descripcion: EPRV SLAVE; SOLENOID INTEGRATED; 24V; 1M

REPAIR KIT; FOR QUICK RELEASE VALVE Haldex 950800307

Fabricante: Haldex

Referencia: 950800307
@ Descripcion: REPAIR KIT; FOR QUICK RELEASE VALVE




- DRAULICFREN

Haldex
CABLE Haldex 950800486

Fabricante: Haldex
Referencia: 950800486
Descripcién: CABLE

DOUBLE CHECK VALVE; FOR EBS EB+ GEN 2/GEN 3 Haldex 950800905

Fabricante: Haldex

Referencia: 950800905
@ Descripcién: DOUBLE CHECK VALVE; FOR EBS EB+ GEN 2/GEN 3

PRESSURE TRANSDUCER KIT Haldex 950800907

Fabricante: Haldex

Referencia: 950800907
@ Descripcién: PRESSURE TRANSDUCER KIT

PC INTERFACE KIT; FOR DIAG+; PC TO EBS EB+ Haldex 950800909

Fabricante: Haldex

Referencia: 950800909
w Descripcion: PC INTERFACE KIT; FOR DIAG+; PC TO EBS EB+




- DRAULICFREN

Haldex
PC INTERFACE KIT; FOR FLEET+; PC TO EBS EB+ Haldex 950800910

Fabricante: Haldex
Referencia: 950800910
Descripciéon: PC INTERFACE KIT; FOR FLEET+; PC TO EBS EB+

DIAGNOSTICS CABLE KIT; FOR DIAGNOSTICS; EBS EB+ Haldex 950800912

Fabricante: Haldex

Referencia: 950800912
@ Descripciéon: DIAGNOSTICS CABLE KIT; FOR DIAGNOSTICS; EBS EB+

ADAPTOR KIT Haldex 950800913

Fabricante: Haldex

Referencia: 950800913
@ Descripcion: ADAPTOR KIT

GEN3 SLIDE LOCK JUNCTION BOX KIT Haldex 950800915

Fabricante: Haldex

Referencia: 950800915
@ Descripcion: GEN3 SLIDE LOCK JUNCTION BOX KIT




- DRAULICFREN

Haldex
EXTERNAL PRESSURE SENSOR KIT Haldex 950800917

Fabricante: Haldex
Referencia: 950800917
Descripcién: EXTERNAL PRESSURE SENSOR KIT

EB+ SYSTEM GENS3; TYPE: 3M Haldex 950823031

Fabricante: Haldex
Referencia: 950823031
Descripcion: EB+ SYSTEM GEN3; TYPE: 3M

EB+ SYSTEM GENS3; TYPE: 2M OR 3M; SENSOR: 2S OR 4S Haldex 950823034

Fabricante: Haldex
Referencia: 950823034
Descripcion: EB+ SYSTEM GEN3; TYPE: 2M OR 3M; SENSOR: 2S OR 4S

PULLING BRACKET Haldex 95210

Fabricante: Haldex
Referencia: 95210
Descripciéon: PULLING BRACKET




- DRAULICFREN

Haldex
SOCKET; TX 55 Haldex 95232

Fabricante: Haldex
Referencia: 95232
Descripcion: SOCKET; TX 55

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 95240

Fabricante: Haldex
Referencia: 95240

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 95243

Fabricante: Haldex
Referencia: 95243

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS

DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O ACCESS Haldex 95244

Fabricante: Haldex
Referencia: 95244

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 22; C/W CARRIER; W/O
ACCESS




- DRAULICFREN

Haldex
DISC BRAKE UNIT; MODULX (V6); DB 19; C/W CARRIER; W/O ACCESS Haldex 95371

Fabricante: Haldex
Referencia; 95371

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 19; C/W CARRIER; W/O
ACCESS

DISC BRAKE UNIT; MODULX (V6); DB 19; C/W CARRIER; W/O ACCESS Haldex 95388

Fabricante: Haldex
Referencia: 95388

Descripcion: DISC BRAKE UNIT; MODULX (V6); DB 19; C/W CARRIER; W/O
ACCESS

ADJUSTMENT SHAFT KIT; TYPE MODULT Haldex 95398

Fabricante: Haldex
Referencia: 95398
Descripcion: ADJUSTMENT SHAFT KIT; TYPE MODULT

DISC BRAKE UNIT; MODULT; DBT 22 LT; C/W CARRIER; C/W PADS; W Haldex 95446

Fabricante: Haldex
Referencia: 95446

Descripcion: DISC BRAKE UNIT; MODULT; DBT 22 LT; C/W CARRIER; C/W
PADS; W




- DRAULICFREN

Haldex

PAD WEAR INDICATOR KIT (PWI); CABLE (MM) 195 Haldex 95551

PINZA FRENO Haldex 95620C

Fabricante: Haldex
Referencia: 95551
Descripcion: PAD WEAR INDICATOR KIT (PWI); CABLE (MM) 195

PINZA FRENO Haldex 95621C

Fabricante: Haldex
Referencia: 95620C
Descripciéon: PINZA FRENO

Fabricante: Haldex
Referencia: 95621C
Descripcion: PINZA FRENO

DISC BRAKE UNIT; MODULT; DBT 19 LT; W/O CARRIER; C/W PADS; C Haldex 96304C

Fabricante: Haldex
Referencia: 96304C

Descripcion: DISC BRAKE UNIT; MODULT; DBT 19 LT; W/O CARRIER; C/W
PADS; C



- DRAULICFREN

Haldex
DISC BRAKE UNIT; MODULT; DBT 19 LT; W/O CARRIER; C/W PADS; C Haldex 96305C

Fabricante: Haldex
Referencia: 96305C

Descripcion: DISC BRAKE UNIT; MODULT; DBT 19 LT; W/O CARRIER; C/W
PADS; C

DISC BRAKE UNIT; MODULT; DBT 22 LT; C/W CARRIER; W/O ACCESSO Haldex 96545

Fabricante: Haldex
Referencia: 96545

Descripcion: DISC BRAKE UNIT; MODULT; DBT 22 LT; C/W CARRIER; W/O
ACCESSO

DISC BRAKE UNIT; MODULT; DBT 19 LT; C/W CARRIER; W/O ACCESSO Haldex 96547

Fabricante: Haldex
Referencia: 96547

Descripcion: DISC BRAKE UNIT; MODULT; DBT 19 LT; C/W CARRIER; W/O
ACCESSO

DISC BRAKE UNIT; MODULT; DBT 19 LT; C/W CARRIER; W/O ACCESSO Haldex 96548

Fabricante: Haldex
Referencia: 96548

Descripcion: DISC BRAKE UNIT; MODULT; DBT 19 LT; C/W CARRIER; W/O
ACCESSO




- DRAULICFREN

Haldex
ALU MANIFOLD; TUBE g 8MM; STRAIGHT: 8MM; CHECK POINT Haldex 980000000013

Fabricante: Haldex
Referencia: 980000000013

Descripcion: ALU MANIFOLD; TUBE g 8MM; STRAIGHT: 8MM; CHECK
POINT

MANIFOLD DUAL CIRCUIT 2 X 5 PORTS 9X FITTING 8X1, Haldex 980000000023

Fabricante: Haldex
Referencia: 980000000023
Descripcién: MANIFOLD DUAL CIRCUIT 2 X 5 PORTS 9X FITTING 8X1,

1ST AXLE LIFT VALVE Haldex 980000000LP1

Fabricante: Haldex
Referencia: 980000000LP1
Descripcion: 1ST AXLE LIFT VALVE

KIT Haldex 980351012

Fabricante: Haldex
Referencia: 980351012

Descripcion: KIT




- DRAULICFREN

Haldex
DISC BRAKE PAD; MODULT DBT22LT Haldex 98605

Fabricante: Haldex
Referencia: 98605
Descripcién: DISC BRAKE PAD; MODULT DBT22LT

AUTOMATIC BRAKE ADJUSTER AA1; CONTROL UNIT: 74880; NO. OF HO Haldex 99662C

Fabricante: Haldex
Referencia: 99662C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; CONTROL UNIT: 74880;
NO. OF HO

AUTOMATIC BRAKE ADJUSTER AA1; CONTROL UNIT: 74137; NO. OF HO Haldex 99663C

Fabricante: Haldex
Referencia: 99663C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; CONTROL UNIT: 74137,
NO. OF HO

AUTOMATIC BRAKE ADJUSTER AA1; CONTROL UNIT: 74137; NO. OF HO Haldex 99664C

Fabricante: Haldex
Referencia: 99664C

Descripcion: AUTOMATIC BRAKE ADJUSTER AA1; CONTROL UNIT: 74137;
NO. OF HO




- DRAULICFREN

Haldex
YOKE; FOR ARFESAN YOKE ASSY (9999300); 56 MM Haldex 9999299

Fabricante: Haldex
Referencia: 9999299
Descripcion: YOKE; FOR ARFESAN YOKE ASSY (9999300); 56 MM

RUBBER DUST PLUG; FOR T 2030, T 2430, 2024, 2424 (136..., 16 Haldex 9999303

Fabricante: Haldex
Referencia: 9999303

Descripcion: RUBBER DUST PLUG; FOR T 2030, T 2430, 2024, 2424 (136...,
16

ALCOHOL EVAPORATOR Haldex A72420

Fabricante: Haldex
Referencia: A72420
Descripcién: ALCOHOL EVAPORATOR

GRIP CABLE Haldex A902700

Fabricante: Haldex
Referencia: A902700
Descripcion: GRIP CABLE




- DRAULICFREN

Haldex
RETURN SPRING OUTER; FOR BRAKE CHAMBER (TYPE 20) Haldex AC17463

Fabricante: Haldex
Referencia: AC17463
Descripcion: RETURN SPRING OUTER; FOR BRAKE CHAMBER (TYPE 20)

CLIP SENSOR WIRE (IS A PACK OF 25X AL920809) Haldex AL92080925

Fabricante: Haldex

Referencia: AL92080925
@ Descripcion: CLIP SENSOR WIRE (IS A PACK OF 25X AL920809)

CLEVIS ASSY; ?14MM,; 5/8"-18 UNF; STANDARD THROAT Haldex CF2

Fabricante: Haldex

Referencia: CF2
@ Descripcion: CLEVIS ASSY; ?14MM; 5/8"-18 UNF; STANDARD THROAT

MANUAL BRAKE ADJUSTER Haldex CS44071

Fabricante: Haldex

Referencia: CS44071
@ Descripcion: MANUAL BRAKE ADJUSTER




- DRAULICFREN

Haldex
PUREST AIR DRYER Haldex DA34100

Fabricante: Haldex
Referencia: DA34100
Descripcion: PUREST AIR DRYER

PUREST AIR DRYER Haldex DA34160

Fabricante: Haldex

Referencia: DA34160
@ Descripcion: PUREST AIR DRYER

DIAPHRAGM; TYPE 12; SERVICE; STANDARD STROKE Haldex DP12

Fabricante: Haldex

Referencia: DP12
@ Descripcion: DIAPHRAGM; TYPE 12; SERVICE; STANDARD STROKE

AIR DRIER CARTRIDGE+REPAIR KIT; FOR AIR DRIER USA Haldex DQ6026

Fabricante: Haldex

Referencia: DQ6026
@ Descripcion: AIR DRIER CARTRIDGE+REPAIR KIT; FOR AIR DRIER USA




- DRAULICFREN

Haldex
DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR; GOLD SEA Haldex GC3036

Fabricante: Haldex
Referencia: GC3036

Descripcion: DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR; GOLD SEA

DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE ACTUATOR; GOLD SEA Haldex GC3636

Fabricante: Haldex
Referencia: GC3636

Descripcion: DRUM BRAKE: DOUBLE DIAPHRAGM SPRING BRAKE
ACTUATOR,; GOLD SEA

PALANCA DE FRENO AUTOMATICA S-ABA; CAJA; TIPO DENTADO: N42X1 Haldex H119830

Fabricante: Haldex
Referencia: H119830

Descripcion: PALANCA DE FRENO AUTOMATICA S-ABA; CAJA; TIPO
DENTADO: N42X1

PALANCA DE FRENO AUTOMATICA S-ABA; CAJA; TIPO DENTADO: N42X1 Haldex H119831

Fabricante: Haldex
Referencia: H119831

Descripcion: PALANCA DE FRENO AUTOMATICA S-ABA; CAJA; TIPO
DENTADO: N42X1




- DRAULICFREN

Haldex
KIT DE RETENEDORES DE PASTILLA; TIPO MODULT DBT22LT GENI (C/ Haldex H119992

Fabricante: Haldex
Referencia: H119992

Descripcion: KIT DE RETENEDORES DE PASTILLA; TIPO MODULT
DBT22LT GENI (C/

KIT DE RETENEDORES DE PASTILLA; TIPO MODULT DBT22LT DBT22LT Haldex H119993

Fabricante: Haldex
Referencia: H119993

Descripcion: KIT DE RETENEDORES DE PASTILLA; TIPO MODULT
DBT22LT DBT22LT

LEVER OPERATED ON-OFF VALVE; TWISTED CHROME LEVER; C/W EXHAU Haldex KN20001

Fabricante: Haldex
Referencia: KN20001

Descripcion: LEVER OPERATED ON-OFF VALVE; TWISTED CHROME
LEVER; C/W EXHAU

HAND OPERATED VALVE Haldex KN20611

Fabricante: Haldex
Referencia: KN20611
Descripcion: HAND OPERATED VALVE




- DRAULICFREN

Haldex
SERVICE BRAKE VALVE, SINGLE CIRCUIT; PEDAL: W/O (PLUNGER); U Haldex KN22100

Fabricante: Haldex
Referencia: KN22100

Descripcion: SERVICE BRAKE VALVE, SINGLE CIRCUIT; PEDAL: W/O
(PLUNGER); U

VALVULA FRENO SERVICIO, DOBLE CIRCUITO; PEDAL: SIN (REFUNDID Haldex KN22150

Fabricante: Haldex
Referencia: KN22150

Descripcion: VALVULA FRENO SERVICIO, DOBLE CIRCUITO; PEDAL: SIN
(REFUNDID

SERVICE BRAKE VALVE, DOUBLE CIRCUIT; PEDAL: @ 45 DEGREES; US Haldex KN22501

Fabricante: Haldex
Referencia: KN22501

Descripcion: SERVICE BRAKE VALVE, DOUBLE CIRCUIT; PEDAL: @ 45
DEGREES; US

DOUBLE CHECK VALVE (SHUTTLE PISTON); PORT 1: 3/8" FPT; PO Haldex KN25100

Fabricante: Haldex
Referencia: KN25100

Descripcion: DOUBLE CHECK VALVE (SHUTTLE PISTON); PORT 1: 3/8"
FPT; PO




- DRAULICFREN

Haldex
RELAY VALVE Haldex KN27000

Fabricante: Haldex
Referencia: KN27000
Descripcion: RELAY VALVE

RELAY VALVE Haldex KN28510

Fabricante: Haldex

Referencia: KN28510
@ Descripcion: RELAY VALVE

RELAY EMERGENCY VALVE (REV) Haldex KN30300

Fabricante: Haldex

Referencia: KN30300
w Descripcion: RELAY EMERGENCY VALVE (REV)

RELAY VALVE; PORT 1: 3/8" NPT; PORT 2: 1/2" NPT; PORT Haldex KN34110

Fabricante: Haldex

Referencia: KN34110
@ Descripcion: RELAY VALVE; PORT 1: 3/8" NPT; PORT 2: 1/2" NPT; PORT




- DRAULICFREN

Haldex
MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 28; NO Haldex KN44051

Fabricante: Haldex
Referencia: KN44051

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 28; NO

MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE TEETH: 28; NO Haldex KN44061

Fabricante: Haldex
Referencia: KN44061

Descripcion: MANUAL BRAKE ADJUSTER; STRAIGHT; NO. OF SPLINE
TEETH: 28; NO

MANUAL BRAKE ADJUSTER; OFFSET; NO. OF SPLINE TEETH: 10; NO. Haldex KN49010

Fabricante: Haldex
Referencia: KN49010

Descripcion: MANUAL BRAKE ADJUSTER; OFFSET; NO. OF SPLINE TEETH:
10; NO.

COMPRESSOR EL850 Haldex KNT86230

Fabricante: Haldex
Referencia: KNT86230
Descripcién: COMPRESSOR EL850




- DRAULICFREN

Haldex
MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159; STROKE (MM): Haldex KSM2475JCS45384

Fabricante: Haldex
Referencia: KSM2475JCS45384

Descripcion: MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159;
STROKE (MM):

MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159; STROKE (MM): Haldex KSM2475JCS47017

Fabricante: Haldex
Referencia: KSM2475JCS47017

Descripcion: MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159;
STROKE (MM):

MAXI BRAKE CYLINDER (KSMR) Haldex KSM3075JCS46093

Fabricante: Haldex
Referencia: KSM3075JCS46093
Descripcion: MAXI BRAKE CYLINDER (KSMR)

MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159; STROKE (MM): Haldex KSM3075JCS46110

Fabricante: Haldex
Referencia: KSM3075JCS46110

Descripcion: MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159;
STROKE (MM):




- DRAULICFREN

Haldex
MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159; STROKE (MM): Haldex KSMROPH50800NN

Fabricante: Haldex
Referencia;: KSMROPH50800NN

Descripcion: MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159;
STROKE (MM):

MAXI BRAKE CYLINDER (KSMR); (R-SERIES PUSH); STROKE (MM): 60 Haldex KSMR1PH50S50058

Fabricante: Haldex
Referencia: KSMR1PH50S50058

Descripcion: MAXI BRAKE CYLINDER (KSMR); (R-SERIES PUSH); STROKE
(MM): 60

MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159; STROKE (MM): Haldex
KSMR2PHS40362WN

Fabricante: Haldex
Referencia: KSMR2PHS40362WN

Descripcion: MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159;
STROKE (MM):

MAXI BRAKE CYLINDER (KSMR); (R-SERIES PULL); STROKE (MM): 66 Haldex
KSMR2PHS50800NN

Fabricante: Haldex
Referencia;: KSMR2PHS50800NN

Descripcion: MAXI BRAKE CYLINDER (KSMR); (R-SERIES PULL); STROKE
(MM): 66




- DRAULICFREN

Haldex
MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159; STROKE (MM): Haldex KSMR2PT50S45958

Fabricante: Haldex
Referencia;: KSMR2PT50S45958

Descripcion: MAXI BRAKE CYLINDER (KSMR); PISTON g (MM): 159;
STROKE (MM):

MAXI BRAKE CYLINDER (KSMR); (R-SERIES PUSH); PISTON g (MM): Haldex KSMR3PH50800NN

Fabricante: Haldex
Referencia: KSMR3PH50800NN

Descripcion: MAXI BRAKE CYLINDER (KSMR); (R-SERIES PUSH); PISTON g
(MM):

MAXI BRAKE CYLINDER (KSMR); (R-SERIES PULL); PISTON g (MM): Haldex KSMR3PH75800NN

Fabricante: Haldex
Referencia: KSMR3PH75800NN

Descripcion: MAXI BRAKE CYLINDER (KSMR); (R-SERIES PULL); PISTON g
(MM):

MAXI BRAKE CYLINDER (KSMR) Haldex KSMR3PH75S45927

Fabricante: Haldex
Referencia: KSMR3PH75545927
Descripcion: MAXI BRAKE CYLINDER (KSMR)




- DRAULICFREN

Haldex
MAXI BRAKE CYLINDER (KSMR); (R-SERIES PULL); PISTON g (MM): Haldex KSMR3PT75800NN

Fabricante: Haldex
Referencia;: KSMR3PT75800NN

Descripcion: MAXI BRAKE CYLINDER (KSMR); (R-SERIES PULL); PISTON g
(MM):

RING, FELT; FOR MAXI BRAKE (R SERIES) Haldex M4031173

Fabricante: Haldex
Referencia: M4031173
Descripcion: RING, FELT; FOR MAXI BRAKE (R SERIES)

MAXI BRAKE CYLINDER (KSMR); (R-SERIES); RPHS50 Haldex MA15607

Fabricante: Haldex
Referencia: MA15607
Descripcion: MAXI BRAKE CYLINDER (KSMR); (R-SERIES); RPHS50

COUPLING HEAD; UNIVERSAL; RED; EMERGENCY; W/O COVER; 1/2" Haldex N20415NB

Fabricante: Haldex
Referencia: N20415NB

Descripcion: COUPLING HEAD; UNIVERSAL; RED; EMERGENCY; W/O
COVER,; 1/2"




- DRAULICFREN

Haldex
COUPLING HEAD; UNIVERSAL; BLUE; SERVICE; W/O COVER; 1/2" Haldex N20415PB

Fabricante: Haldex
Referencia: N20415PB

Descripcion: COUPLING HEAD; UNIVERSAL; BLUE; SERVICE; W/O COVER,;
172"

RELAY EMERGENCY VALVE (REV); SINGLE CIRCUIT Haldex N4301AE

Fabricante: Haldex

Referencia: N4301AE
@ Descripcién: RELAY EMERGENCY VALVE (REV); SINGLE CIRCUIT

REPAIR KIT; FOR MAXI-BRAKE | AND R SERIES Haldex RN21AD

Fabricante: Haldex

Referencia: RN21AD
w Descripcion: REPAIR KIT; FOR MAXI-BRAKE | AND R SERIES

SERVICE KIT; FOR AIR DRIER USA; COMPLETE Haldex RN60A

Fabricante: Haldex

Referencia: RN60A
w Descripcion: SERVICE KIT; FOR AIR DRIER USA; COMPLETE




- DRAULICFREN

Haldex
LOWER COVER REPAIR KIT; FOR AIR DRIER USA; 24V Haldex RN60E

Fabricante: Haldex
Referencia: RN60OE
Descripcién: LOWER COVER REPAIR KIT; FOR AIR DRIER USA; 24V

BULK RECHARGE KIT; FOR AIR DRIER USA Haldex RN969

Fabricante: Haldex

Referencia: RN969
@ Descripcién: BULK RECHARGE KIT; FOR AIR DRIER USA

PURGE VALVE REPAIR KIT; FOR AIR DRIER USA Haldex RN970

Fabricante: Haldex

Referencia: RN970
w Descripcion: PURGE VALVE REPAIR KIT; FOR AIR DRIER USA

RECHARGE CANISTER KIT; FOR AIR DRIER USA Haldex RN973

Fabricante: Haldex

Referencia: RN973
@ Descripcion: RECHARGE CANISTER KIT; FOR AIR DRIER USA




- DRAULICFREN

Haldex
CONICAL SPRING Haldex RS5

Fabricante: Haldex
Referencia: RS5

Descripcién: CONICAL SPRING

RELEASE TOOL KIT Haldex RT1

Fabricante: Haldex
Referencia: RT1

Descripcion: RELEASE TOOL KIT

KIT PARA TUBERIA DE ACTUADORES 10MM Haldex SB10MM

Fabricante: Haldex
Referencia: SB10MM
Descripcion: KIT PARA TUBERIA DE ACTUADORES 10MM

12MM Haldex SB12MM

Fabricante: Haldex
Referencia: SB12MM

Descripcion: 12MM




- DRAULICFREN

Haldex
8MM Haldex SBSMM

Fabricante: Haldex
Referencia: SB8MM

Descripcién: 8MM

DRIVE GEAR ASSEMBLY Haldex SN3072BW

Fabricante: Haldex
Referencia: SN3072BW
Descripciéon: DRIVE GEAR ASSEMBLY




